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TE st oAt (5,246) 70.7 29.3

3002 Oj2t (2,433) 63.0 37.0

300~5002F4 O3t (2,117) 66.9 33.1

JIRAE | 500~7002kd 02t (1,196) 67.4 32.6

700~1,0008+4 0|2t (833) 71.5 28.5

1,0008+H 0]At (420) 67.2 32.8

250ls | TN =2 (5,763) 70.3 29.7

Helad | oA W2 (1,237) 47.2 52.8
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N

HRE =ML 24
01 T

23Ut U= 2 MR X =F

® 257} QI 2 M QIX| £#FORE BT # SUOH, LHBS 0{FR0| Of= HE'7}37.8%2 71 &1,
CHSORE ‘03] ¥ SUOLE LIRS 0FZ0| Ot HE(28.3%)', ‘012f ¥ SO LRE & U1 U
(23.5%) 52 O LIEtH,
- A GH@1.0%), BZH 15~19M(47.1%), S RYLI47.9%), B2 27 FF 0[5(46.3%), TiTASH

300-50021%! OIZHA0.2%)01M ‘IS ¥ SO0 LH2S OfZ0| Of=
| BSIAI(39.2%), Tl
BT 5A LR

- e o

I-b

[

BE(42.3%),

|73 3-1-2| 23t

XHE HM(45.9%)01M 3= H

O|= Lt

i QIX] 47

J=7H =4 HEE.

=ACH UES HEX0|

M =
(Base==2l7t QU= & QUKL n=4,634, H2l : %)
37.8
283
235
105
o = 1 SUCH 0f2] #H S 042 g SACH of = B S
LgS ZX0 LHES 03RO LEE & &0 UTE Lg2 2EH
Ot= J=0|tt Ot= F=0Itt
H 3-1-3] 2P} U= € MR x| &
(Base==2l7t QU= & QXKL HR| 1 %)

e

&)

| (4,634) 37.8 283 235 10.5

J (2,135) 41.0 28.2 19.6 11.2
°= oy (2,499) 35.0 28.4 26.8 9.8
15~19A| (214) 471 18.9 13.6 20.4

20CH (950) 29.2 35.1 26.9 8.8

oriry 30tH (864) 33.0 30.4 27.1 9.5
=< 40LH (895) 40.2 27.2 22.3 10.3
50CH (907) 41.6 24.2 22.1 12.1

60CH OfAf (804) 43.6 26.3 20.8 9.3
S0|EZE | (2,241) 34.4 31.2 26.2 8.2
g2z (349) 44.7 24.6 15.2 15.4
HMojz=e (671) 421 24.0 225 11.4

R | K (306) 47.9 20.6 18.1 13.4
B (486) 37.6 31.1 19.1 12.2

2x| (340) 35.5 26.0 26.3 12.2

7|Ef (242) 38.4 25.7 23.6 12.2
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20224 22pt U= 2 AKX ZAL

H 3-1-4] 2P} = € MR x| &

(Base=281} QU= ' QXKL T : %)

LHES HZX0|

40

= 7=k=

| (4,634) 378 28.3 235 10.5

- Eg/ZolA| (2,087) 36.1 28.9 25.3 9.8
B

HIZYA (2,547) 39.2 27.8 21.9 11.0

N (2,415) 35.7 29.5 25.8 9.1

=X (494) 37.8 27.6 21.8 12.7

Y | gaE (1,130) 423 25.9 20.2 11.7

Hetd (413) 37.8 28.5 21.8 11.9

Ze/MEa (183) 37.7 28.8 21.2 12.4

Mg (930) 34.2 285 28.5 8.8

Bt (293) 421 25.3 22.8 9.8

Ch+ (216) 40.7 25.8 22.6 11.0

OIX (273) 35.8 29.0 25.3 9.8

=S (127) 32.5 35.6 19.7 12.1

CHH (130) 28.4 37.8 23.0 10.8

4t (119) 39.9 28.6 20.4 11.1

ITES (33) 35.7 27.4 24.5 12.4

INE: IV (1,212) 36.8 30.3 23.8 9.0

AL (125) 33.9 30.3 22.6 13.2

== (142) 394 25.4 20.0 15.2

= (188) 435 22.3 21.9 12.3

N (145) 40.5 26.0 24.0 95

M (142) 39.7 24.9 21.4 14.0

a8 (232) 43.9 24.7 17.9 13.6

a4 (270) 43.4 26.5 17.2 12.9

s (58) 45.9 25.5 18.1 10.6

sy | B2 Ol5t (82) 46.3 18.4 12.0 23.4

O DSE xiEhEY (842) 446 23.5 15.2 16.8

TE st oAt (3,711) 36.1 29.6 25.6 8.8

3008+ Ojgt (1,533) 35.9 27.6 22.1 14.4

300~500%+ Ojgt (1,416) 40.2 30.4 20.4 9.0

J}TEAE | 500~7008H O]9t (806) 39.4 27.0 25.6 8.1

700~1,0002+ O]t (596) 37.5 27.7 26.3 8.5

1,0000t84 OJAt (283) 32.4 26.2 33.9 75

2als | 2 =8 (4,051) 37.0 28.6 25.1 9.3

el | B 9E (584) 43.3 26.0 12.0 18.7




HiB% ZAHZu 24
01

. ZE2PE U= E X Z=
® 25t Q= 2 QK| BRE FH AMHES S 71 30.6%= 7t =11, Uglzs =2 HrE Sl
(19 5%)’, 'SNSZ S3H(11.5%) 59| 202 LIEt
® 014(33.0%), A 20CH(35.3%), XUY M(36.7%), 2 +EE FZ 06H41.2%), TIPAsY
300-5008124 DIGIT 29001 54 ARIE S171 51 gt

- HEHYE EY/EYAN(31.6%), HAH

of
’] S

Al
SYHEGB17%), XNAE SHGA.4%)0IM FH AFS S 7t =2 LEH

|72 3-1-3] 2aPt U= d X E=

X 7|ER Ati2rst (Base==8l7t QU= & QUXIK}, n=4,634, T2 : %)
30.6
195
1.5 10.6 105 36
I ' 40 32
H B B B . .
FHARE 92 HX-E  SNSE HEANRIE ==t PSEVONE e o] =212l
Soff Soff Soff s S U=d  BHEA=RE s Sdi ARLEE
oS Soff Soff Solf
[ 3-1-5] 2P U= o QK| 42
(Base=Ealt U= & QUKL R - %)

o/

N
T (4634) 306 195 115 106 105 86 40 32 15
Ny | 59 (2135 279 231 112 117 79 99 42 28 13
°= oM (2,499) | 330 164 | 1.7 97| 127 75, 38 36 1.7
15~194 (214)| 349 78| 213 54 90 81 74 15| 44
20rH (950) | 353 | 94 190 73| 134 64 50 22 20
orzgry | SO (864) | 289 | 139 116 106 131 100 53 56 1.1
=< | 4otk (895) | 29.0 | 20.1 86| 132 98 97 28 47, 20
50CH (907) | 300 254 83 123 | 9.1 77 39 25| 09
60LH OJAf (804) | 284 | 33.1 65 112, 69 97 20 13, 09
30[EZ2 | (2,241) 294 191 109 113| 116, 90 38 37| 12
=22} (349) 262 | 234 1.0 145 79 117 39 11 0.3
HAFE (671) | 365 203 76 107 96 72 44 30 16
Y| MEY (306)  278| 268 118 115 64 85 25 38 08
SHAl (486) | 367 80 216 60 98 54 69 23 34
2x (340) | 298| 233 118 93 123 63 35 36 03
7|Et (242) | 275 | 241 65 85 94 142 22 29| 47

41



20224 22pt U= 2 AKX ZAL

(Base=E28Pt = ' QXKL TP : %)

AR

(&)

TR (4634) 306 195 115 106 105 86 40 32 15
- S /TolA| (2,087) 316 186 124 100 116 73 39 31| 15
T HEYA (2,547) 299 | 202 107 | 111 95| 96 42| 33| 16
A (2,415 | 31.3 | 182 | 11.7 | 106 | 11.0 | 7.4 44 37| 1.7
=XH (494) | 31.7 | 21.0 105 95 107 106 28 24| 09
e ANE (1,130) 1 30.3 | 209 114 110 95| 91 40 23| 15
el (413) | 284 217 112 108|103 101 33 33 09
Le/HEH (183) | 26.3 1 188 113 | 11.8| 87 122 48 38| 2.1
M2 (930) | 32.7 | 166 129 | 101|132 | 57 32 40 16
SA (293) | 32.8 | 186 146 112 80 81 36| 15| 16
= (216) | 335 182 83 108 125 82| 53 28| 04
oI (273) | 271 213 133 | 96106 78 59 32 13
=S (127) | 315 212 109 6.7 109 89| 40 49| 1.0
kS| (130) | 31.4 | 204 109 120 108 98 24 05| 18
24t (119) | 265 | 234 119 76109 107 37 22| 32
MNIE (33) 266 207 111 731161 113 08 50 6 1.2
x| A (1,212) | 31.1 | 186 105 111 | 94 86| 49 37| 20
e (125) | 26,5 201 11.8 | 11.4| 94 101 43 46 19
== (142) | 295 | 229 105 72 85 132 37| 39| 07
=4 (188) | 34.4 | 202 100 98 113 91| 27 21| 04
e (145) | 26,5 | 223  11.0 | 127|107 | 108 21 3.1 09
g (142) | 27.7 1 215 115 124 95105 39 21| 1.0
PeC] (232) | 29.0 | 242 95 125 85 100 29 26| 08
A (2700 | 27.9 215 120 112 89| 96 44 25 19
HE (58) | 26.1 162 | 102 127 | 73 167 60| 22| 26
sy | B2 Ol 82 | 412118217 95| 44 32 54| 14| 15
T | DssM xsl/EY (842) | 338 | 225 124 89 67 76 44 19| 1.9
TE st oAt (3,711 | 29.7 1 19.0  11.0 110 114 90 39| 35| 15
3002k O|gt (1533) | 31.0 | 17.8 1 140 | 104 98| 79 44 27| 20
300~500%tg D8t (1,416) 312 204 96 109 105 82 41 38| 14
JIFAS | 500~7002H OJgt (806) | 306 | 219 96 117 96 82 40 28| 15
700~1,0002+94 0|2t (596) | 29.0 | 214 91 101,109 112 34 35 12
1.0000H OJAt (283) | 29.2 | 129 170 83 153 101 32 | 38| 0.1
250 | B =2 (4,051) 1 30.1 | 19.1 1 117 | 11.0 108 89 40 27| 15
TASE | B Y2 (584) | 341 218 97 77 78 63 43 66| 16
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HRE =AY 24

° [

01E Hx|
Pt U= & 2A2i(0]0X])
(12:9)) 2517} Q= & QIA(0[D|X))= “25HEQI0] 59.6%2 71K 511, (IS ORE ‘UM & 25 B
Si0 AN ARY(18.2%)', ‘231 HE HO| 7|32 MBS AR(13.0%) 52| 202 LIEr,
- g of ( 8%), S 20TH(72.6%), K (74, 9%) B2 4FE St 0X(60.2%), 71TASH
3002t24 DI2H63.3%)00 “2EFEIRI0] A LI
- JEEE SH/FON(59.9%), HAlE SEA63.0%), XA ME(E9.4%)00M ‘SEEI0] EH LiEH,
(1+22 )—Eé Qe & Q100K 28t °+°_I’0|71.4%§ VY E1, LIZ0RE ‘YN 4 251 85
SO Y AIR(46.3%), ‘22t ZE F0 7|25 MEok= AlY(41.8%) 9 2= UEfE.
- A OR(71.8%), M 200H(80.5%), Ml i (80 9%), 12 AEY UHSH OM(72.2%), 7IPASH
3008t DIBH74.4%)00M "SI0 EH| LiEkd
- JEEE SH/PAN(T1.6%), HE SERT5.0%), XY ME(78.7%)0M "2EEI0] EH LiEK,
2 21A(0]ax)
Q= g QIKIRY n=4,634, T2l %)

|12 3-1-4] 2P} U=

(Base=23P} U=

X S TIRI AbEfel
714 m1e2 1+222]
59.6 163
418
19.8
182 130 50 53 6.2
. : 12 1.1
|| —
SSERl  QN4EHE Bogs HO  CRE SN 2 Rjei=st
é i @ 7|2lE MEotk= =ol0iiE =il AMEHA|
N SHE A =d XA
Al

AA 3
it Ale)



2022'4 E=Pt U= 2 2K AL

=

|2 3-1-7] 22Pt 2= g QXOI0IX) 129 ©

(Base==8l7t QU= & QXKL TRl 1 %)

et

PSEIES
TR (4,634) 59.6 18.2 13.0 6.0
e | HE (2,135) 59.3 17.6 13.4 5.5
°= | oy (2,499) 59.8 18.7 12.6 6.5
15~194] (214) 71.9 7.2 12.7 3.1
20CH (950) 72.6 8.9 10.6 5.0
- 30CH (864) 63.5 16.3 13.1 3.2
== 4004 (895) 56.1 20.3 14.6 5.4
50CH (907) 52.8 23.5 12.2 9.4
60CH OfAf (804) 48.2 25.7 14.7 7.8
310|EZ2} (2,241) 59.4 19.4 11.8 6.4
=223t (349) 56.6 16.1 14.6 7.0
HMAF= 671) 54.3 20.5 14.8 7.3
ESJos NG o (306) 54.7 20.0 16.3 6.6
= (486) 74.9 8.6 9.3 3.7
2% (340) 61.3 15.5 15.7 2.5
7|Et (242) 52.8 23.8 15.5 5.9
4z E9 /oA (2,087) 59.9 17.5 13.7 6.0
5 Hjman| (2,547) 59.3 18.7 12.4 6.0
A (2,415) 63.0 17.7 11.0 5.5
=33 (494) 58.0 17.3 15.2 6.3
Y | AMH (1,130) 54.4 19.7 16.0 6.4
FetH (413) 59.4 16.1 13.5 5.9
U /HEH (183) 50.1 22.3 13.1 9.0
e (930) 62.7 16.8 11.9 5.7
A (293) 55.8 19.3 16.7 6.0
Tl (216) 61.8 11.8 14.4 8.8
OIX (273) 62.5 16.9 13.6 45
oz (127) 60.5 15.5 13.3 6.2
CH (130) 51.3 22.1 17.1 6.5
St (119) 48.2 27.4 15.7 7.0
NES (33) 69.4 13.7 11.5 2.1
X | 2 (1,212) 63.5 18.5 9.8 5.7
U (125) 48.4 23.4 12.3 10.6
1] (142) 59.1 17.0 14.4 6.8
orl (188) 59.9 14.7 15.1 6.5
M (145) 59.7 14.7 12.0 7.2
M (142) 58.1 18.0 15.2 4.4
ze (232) 53.1 19.1 17.2 4.8
A (270) 50.9 23.7 15.5 6.1
HZE (58) 53.7 19.9 15.0 5.7
siey | BZ 0I5 (82) 57.1 11.3 17.8 5.0
T DssM ael/EY (842) 56.9 15.5 15.0 8.2
TE st oAt (3,711) 60.2 18.9 12.4 5.5
3002 02t (1,533) 63.3 14.5 13.3 5.3
= 300~5002t94 02t (1,416) 56.5 20.5 13.4 6.5
(L | 500~7002¢s 0|2t (806) 58.7 18.2 14.3 6.2
| 700~1,0002t% 0|2t (596) 56.8 21.8 10.9 6.7
71,0002+ OfAf (283) 62.9 18.7 9.6 5.1
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H3E ZAHEAL 24

01& Hx|

|2 3-1-8] 22P} 2= & QAOI0IX) 129 @

(Base==8l7t QU= & QXKL TRl 1 %)

H= 2K ==t
Oss HEZY|

TR (4,634) 1.2 1.1 0.9 0.0

e | HE (2,135) 1.4 1.6 1.2 0.0
°= | oy (2,499) 1.1 0.7 0.6 0.0
15~194] (214) 2.3 14 1.3 0.0

20CH (950) 1.0 0.8 1.1 0.0

oty 30CH (864) 1.1 1.1 1.6 0.0
40ty (895) 15 1.3 0.7 0.1

50CH (907) 1.1 0.8 0.3 0.0

60CH OfAf (804) 1.2 1.7 0.7 0.0
310|EZ2} (2,241) 1.1 1.2 0.6 0.0
=522t (349) 1.4 3.0 1.3 0.0
HMAF= 671) 14 0.5 1.2 0.0

ESJos NG o (306) 0.5 1.1 0.9 0.0
= (486) 1.6 1.1 0.7 0.0

2% (340) 2.0 0.9 1.9 0.0

7|Et (242) 0.8 0.2 0.7 0.3
e Ed/ZoA| (2,087) 1.2 0.8 0.8 0.0
5 Hjman| (2,547) 1.3 14 0.9 0.0
A (2,415) 1.2 0.6 0.8 0.0
=33 (494) 1.6 0.9 0.8 0.0

Y | AMH (1,130) 0.9 15 1.1 0.0
FetH (413) 1.9 2.5 0.8 0.0
Ue/HFH (183) 1.2 3.2 0.6 0.4

e (930) 15 0.4 1.1 0.0

A (293) 0.3 1.3 0.6 0.0

Tl (216) 1.3 0.6 1.2 0.0

OIX (273) 0.7 1.6 0.3 0.0

oz (127) 1.8 1.8 0.9 0.0

CH (130) 2.5 0.5 0.0 0.0

St (119) 0.0 0.9 0.8 0.0

NES (33) 1.2 1.1 1.0 0.0

X | 2 (1,212) 1.2 0.6 0.8 0.0
U (125) 15 3.2 0.0 0.6

1] (142) 1.5 0.8 0.4 0.0

=4 (188) 1.0 1.3 15 0.0

M (145) 2.2 3.8 0.4 0.0

M (142) 15 1.7 1.1 0.0

ze (232) 1.4 3.0 15 0.0

A (270) 1.0 1.3 14 0.0

HZE (58) 0.7 3.3 1.8 0.0

s | B2 0I5 (82) 2.9 4.4 1.6 0.0
T DssM ael/EY (842) 1.7 14 1.2 0.0
TE st oAt (3,711) 1.1 1.0 0.8 0.0
3002 02t (1,533) 1.3 1.1 1.2 0.0

= 300~5002t94 02t (1,416) 1.2 1.3 0.5 0.0
"L | 500~7002¢ D|2t (806) 0.9 1.1 0.6 0.0
| 700~1,0002t% 0|2t (596) 1.3 1.0 14 0.0
1,000 OfAt (283) 1.8 1.0 0.9 0.0
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2022'4 E=Pt U= 2 2K AL

|2 3-1-0] 28} U= & QOIIR) 14249 @

(Base=E28Pt QU= ' QXKL TP : %)

et

MH|A
| (4,634) 71.4 46.3 418 19.8
e | EY (2,135) 70.8 46.2 39.7 19.0
°= | oy (2,499) 71.8 46.3 43.6 20.5
15~19A| (214) 79.5 25.9 42.7 18.0
20CH (950) 80.5 39.3 44.6 17.1
oriry 30CH (864) 76.2 43.8 42.3 15.7
== a0ty (895) 70.9 51.4 40.5 18.7
50CH (907) 64.5 52.7 38.4 23.7
60CH 04t (804) 61.5 49.5 43.0 24.8
310|EZtEt (2,241) 72.2 48.8 40.9 19.7
s271gt (349) 68.4 41.2 43.2 20.2
HMAF= 671) 66.9 45.7 43.7 22.7
x| XY (306) 64.9 49.7 37.9 24.6
SHAY (486) 80.9 38.6 42.7 14.1
2| (340) 72.3 40.7 43.2 18.8
7|E} (242) 68.3 50.4 44.5 18.7
74 E9 /oA (2,087) 71.6 471 42.2 19.7
E | HmaA| (2,547) 71.2 45.6 4.4 19.9
A (2,415) 75.0 46.7 40.3 18.5
EX3H (494) 69.9 45.0 43.6 20.8
Y | BNH (1,130) 65.5 47.3 43.2 22.4
et (413) 70.7 421 43.7 19.3
Ue/HFH (183) 64.8 47.5 44.7 19.5
NE (930) 76.2 49.1 39.8 16.4
A (293) 65.2 47.7 47.8 22.2
k=] (216) 715 43.2 415 21.9
oIM (273) 71.3 40.9 44.0 22.4
Zzx (127) 71.8 45.9 4.7 18.6
bS] (130) 65.8 50.2 43.4 23.1
SA (119) 57.9 48.5 43.9 26.2
NES (33) 78.7 45.9 39.8 9.4
X | A (1,212) 75.0 46.1 39.7 19.2
PALC (125) 64.3 46.0 43.4 21.1
=2 (142) 68.1 441 45.8 22.0
=4 (188) 725 41.8 42.7 20.4
e (145) 70.7 40.6 42.8 22.3
e (142) 69.6 40.4 46.3 17.0
ze (232) 67.7 51.4 37.2 21.9
A (270) 62.4 45.9 44.3 21.8
N[ES (58) 65.8 50.7 47.7 16.1
siey | BZ 0I5 (82) 66.6 29.8 35.1 25.8
O ISsM xfel/EY (842) 68.1 35.5 43.1 26.1
TE st oAt (3,711) 72.2 49.1 41.6 18.3
300%r Ojgt (1,533) 74.4 41.1 43.9 18.4
= 300~5002+4 02t (1,416) 68.7 48.4 41.1 21.1
= | b00~7002r D2t (806) 69.6 50.5 39.7 214
| 700~1,0002t% 0|2t (596) 725 495 413 18.5
1,000%H OfA (283) 71.1 44.5 41.3 19.4
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H3E ZAHEAL 24

01& Hx|

|Z 3-1-10] 2Pt U= 2AOOX) 1+222 @

(Base==8l7t QU= & QXKL TRl : %)

H= 2K ==t
Oss HEZY|

st AKH
TR (4,634) 6.2 5.3 42 0.2
|2 (2,135) 7.5 6.4 4.5 0.2
c= oM (2,499) 5.0 4.4 3.9 0.2
15~194] (214) 3.9 9.9 8.5 0.0
20CH (950) 3.1 5.5 5.1 0.3
oty 30CH (864) 5.7 6.8 7.2 0.3
40ty (895) 5.4 4.9 2.8 0.5
50CH (907) 8.2 4.1 35 0.0
60CH OfAf (804) 9.4 4.3 1.2 0.0
310|EZ2} (2,241) 6.0 5.0 3.8 0.2
=223t (349) 8.4 8.2 3.4 0.0
bl 671) 6.6 4.3 4.0 0.5
Y| XY (306) 9.5 3.7 3.0 0.0
= (486) 2.6 6.8 5.4 0.0
2% (340) 6.7 7.6 6.5 0.2
7|Et (242) 5.3 3.8 5.6 0.3
Sy St /IOl (2,087) 5.4 5.1 3.9 0.2
= | HIZYA| (2,547) 6.8 5.5 4.5 0.2
A (2,415) 5.2 5.3 4.3 0.3
=33 (494) 6.3 5.6 4.6 0.1
Y | AMNH (1,130) 6.6 5.1 3.9 0.1
FetH (413) 8.0 6.3 4.2 0.0
Le/HE (183) 11.2 4.6 3.1 0.4
e (930) 4.3 4.9 4.5 0.4
A (293) 4.1 39 2.7 0.0
T (216) 5.4 7.1 3.7 0.0
OIX (273) 8.8 5.2 3.4 0.0
oz (127) 7.8 4.6 2.9 0.0
CH (130) 4.5 7.1 2.0 0.5
St (119) 7.7 4.7 5.8 0.0
MIE (33) 8.2 6.5 5.8 0.0
X | 2 (1,212) 5.1 5.6 4.4 0.3
U (125) 1.7 5.0 3.1 0.6
1] (142) 5.7 6.4 4.3 0.0
=it (188) 7.7 3.9 6.4 0.0
M= (145) 7.4 7.4 3.2 0.0
M (142) 8.7 6.6 6.5 0.0
ze (232) 8.3 39 35 0.3
A (270) 8.3 6.1 4.9 0.3
HZE (58) 10.3 3.8 3.2 0.0
e | B2 Ol (82) 7.4 14.6 7.7 0.0
T DssM ael/EY (842) 7.1 6.9 5.0 0.2
TE st oAt (3,711) 5.9 4.8 3.9 0.2
3002k O]t (1,533) 5.4 6.3 5.2 0.1
= 300~5002+gd D2t (1,416) 7.0 6.0 35 0.2
"L | 500~7002¢ D|2t (806) 6.1 4.1 3.4 0.2
| 700~1,0002t% 0|2t (596) 5.9 3.2 3.3 0.4
1,000 OfAt (283) 7.0 5.2 6.3 0.7

47



2022'4 E=Pt U= 2 2K AL

2 HUZEY0| AL = S 60.5%= HHZRHO| GITt (39.5%) 2Lt =2 LIEHE
2

OEH(71.3%, Elﬂte” SH(65.9%), = +ZE st 014(61. 3%) JASE
67.8 4go] U t
H/EYA (62 9%) HAEH S HE(61.6%), XGE ME(67.1%)01M FHHZEE0| Actet= SO

[Z1E 3-1-5] 2apt e o Hoig

(Base=23l7t QU= & QUXIK}, n=4,634, T2 : %)

W Eo{ m OpEo]

56.7
433
Yo 8 e 48 e 108 17d 184 194 204 214 224

(=903) (n=1,441) (=1,445 (=1,499) (n=3445) (n=3,694) (n=3,139) (n=3,233) (n=4,634)

E3-1-11] 23t Us & HoE

(Base=2&Pt QU= 'E QAR HRl %)

| (4,634) 60.5 395

s | 2N (2.135) 59.1 40.9
SE 0§ (2499) 617 38.3
15~194] (214) 624 376

o o) A %87

A o (895) 544 156
501 (907) 56.6 434

60LH O[AF | (804) 56.8 432
Sj0[EZE | (2.241) 62.7 373
=715} (349) 56.5 435
HoiEe (671) 57.0 43.0

XY | XY (306) 5177 483
Bis (286) 85.9 347

o] (340) 611 389

7|t (242) 541 259
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H3% ZARAD 24

01& Hx|

7 3-1-12] 2Pt 9= U zoig
(Base=28Pt Q= ' QXKL TP : %)

A

(&)

| (4,634) 60.5 39.5

- E /oA (2,087) 62.9 37.1
AEST

HIZSA| (2,547) 58.5 415

S (2,415) 61.6 38.4

=30 (494) 58.0 42.0

A 44 (1,130) 59.1 40.9

Pl (413) 61.5 38.5

2R /M= (183) 58.4 41.6

M2 (930) 65.1 34.9

St (293) 64.9 35.1

Ch (216) 62.8 37.2

kS| (273) 59.5 40.5

ES (127) 58.5 41.5

Ch (130) 55.6 44.4

24 (119) 60.4 39.6

MB (33) 57.3 42.7

XS 47| (1,212) 59.4 40.6

4d (125) 56.2 43.8

S5 (142) 60.8 39.2

Ex=] (188) 57.7 42.3

e (145) 67.1 32.9

e (142) 58.4 41.6

4= (232) 56.1 43.9

g (270) 51.9 481

IS[ES (58) 63.3 36.7

- == 0J5} (82) 55.5 44.5

| IS XisHEY (842) 57.3 42.7

TE st oAt (3,711) 61.3 38.7

3002H Ojgt (1,533) 60.7 39.3

300~5002H 0|2t (1,416) 59.2 40.8

JI7AS | 500~7002H 0|2t (806) 59.3 40.7

700~1,0002+% 0|2t (596) 61.1 38.9

1,0008+H 0]At (283) 67.8 32.2

250 | B =S (4,051) 63.6 36.4

HeleE | 2N 2 (584) 39.0 61.0
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2022'4 E=Pt U= 2 2K AL

50

O=
'IT‘g

2Pt Qe 2 ooz
[ ]

(=]
Lt
[=]

=
s N
M SA B (22.4%), TAl 2 X MSJAF F0I(22.2%) S &L= LHE

=]
0022 0[&(81.4%)01M "F2kH0IM Fat BF'0] = LEr.
- HEEE EH/ZYN(77.1%), EHE STH(76.4%), X

|72 3-1-6] B3P} U= ¢ HomR I QY
(o)

~
m
&
o
iy
@
Q
wn
|
;
o
3
£0
fir
i
xe)

ﬁ
M
s
O
0

oln
=
o
0;21:
>
k=)

Xlefo] OfsTipt F2of= SafmaT
HR0FY, Wi 27| AEX 2

RoRoR PRO

ST o
Sap} QU L HIHR T2 2Ry

|E 3-1-13| 28D} = & HOEEIY QY O

(Base=22aPt U=

siEHiE S1=M| 7 S

of Bl & H\S OF2| A}
RS 1|

[u

- M 015(76.3%), NI 200H(85.0%), XY Dx(82.8%), 3t £FY [fsti 0
0 =1

130N

et oY

= 2 FOI20Y RYC2E= "FSRAU|A ot HE 0] 75.4%2 71 F4l, U222 'STY
= t

A 2LH(78.6%)01M “HRRHOIM St B 0| =2 LEHE.

KR & FOIAL, n=2,803, T @ %)

= QXA B HOXE Bl %)
S
e 2+

24 HE

(2.803) 75.4 224 15.7 13.6 13.6

A (1,261) 74.3 21.1 18.2 13.8 12.5
c= (1,541) 76.3 23.4 13.6 13.4 14.5
G 4s A (. T

oty (534) 79.5 23.0 11.7 10.9 15.3
=e (487) 68.4 21.8 12.3 3.2 17.5
Boy @ BL 3 A
SI0|EZ2t | (1,406) 77.8 23.6 13.0 13.5 12.9
=22t (197) 72.4 22.2 215 21.9 13.4 13.8
Moz (382) 67.7 22.8 222 15.8 13.5 17.7

e Les P e (o (158) 66.9 29.4 31.0 22.0 19.3 20.1
SHAH (321) 79.7 20.3 20.0 21.7 10.1 11.2

2 (208) 82.8 12.4 18.5 9.3 9.7 8.8

7|E} (131) 64.4 21.3 22.8 22.4 23.0 14.7




H3E ZAHEAL 24

01& Hx|

r

H 3-1-14| 8Pt U=

' HOIDRDY B @

(Base=2bt QU= ' QXK 5 FOKKY, 9l : %)

Il

iSO st
N B3 = SFEA| 22
2 A
o =
TR (2,803) 75.4 22.4 22.2 15.7 13.6 13.6
o S /TolA| (1,312) 77.1 24.4 22.7 16.2 12.7 12.9
T HEYA (1,491) 73.9 20.6 21.8 15.2 14.4 14.2
A (1,487) 76.4 23.8 22.9 13.5 17.1 12.8
=XH (286) 73.0 215 21.2 16.3 10.2 14.3
e ANE (668) 75.3 19.9 215 19.1 9.0 12.8
et (254) 74.3 22.3 20.9 17.6 9.3 16.7
Le/HEH (107) 70.4 21.1 23.2 18.3 12.7 19.9
e (606) 78.1 27.6 235 13.0 17.5 11.0
SA (190) 78.6 17.8 19.2 20.3 9.5 16.2
= (136) 76.9 22.4 22.2 17.9 7.0 12.7
oI (163) 72.1 25.2 26.0 17.6 13.9 17.7
=S (74) 77.7 24.0 22.7 18.6 6.0 11.8
CH (72) 77.7 18.5 21.8 13.4 3.6 7.7
St (72) 74.2 22.7 19.8 27.4 4.4 16.3
ITES (19) 74.4 6.9 16.1 22.1 8.2 16.3
XY A (719) 76.0 20.2 21.7 13.0 17.6 13.3
2z (70) 70.6 24.3 21.3 18.5 14.1 15.2
&= (86) 69.6 23.4 21.1 14.3 75 13.7
=4 (109) 72.4 24.5 21.8 18.9 17.2 18.8
e 97) 76.4 24.1 17.9 14.3 12.5 15.3
et (83) 68.7 18.6 23.0 20.5 8.5 22.9
ze (130) 75.6 19.3 18.9 15.4 10.6 10.0
A (140) 69.5 19.6 27.2 17.7 11.1 9.2
HE (37) 69.9 15.0 26.8 18.0 10.1 29.1
sy | BE Ol (45) 59.2 23.8 21.6 26.3 1.2 25.4
T | DssM xsl/EY (482) 72.4 24.9 16.7 22.6 11.8 12.0
TE st oAt (2,275) 76.3 21.8 23.4 14.0 14.0 13.7
3002t Ojgt (930) 74.0 24.5 18.6 17.5 10.7 12.3
300~500%tg D8t (838) 75.5 20.8 24.9 16.7 15.9 14.7
JlFAS | 500~7009F O]t (479) 74.9 215 18.8 15.0 13.8 14.3
700~1,0002t D2t (364) 76.3 21.0 26.6 12.0 15.1 14.7
1.0008t% OJAf (192) 81.4 24.2 28.4 11.5 14.4 1.3
250 | B =2 (2,575) 75.0 23.6 235 16.5 14.3 14.0
TASE | B Y2 (228) 79.7 8.9 8.3 6.5 5.8 8.9
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20224 22pt U= 2 AKX ZAL

H 3-1-15| Z8Pt Q= € HoZ=0H R ©

(Base=22Pt QU= & XA} & FOX| HHRl 1 %)

X9l oz

At | ©HA7E =2

(B ol= =t

o273
| (2,803) 10.9 10.3 9.2 55 43 0.5
A (1,261) 10.9 15.3 9.0 5.1 5.4 0.4
= oy (1,541) 10.9 6.2 9.4 5.8 3.4 05
15~19A| (134) 7.4 14.8 35 3.0 7.7 0.0
20CH (678) 7.1 11.5 7.0 4.7 4.0 0.0
oriry 30tH (534) 8.3 13.3 7.3 6.2 4.6 0.1
=< 40LH (487) 10.8 10.0 9.3 5.4 3.9 0.2
50CH (514) 11.7 8.8 11.4 4.7 3.6 0.7
60CH OfAH (457) 19.8 5.7 13.7 7.6 4.4 1.7
Sl0|EZZF | (1,406) 9.5 10.6 8.7 5.7 45 0.3
CEETel (197) 14.7 15.6 16.0 438 5.9 0.0
MeixH (382) 13.5 5.5 10.8 7.8 43 1.0
R | XY (158) 19.3 11.6 14.3 5.5 3.8 0.5
SHAY (321) 8.5 14.1 5.3 4.2 5.8 0.0
2| (208) 48 6.4 5.5 3.7 0.5 1.6
7|E} (131) 18.3 8.7 9.0 4.1 2.0 1.4
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R AR 24

01& Hx|

H 3-1-16] 23p} 9l & HOIE2TH 98 @

(Base=23bt QU= ' QIR 5 FOKKY, T2l : %)

AR

(&)

| (2,803) 10.9 10.3 9.2 5.5 43 0.5

. E/7401 4| (1,312) 9.8 1.5 8.7 6.3 4.7 0.6
T HEYA (1,491) 11.8 9.2 9.7 4.8 3.9 0.4
A (1,487) 9.9 10.0 7.1 4.2 4.0 0.4

=33 (286) 9.7 9.7 12.3 5.4 3.7 0.5

Fie: B P (668) 12.2 11.6 10.7 8.3 4.7 0.7
T2t (254) 12.2 11.9 1.7 5.9 5.0 0.3
2o/ (107) 17.0 4.0 14.2 5.6 4.5 0.7

Mg (606) 8.0 10.3 6.8 5.3 3.7 0.6

A (190) 9.4 10.2 8.0 4.7 5.7 1.1

o (136) 11.3 15.1 9.7 1.4 5.4 0.6

QI (163) 11.3 12.6 1.1 6.8 6.3 0.0

o= (74) 12.2 15.1 10.4 5.1 7.0 0.0

kS| (72) 9.6 12.2 12.7 5.4 2.7 0.0

St (72) 17.9 11.6 13.0 1.4 4.8 13

ME (19) 7.8 2.0 9.7 0.0 2.0 0.0

X @ (719) 11.1 9.2 6.6 2.8 3.9 0.3
28 (70) 17.4 3.3 9.6 35 3.9 1.1

== (86) 9.8 9.4 9.5 3.3 15 0.0

= (109) 10.1 9.6 14.6 8.1 6.4 14

e (97) 12.5 9.9 10.3 6.8 2.8 0.9

e (83) 11.8 1.4 14.6 5.4 5.9 0.0

ze (130) 14.0 10.4 8.9 8.4 2.9 0.0

A (140) 12.3 1.1 15.9 8.2 4.2 0.7

Az (37) 16.2 5.4 22.9 9.7 5.6 0.0

ooy | B3 003 (45) 10.2 19.1 10.0 4.8 9.3 0.0
S| DS xfsl/EY (482) 13.3 1.4 11.9 5.3 5.1 1.1
T st o (2,275) 10.4 9.9 8.6 5.6 4.0 0.4
3008l Djgt (930) 10.1 9.0 9.0 5.5 4.0 0.6
300~500%+¢d Dot (838) 10.7 10.4 8.5 5.5 5.3 0.3

JlFAS | 500~7009F O]t (479) 12.6 8.6 75 4.5 2.5 0.6
700~1,0002t%4 O]t (364) 12.7 14.4 12.6 5.4 4.6 0.5
1,000 OJAF (192) 8.1 12.1 10.6 8.2 4.4 0.0

Dal0ls | BN =2 (2,575) 1.5 10.7 9.8 5.8 4.5 0.5
o e PN =) (228) 45 5.6 2.5 2.2 1.2 0.7
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20224 22pt U= 2 AKX ZAL

3. 2Pt U= 2 WSk

® ZaPt Q= d R0 Tiet S 2= THE0] 81.8%(0H% 2HE 25.0% + P& 1 56.8%)2 SUE’
(2.4%) 2Lt 71 LB, (252 15.8%)
- 9% OY(76.5%), G 15-19H(80.2F), MY SHY(79.4%), B 43 NSHD Xsy/E(76.68),
I1TASE 500~7002% DIRH77.1Z01A “2aPt QU= HOf TSt PSS
- AR SE/EA76.17), A ZY/REA(7.7E), KlofE HZG0.0H)0M 2817t Qs Zof it
RIEEIL B UEH,

k

|73 3-1-7] 22bt QU= € U=

(Base=23Pt 2= & QXIXt & EOIKE n=2,803, Tl © %)

2= mEE o 2E

24 18 2.3 2.1 25 24
1.4 10.9 11.6
86.8 86.8 86.2
152 88 M6 48 e 0¥ 174 R 19 204 PALE] 224

(n=336) (=549) (=675) (=869) (=2,601) (=2,295) (n=2,566) (n=1,790) (n=2,803)

|2 3-1-17] 2apPt U= & U&=

(Base=23Pt Ql= & QXX & FOKE | 1 %, H

TH| (2,803) 0.7 1.8 158 56.8 25.0 24 158 818 759

e | 28 (1,261) 0.2 21 17.7| 564 | 23.6 23| 17.7| 80.0| 753
°= oy (1,541) 1.0 15| 142 | 571 | 26.2 25| 142 | 833 | 765
15~19A (134) 1.1 09| 102 51.7 | 36.1 20 102 | 878 | 80.2

2004 (678) 0.6 21 149] 515 309 26| 149| 824 | 775

o124y 30H4 (534) 0.5 23| 17.6 | 53.8| 258 28| 17.6 | 79.6 | 755
-° 40CH (487) 0.7 28 149 | 521 | 295 35| 149 816| 76.7
50CH (514) 0.5 03| 17.2| 63.7] 183 08 17.2| 820 | 748

60CH 0|4 (457) 1.0 1.4 157 67.1| 1438 24| 157 | 819 | 733
SI0IEZZL | (1,406) 0.7 1.9 150 584 | 240 26 150| 824 | 758

STt (197) 0.0 00| 203 | 558 239 00| 203 | 79.7| 759

MY (382) 0.3 21 176 | 556 | 244 24 176| 80.0| 754

2| EY (158) 0.7 04 181 | 61.0] 198 1.1 181 80.8| 747
Sh (321) 0.8 2.5 95| 527 345 3.3 95| 872 794

22 (208) 0.2 27 20.7| 526 | 238 29 207 | 765 | 743

7|Ef (131) 3.2 0.0 1565 | 56.3 ] 25.0 32| 155] 81.3] 750
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H3E ZAHEAL 24

01& Hx|

(Base=22P} QU= & QXA & B, SR - %, F)

AR

| (2,803) 07 18 158 568 250 24 158 818 759
R Eg/20IA| (1,312) | 03 18163 | 565|251 | 22 16.3| 81.6 | 76.1
T HEYA (1,491 | 09| 1.7 153 571 249 26 153 821 759
N (1,487) | 06 23 155|563 | 253 | 29 155 815 758
=X (286) | 02| 12 169 541 275 15 169 81.6/| 76.9
Y | gaE 668) | 09| 1.1 153 602 226 20 153 827 | 75.6
Hetd (254) | 06| 1.4 171 563 246 20 17.1 | 80.9| 75.7
Ze/MEa (107) | 1.6 00 152 522 310 16 152 | 83.2| 77.7
MNE (606) | 04 22 173 560 241 2.7 173|800/ 75.3
Bt (190) | 00| 21 142 629 207 21 142 836/ 755
Ch+ (136) | 00| 1.0 172 571 247 110|172 | 818 764
OIX (163) | 03| 1.2 192 465 327 16 192|792 | 775
=S (74 1.0 16132 569 274 | 25 132 | 843 | 77.0
CHH (720 00 18| 98601 284 18| 98 885 788
4t (720 06 09| 142|60.7|236| 1.5 142 | 843|765
NZE (199, 00 20213472 295| 20 213 | 76.7 | 76.1
INE: IV (719)| 08| 26 132 587 246 | 34 132 833| 759
e (700 1.9 00/]17.2|51.8]/291| 1.9 172|809/ 765
=2 86) 07 15152519307 | 22152 827 776
=l (109) | 00| 06 223 531 240 06 223 77.1 | 75.1
N (97) 0.7 1.9]19.1|553|23.0| 26 19.1| 783 | 745
e (83 00 07183570 240| 0.7 183 | 81.0 76.1
a8 (130) | 1.8 06 141 597 238 24 141 | 835/ 758
a4 (140) ' 21| 05 165 | 596 | 21.3 | 26| 165 | 80.9 | 744
s 37 1.1 00|11.4|528|347| 1.1 114|875/ 80.0
ey | B2 05t (45) 0.0 001|242 |542|216| 0.0 242 | 758 743
O DSE xiEhEY (482) | 06| 07 146 597 244 | 13 146 84.1| 76.6
TE st oAt (2,275) | 0.7 2.0 158 | 563|252 | 2.7 158 815 758
3008+ Ojgt (930) | 04| 14 176|538 267 18| 176 80.6  76.3
300~500%+ Ojgt (838) | 0.7 26 183 551 234 32 183 | 785| 745
JIRAE | 500~7002kd 02t (4790 05| 09 | 122 621|243 | 15| 122 | 86.3 | 77.1
700~1,0002+ O]t (364) | 12| 13 113623 239 25 113 86.2| 76.6
1,0000t84 OJAt (192) | 09| 3.0 130 554 277 39 130 83.0| 76.5
2al0s | 2N =2 (2,575) | 0.7 16| 143|575 | 258 | 24 143 833 765
el | B 9E (228) | 0.0 3.0 321 491|158 | 3.0 321 649 69.4
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20224 22pt U= 2 AKX ZAL

4. 23D} Q= 2 2UE Olp
® 2517} Q= 0l st RIS 0|QEE "HOl S S 4 U AlZI0| BOLA 7t 58.7%E 71 &1,
CISORE ‘TR Al SOIS0| HOIM(43.4%), ‘25t IR 10| Ch3t AMIEH HEES 17| SIS0{A(35.3%)
So| 402 Ltepd
- g8 044(59.8%), AFE 600 0[&(75.4%), ZHE 7|EK81.2%), & FH st 014(63.4%), 7
500~7002124 DIZK70.3%)01 ‘29l SIS WS 4 U= ARI0| ZOHK7 A et
- JRES SH/BN(62.6%), B AE(66.5%), XIE B U He, MR 100.0%)00 2ol HEtS
WS 4 Qls AR HOL T} 2 e,
|72 3-1-8] 23t e & 2UE 019
5 ERRE Mt (Base=28P7} Q= o BRHE ST, n=68, £%1 1 %)

=of Z2T30f  Chet eMfet 25 V] =0

BRRZA0| LR BPILE LIR X0l

D277 HOAES] WS0| SHoPAL
FARPHEX| 01

25} BRT7RM0] 70| WL MBO| $50| H0W

1% 3-1-19] 28P} Qs o 201 0j9

(Base=2&P| QUE & EUF SEX, H 1 %)

D2 70| | BRA0| | HoIAAC) | B2 ol
et AMBHAS B 0 o KE0| WLt

FEE &7[HT HOUMRIRIE SXIHZR] 220

A=0M Ot | E20M
- d ! ! ! d 19.1
My 89 (29) 57.1 42.7 27.5 29.5 20.7 21.8 25.4
°= 1 0d (39) 59.8 43.9 41.1 20.5 18.2 14.2 14.4
15~194 (3) 0.0 54.5 18.0 33.8 27.5 27.5 0.0
20E (18) 61.0 54.2 27.5 29.3 18.9 21.7 6.3
S 30E (15) 57.8 46.9 30.5 27.0 17.7 16.6 24.2
=< 40t 17 58.7 24.3 36.0 16.6 11.8 21.7 37.2
500 4) 43.6 17.2 56.4 26.4 0.0 0.0 0.0
60LH Of4¢ (11) 75.4 57.4 49.3 21.5 38.4 9.2 16.8
SI0|EZEL (36) 61.7 33.8 26.0 22.0 19.4 17.1 25.1
MY (9) 48.0 48.2 79.2 18.1 29.0 11.1 31.7
xioy | AEY (2) 63.4 0.0 0.0 100.0 0.0 0.0 0.0
TTE | S (11) 48.8 78.8 25.1 24.8 6.9 40.0 5.5
o (6) 57.0 63.4 63.4 43.2 12.9 6.6 6.3
7|Ef (4) 81.2 16.5 18.8 0.0 44.7 0.0 0.0
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I 3-1-20] 28t

Ol
M

H3E ZAHEAL 24

01& Hx|

T 68) 587 434 353 243 193 174 191

e Eg /2oL (28) | 626 508 495 | 281 2141 19.0 9.1
T HZYA (39) | 558 | 381 249 | 216 177 163 264
N (43) | 665 | 497 264 227 185, 182 | 209

XA (4)| 484 261 416 | 445| 384 00| 229

Y | gud (13) | 35.8| 27.1 62.4 | 18.0 75| 210 133
Hetd (5)| 60.0 399 260 26.1 406 | 146| 224
Ze/HMEH ()| 602 622 602 602 24| 224 0.0

NS (16) 734 | 683 | 422| 368| 207| 211 0.0

Bt (4| 51.0 265 755 0.0 245 245| 245

CH (1) 0.0 0.0 = 100.0 0.0 0.0 0.0 0.0

OIX ()| 784 604 396 00 396 387 396

= ()| 613 387 | 387| 387| 387 00| 307

CH (| 516 0.0 0.0 100.0 0.0 0.0 0.0

4t (1) 0.0 0.0 100.0 0.0 0.0 0.0 0.0

S (0) 0.0 100.0 = 100.0 0.0 100.0 0.0 | 100.0

g go (25) 60.7| 364 | 147| 157 | 148/| 14.1 32.8
e (1)| 487 513 | 487 487 0.0 0.0 0.0

8 ()| 381 38.1 38.1 309 309 00| 31.0

== (1) | 100.0 0.0 = 100.0 0.0 100.0 0.0 0.0

e ()| 49.9 499 225 00 512 287 214

e (1) | 100.0 0.0 0.0 ' 100.0 0.0 0.0 0.0

a8 ()| 244 244 563 193 00| 244 | 244

ad 4) | 521 479 280 490 00| 280 0.0

[ES (0) | 100.0 | 100.0 = 100.0 | 100.0 | 100.0 = 100.0 0.0

s | IS Xe/EY 6)| 107 635 365 373 238 119 0.0
& Ofstw oA 61) 634| 414 | 351 230 188 180/| 21.0
3002r O|gt (17) | 56.1 614 454 406 87 204 6.7
300~5002H 0|2t (27) 566 466 | 33.0 13.8 ] 21.0 11.7 28.8

J}EAE | 500~7008H O]9t (7)| 793 100 313 | 273| 266 242 0.0
700~1,0002+ O]t (99| 387 182 | 493 | 249| 182 00| 440
1,0000t84 OfAt (8)| 765 | 537 76 228 31.1 46.3 0.0

Zals | AN =2 1) 56.9| 423| 344| 271 198 17.7 | 17.7
el | B "E (7)| 748 533 | 428 00 147 147 320
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2022'4 22pt U= E X ZAL

(1£%) 227t A= 20l F0IotX| 2ot 0|F2E “AlZI0| YHA'7F 32.2%= 71 =11, Lhgl2:s
JM EEE %7| 0242 (29.0%), ‘Z=Lt 19, M SO eEHstz Qlal FH07H HAAM(11.7%)

T G20, P 20004419, SR MU0, S AEH OIS 04(386%), TASH
500~7008H! DIZH33.19%)01A1 “AIZIO| LEX] QI0tAf 7t 574 Lihe)

- IS HIZOAI32.2%), HAY STHB4.1%), X SME7.29%)00A A0 LIX| Q0L 7 £ LiErd.

® (1+229)) 237} QU= L0l HOIGIX| 23 0|R2E MM BEE A7| 02{YM 7t 50.8%2 7H &1,

CHSOZE “AlZI0| QIOIM(46.1%), ‘TRt 19, M S BHARIsIZ 15l &0} 0f2{M(34.4%) S

£02 LiEHd.

- N9 Jd8(51.0%), Y 6001(58.7%), &
71,0002 O[A(61.2%)0IA “HM HEE &7

- JEEE SH/ZUN(0.9%), Y Y
7 20 Lfet,

o FUFH(58.5%), 512 +FY IS 01(51.3%), TinAsH
OfZ{SIA 7t 71 LiES.
HESE(64.6%), Klofd M2(588%)0M ‘MM HES 27| of2igly

|
=
|

|72 3-1-9] B3Pt Y= o HOPBIK| R 019
‘ (Base=23Pt QU= & DIFIONY, n=4,197, E49] © %)

N
>

i

U

X7 [EF

£
0;
J

WA 14229

ARIO] 20U —
A 2 27| Ofie — g
LJ'M = SPHS O 7 = (o)
[t 10, | S BB Qi HOP} ORIRIA "

7P FEOHMRIZ00[87 532t S T2 7240 | K014
Zofoll A2 T2TI0| Ha QoM
=Z2l0=0] 20l oM

slEi(ERlE S)0I K| 2L0tM
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HiB% ZAHZu 24
01

B 3-1-21] 28Pt s S HOBIN R 01R 149
(Base=2317}

= Lt
=g

OFEOIRL S 0 %)

Hel7t
ZOoM

(O|:L

M | Ajzio]

@ | gloiN

A (4197) | 322 29.0 117 8.3 5.5 4.7 29 5.6

My | 59 (2,303) | 326 | 284 112 7.0 5.7 5.8 3.2 6.2
c= g (1,895) | 31.7 298 124 9.8 54 3.3 2.7 5.0
15~19M| (280) | 40.0 | 245 3.4 5.3 6.8 13.8 2.3 3.9

(470) | 441 | 185 6.6 6.5 8.9 5.8 5.2 45

oqzr 30E (638) | 39.1 | 21.8 8.9 8.2 5.7 6.7 3.6 6.0
=< 40t (951) | 338 305 119 7.6 5.0 3.1 3.0 5.0
504 (1,012) | 294 327 1338 8.3 4.0 3.1 2.3 6.3

60LH Of&t (845) | 192 358/ 167 11.0 5.5 3.2 2.2 6.4
SI0|EZtL (1,743) | 365 | 284 9.7 6.7 55 3.7 3.8 5.8
=54t (444) | 358 | 276 107 8.3 4.4 5.1 2.3 5.8
MY (662) | 191 | 347 185 133 5.1 3.3 1.7 4.5

Y A (369) | 291 334 140 8.7 4.6 2.4 2.4 54
SHA (417) | 422 | 216 54 6.2 711 110 2.4 4.2

=4 (342) | 209 290 136 8.6 9.1 7.1 4.0 7.7

J|Ef (221) | 337 264 149 8.9 2.6 4.2 1.7 7.7

pIES SH/HAA (1,742) | 321 | 303 125 6.0 6.3 4.4 2.5 5.9
T | HEGA (2,455) | 322 281 11.2 9.9 5.0 4.8 3.2 54
T (2,126) | 341 286 127 6.5 54 4.0 2.8 6.0

=T (455 320 276 109 | 104 5.8 5.1 3.2 5.0

Y | ddd (1,031) | 299 29.7 109 9.8 6.0 59 3.3 4.5
Pl (398) | 304 | 299 104 8.8 5.0 5.3 2.6 7.7

AH /M= (188) | 27,5 | 32.1 9.6 | 143 5.0 3.7 2.9 4.9

M= (717) | 334 31.1] 123 4.1 6.7 3.1 2.9 6.5

il (257) | 312 301 118 8.8 4.0 7.0 2.3 4.8

tht (186) | 279 371 125 6.5 6.0 4.2 2.5 3.2

oI (248) | 30.0 | 283 128 6.9 7.2 4.6 2.5 7.7

a5 (122) | 353 273]| 123 7.2 6.7 3.7 2.2 5.3

CHE (128) | 305 | 265 162 6.2 5.2 7.1 2.4 5.9

=4t (83) | 372 244 9.5 711 10.0 5.3 1.4 5.2

NE (32) 323, 320 120 9.6 2.0 2.2 3.4 6.5
IS (1,160) | 354 271 13.0 7.8 4.2 4.4 2.8 5.3
ad (134) | 282 316/| 106 133 55 2.7 2.4 5.6

== (128) | 343 300 5.8 9.5 5.7 5.6 3.1 5.8

e (167) | 31.3| 257 | 106 | 146 7.1 3.7 3.7 3.3

M= (130) | 303 354 108 6.2 2.7 5.8 2.8 6.0

S (146) | 264 272 86 124 5.6 6.0 2.7 11.2

4= (208) | 29.1 | 243 106 | 134 4.7 7.4 5.6 4.9

a9 (297) | 285 300 9.7 11.0 7.5 5.2 3.7 4.5

HE (b4) 256 334 7.1 16.6 3.8 6.0 4.3 3.4

stz | o= 0[of (127) | 31.8 286 10.0 3.5 541 115 2.8 6.5
= | Usord Tet/E (1,100) | 284 295 13.0 9.7 55 6.8 1.8 54
T | OGSt Ol (2,970) | 336 289 114 8.0 5.6 3.6 3.4 5.7
3009HH OJ8t (1,502) | 32.4 | 262 109 8.6 6.5 6.5 2.9 5.9

7k -300~500% Ol (1,280) | 319 300 114 9.3 5.0 3.6 3.2 5.7
= | b00~7002t O]ot (718) | 331 292 126 8.2 5.7 4.3 2.5 4.4
== | 700~1,0002F O|2f (469) | 33.0 | 31.8 144 5.8 4.2 2.9 2.8 5.0
1.0002H# 0% (229) | 277 36.0 10.9 5.7 4.6 3.5 3.3 8.3
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2022'4 ==

60

I.jl. OI_ I—P ORE JI-

|E 3-1-22| =8Pt U= & FHOIR| =

SE5HE
KA

(Base=

0lR 1+2&9
25pt

[
U= 2

OIRIOHR, 9l -

%)

7P}

2214 | 2oiy

- 19, | (@20 (0Bt ey
e s oig | ae | I losge
A MNHE z = 50|12
M | RS | ARIOL | So 2 it m2 7| #9850 | g
0112/ o [T 0L01A

Of2i2/M| B2 12

XO1A)
45 (4197) 508 461 344 247 141 115 95 88
e =24 (2,303) 51.0 1 469 | 319 21.7 15.6 12.3 11.6 9.0
e= o (1,895) 50.6 | 45.1 375 | 284 12.4 10.6 7.0 8.5
15-19K] (280) 413 549 187 244 197 86 263 60
204 (470) 38.6 57.7 209 | 265 20.4 15.8 14.4 5.7
o1y 304 (638) | 41.7 55.5 24.3 26.0 15.7 14.9 11.3 10.5
=< 40C (951) 529 | 46.8 345 | 234 13.2 14.1 7.0 8.1
50C (1,012) 56.5 | 439 | 41.7 22.2 11.0 9.0 6.2 9.6
60CH Of A (845) 58.7 314 | 459 | 275 125 7.8 6.6 9.7
SlO|EZ2t (1,743) | 494 | 514 | 285 | 244 15.2 14.2 7.7 9.3
==t (444) 484 | 50.0| 39.0| 24.0 115 9.4 9.8 8.0
HHEFE (662) 58.5 29.7 | 486 | 295 11.56 8.4 5.9 7.9
Ay | A (369) 57.8 | 445 411 23.4 11.2 7.8 5.5 8.8
Shl 417) | 4.2 56.3 20.8 | 245 18.9 10.0 1 223 5.9
£& (342) | 49.7 33.4 | 36.1 22.0 18.8 14.8 15.1 10.1
7|EF (221) 528 | 479 | 416 212 8.0 8.5 8.0 11.9
x| EE/EEA (1,742) 809 461 366 208 154 131 90| 82
T | HEGA (2,455) 50.8 | 46.1 3291 275 13.2 10.4 9.9 9.2
2EH (2126) | 504 | 482 | 352 | 230 127 126 84| 94
ST (455) | 469 | 456 | 343 27.1 16.7 10.2 10.2 9.0
e | doH (1,031) 52.0 | 433 | 341 25.7 16.2 10.7 11.2 6.9
M2t (398) 528 | 445 329 | 264 12.8 10.5 9.9 10.3
2/ HE=H (188) 545 | 423 1 31.1 29.9 15.2 9.3 10.0 7.8
M (717) 50.1 488 | 36.7 18.2 15.2 15.2 7.1 8.7
24t (257) 52.6 | 445 | 37.1 20.8 14.8 11.9 11.4 6.8
O+ (186) 56.9 | 400 | 418 22.3 14.6 10.0 10.1 4.1
oI (248) 529 | 427 | 326 259 15.3 12.5 8.6 9.6
a4 (122) 50.1 4791 356 215 15.6 13.7 9.4 6.3
LM (128) | 43.7 | 456 | 404 19.3 16.0 10.7 12.8 11.6
=4 (83) | 46.6 | 483 28.9 26.7 19.7 10.1 10.3 9.4
NES (32) 55.6 441 32.8 21.1 18.2 12.4 5.6 10.2
PSE- I (1,160) 50. 490 | 348 254 10.7 1.1 9.2 9.8
4 (134) 5b. 450 | 32.7 29.0 134 7.2 9.5 8.2
55 (128) | 47.8 50.2 29.8 | 26.9 16.2 10.7 10.3 8.1
=4 (167) | 471 424 | 334 | 34.3 17.3 9.1 8.9 7.5
M= (130) 8.8 | 451 35.3 24.7 10.2 7.8 8.6 9.5
Mt (146) 49.8 41.2 28.4 32.1 12.8 10.2 11.4 14.2
a5 (208) | 49.1 39.7 1 348 | 293 16.9 10.8 12.9 6.5
iz (297) 51.8 45.2 27.4 29.2 17.1 10.2 10.8 8.3
M= (54) 53.1 35.6 269 32.3 19.7 14.3 11.3 6.7
s | B2 0 (27) 424 290 358 207 151 68 211 90
=~ | dss xfst/EN (1,100) 50.6 | 419 ] 394 26.0 14.0 8.1 12.3 7.7
= CHstw O] (2,970) 51.3 47.5 32.5 24.4 14.1 13.0 8.0 9.2
3002H4 OJ2t (1,502) | 46.4 | 458 | 34.3 25.8 15.7 11.4 12.3 8.2
b= 300~5008+ OJ2k (1,280) 52.1 46.5 | 343 25.2 13.4 12.1 7.9 8.5
= | b00~7008t Ojor (718) 3.3 | 444  33.8| 24.9 14.3 12.5 8.7 8.2
== 700~1,0002H4 O]2F (469) b2.8 | 48.4 | 40.2 22.3 10.7 8.6 6.9 10.0
'I,OOO':.'_HD.:-I 0|~ (229) 61.2 1 46.0| 26.0 19.6 14.6 12.3 7.9 12.5




H3% AL 24
018 HH|

. ==t A= E -
® (1&9l) Zat U= 'ér HOfoll! M2 T2 02 "HaH0M Fat HE'0] 33.9%2 71y w11, Hel2s
FUHM FRIZ, ¢1=, 83 S 2 (25.3%), TR0, Hi7t AXLX Z7|22(8.8%) 52 &2 LIEH.
- g4 E.g"(36.7%), _E’éta“ 15~19KM((41.4%), ZIHE SHl(41.6%), & +&E S5Z 0[5K39.4%), 7HASE
3002H DI2H(E5.0%)01IM ‘HeH0olM Hat 20| = LIEH.

- 7i5EE SE/EAM(G4.0%), HAE T2HHEG38.4%), XIHE HR(41.8%)0IM ‘S0 Fat 22 0] =2 LEtE.
® (1+2&%)) 2Pt U= g ool o2 T2 02 "FokH0lM F3t 2#E'0] b4.3%= 7+ bEe2=
SHHOIN FXAZ, o5, 324 S &EH(49.0%), U= S2 OIS0l TA| 2=2(20.1%) &2 —’.-_‘—Oi LIEH,

- 84 H4(56.2%), S1FY 15~19M((64.9%), 2P sH4(64.4%), &8 +FH 1SSty XsH/ZEY(58.1%),
7IFASE 3002+ OI2H56.0%)01A "SeRH0lA st 220l =2 LEH.
- M5HE SE/ZAA04.9%), HHE SHHUOG8.5%), XFE 7H66.4%)0M "F=rH0M ok 20| =4 HEHE.

|72 3-1-10] 2Pt U=

N
-
i

KT ERL S

3
0

il 8t Ty

ZOMOIN RAR, 913, 89f
D20, HiF: ARX A7| 2
USP 22 DIBBON T
23], 221 SO OfelEe
20 23h

HICHR 202

SSMLOIA ol 25 Ao

KIS W 7|2kt ClsERIRt 2fHiok=
HEEs o203 Ao

CAROIM 281 THEZ =M

[

FRIOEHD AlS ma e

=
(Base=23P| U= < OIFCIRL, n=4,197, =2 : %)
B =¥ 1+229]
.3
490
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202244 5P} QU= & QK| A}

I 3-1-23| 2sPt U=

Lt
=

Fojote He T2 129 @
(Base=23p7t QU= & DIROIRL 9l 1 %)

Y423 222012, B9

TR BB AEE BTN piamory |So ofel S22

HAl 2 | 2o may [ HE

FH| (4,197) 33.9 25.3 8.8 8.4 6.6 5.1

| 2 (2,303) 36.7 19.2 12.9 7.2 6.9 5.3
°= oy (1,895) 30.5 32.6 3.9 10.0 6.3 4.8
15~19A| (280) 414 17.9 13.6 8.2 6.6 1.6

20rH (470) 39.6 21.1 7.8 9.8 5.5 4.4
oreyry | 300 (638) 31.4 29.0 9.7 9.0 2.4 6.0
=<7 40ty (951) 33.9 26.4 8.8 9.3 6.2 4.3
50CH (1,012) 33.7 27.4 8.4 7.1 7.9 4.3

60CH OfAt (845) 30.2 23.4 7.6 7.9 9.3 7.9
310|EZE} (1,743) 34.1 275 8.9 7.8 6.2 4.6
22t (444) 37.1 19.8 10.2 6.4 6.9 7.0

Pl E] (662) 29.1 30.8 3.3 11.1 7.7 3.5

XY | Xe (369) 27.0 235 10.9 8.6 6.2 8.5
SpAl 417) 416 19.7 10.4 7.7 6.7 3.1

SPN (342) 33.5 21.7 12.1 8.7 6.8 5.9

J|E (221) 37.3 21.0 9.8 10.0 5.9 6.2
- S /301 4| (1,742) 34.0 25.2 9.1 8.6 5.8 5.6
T HIEYA (2,455) 33.8 25.3 8.6 8.3 7.2 4.7
A (2,126) 32.1 26.8 8.9 9.2 5.5 6.2
=3 (455) 36.4 23.7 9.4 7.4 7.8 3.8

e | AMH (1,031) 34.6 24.3 8.5 8.2 75 3.9
2t (398) 38.4 22.8 7.6 6.5 7.8 4.2
Z/HFH (188) 33.7 225 10.3 8.0 8.7 4.1

A2 (717) 33.2 27.0 8.3 9.8 4.7 7.0

At (257) 31.2 27.6 6.4 8.1 7.2 5.3

k] (186) 38.4 23.1 9.3 7.9 4.1 4.6

OIX (248) 29.6 25.0 12.5 9.2 6.6 5.4

= (122) 41.8 22.3 6.9 6.9 6.2 5.8

CH& (128) 39.3 18.7 10.5 7.3 8.7 3.0

24 (83) 33.5 23.1 14.1 4.8 6.8 1.8

ME (32) 33.7 24.6 5.9 9.1 3.1 2.1
N[ (1,160) 32.0 27.0 8.6 8.8 5.8 5.9
4 (134) 33.4 215 10.9 8.6 9.1 4.2

=9 (128) 39.4 24.7 8.3 6.3 7.6 4.0

=] (167) 32.4 26.4 10.0 8.0 8.1 4.5

M= (130) 36.8 22.0 7.2 6.9 10.5 5.5

g (146) 37.0 24.0 8.5 5.7 6.7 1.8

1= (208) 34.7 25.0 9.4 9.8 6.5 2.7

A (297) 35.5 223 7.7 8.4 10.7 3.8

Az (54) 34.6 24.8 8.6 6.7 7.7 3.7

sy | B3 Ofot (127) 39.4 17.8 1.1 5.5 6.5 5.1
T | nsa asl/EY (1,100) 35.3 23.1 9.7 6.6 9.3 5.2
T | tatm oAb (2,970) 33.1 26.4 8.4 9.3 5.6 5.1
3002k O|gt (1,502) 35.0 21.3 9.5 8.4 7.9 5.1

= 300~5002tgd 08t (1,280) 34.0 25.9 8.9 9.1 5.7 4.2
& | 500~7002r¢ Djgt (718) 32.8 28.1 8.1 6.8 5.6 6.4
= | 700~1,0002t% O3t (469) 32,5 29.8 7.4 10.2 6.0 6.9
1,0009F OJAk (229) 31.9 29.9 9.1 6.9 7.0 2.0
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H3E ZAHEAL 24

01& Hx|

H
w
A

|
N
>
Mo
P
N
30
rr
e
g2t
k=)
_o'y
El
H=
rlo

D27 129 @
(Base=28P} Q= & DIEGIRL T2 : %)

SO
TRt 2Htl=| 2 TIE=
MEEs Ao =M

TR (4,197) 39 3.1 2.8 1.7 0.4

| EA (2,303) 4.1 2.9 2.9 14 0.5

°= oy (1,895) 3.6 3.4 2.7 2.1 0.2

15~194] (280) 4.0 2.0 1.8 2.5 0.5

20CH (470) 47 1.6 2.9 2.7 0.0

— 30CH (638) 4.1 3.3 3.3 1.7 0.1

40CH (951) 3.8 3.2 2.7 14 0.1

50CH (1,012) 3.3 2.7 3.0 1.6 0.6

60CH OfAf (845) 4.0 4.6 2.7 1.6 0.8

310|EZ2} (1,743) 3.2 3.4 2.9 1.2 0.1

273t (444) 35 4.2 2.0 2.0 0.6

b (662) 42 4.4 3.1 2.5 0.1

ESos PN Jos) (369) 5.5 2.3 3.2 3.0 1.1

SHAY 417) 3.6 2.0 2.3 2.6 0.3

2% (342) 5.5 1.0 2.6 1.4 0.7

7|E} (221) 3.9 15 3.5 0.4 0.7

mmy | SE/EA (1,742) 35 3.0 3.3 1.6 0.4
1=

HIZSA| (2,455) 4.2 3.2 2.5 1.8 0.4

PN (2,126) 35 3.3 2.5 1.6 0.5

skl (455) 3.1 2.9 3.0 2.5 0.3

Y | ENA (1,031) 46 3.2 3.2 1.8 0.1

HatH (398) 4.8 2.5 3.6 15 0.3

L/HFH (188) 4.1 2.8 3.0 2.1 0.8

e (717) 3.0 2.4 3.2 1.1 0.6

A (257) 5.5 4.4 3.0 15 0.0

T (186) 3.2 2.9 39 2.2 0.5

OIF (248) 3.3 3.0 3.2 2.2 0.0

oz (122) 4.1 2.3 2.6 0.5 0.5

CH (128) 2.1 2.6 4.1 3.3 0.5

St (83) 4.1 49 4.1 2.9 0.0

MNIZ (32) 7.2 35 3.1 5.8 2.0

NI I (1,160) 3.9 39 1.9 1.8 0.5

U (134) 2.9 2.5 3.6 2.0 1.1

EX (128) 2.0 3.1 1.2 3.4 0.0

= (167) 3.8 2.7 3.6 0.5 0.0

M= (130) 4.7 14 2.6 2.0 0.5

i (146) 5.5 3.6 5.3 1.9 0.0

ze (208) 43 3.3 2.6 1.7 0.0

At (297) 5.0 1.7 3.0 1.6 0.2

bS[ES (54) 6.9 3.4 1.4 2.2 0.0

oy | B2 0I5 (127) 5.2 2.1 5.6 1.2 0.5

2 ISsM ael/EY (1,100) 42 2.7 2.3 14 0.4

TE st oA (2,970) 3.7 3.3 2.9 1.9 0.4

3000t O|gt (1,502) 5.1 3.0 2.3 1.8 0.5

e 300~5002+94 02t (1,280) 4.0 2.8 3.2 2.0 0.3

L | 500~7002r¢d OJ2t (718) 35 3.6 2.6 2.4 0.2

7 | 700~1,0009+ D2t (469) 0.9 2.5 2.9 0.6 0.4

1,0008F OJA} (229) 2.5 4.9 4.6 0.4 0.8
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2022'4 E=Pt U= 2 2K AL

|E 3-1-25| 28t QU= o FOIHD AS TR 14249 @
(Base=23PI U= o OEOCIKE, H2l : %)

ol D30lA

SEY 2t

| (4,197) 54.3 49.0 20.1 18.7 15.2 11.8

| 2 (2,303) 56.2 39.4 17.8 27.6 15.6 12.0
°= oy (1,895) 52.1 60.7 22.9 7.8 14.7 11.4
15~19A| (280) 64.9 38.8 20.5 27.0 16.8 4.3

20rH (470) 58.1 45.1 23.2 19.8 10.7 9.5
oreyry | 300 (638) 50.3 50.2 22.8 20.8 10.8 12.8
=<7 40ty (951) 52.4 52.4 21.6 17.9 15.1 10.8
50CH (1,012) 56.7 51.0 16.4 18.1 17.0 11.2

60CH OfAt (845) 51.0 47.6 18.9 15.2 18.4 16.5
510|EZ2t (1,743) 54.0 52.5 19.9 19.1 12.6 11.8
ECHE] (444) 57.9 39.7 16.7 21.4 18.9 14.2
PlE] (662) 50.0 59.7 21.9 8.2 17.8 10.3

XY | XY (369) 47.6 44.1 215 21.3 18.2 13.1
SpAl 417) 64.4 39.6 21.4 24.1 15.2 6.8

SPN (342) 55.3 39.9 18.5 24.3 15.0 14.8

= (221) 53.3 48.5 20.7 17.3 15.1 12.9
. S /301 4| (1,742) 54.9 49.6 19.7 20.2 13.6 12.5
T | HEYA (2,455) 53.9 48.6 20.4 17.6 16.3 11.3
A (2,126) 52.5 51.7 21.1 18.3 12.3 14.4
=53 (455) 58.5 45.7 18.6 18.6 17.6 8.4

e | AMH (1,031) 54.6 47.0 19.3 19.5 17.6 9.3
2t (398) 58.0 44.6 18.3 18.3 19.7 9.2
Ze/HEH (188) 54.6 47.4 20.5 19.2 18.5 8.2

A2 (717) 53.7 54.2 22.2 18.7 9.7 15.4

At (257) 51.4 49.8 18.4 20.8 17.3 10.9

k] (186) 66.4 46.5 16.7 17.5 11.9 9.5

OIX (248) 51.6 46.2 20.6 23.9 15.8 11.9

= (122) 56.1 45.7 15.4 19.0 15.1 12.9

CH& (128) 59.5 45.4 15.7 20.3 19.7 7.7

24t (83) 50.1 38.6 18.7 27.1 20.7 7.1

ME (32) 48.3 45.2 30.0 17.6 10.6 8.3
N[ (1,160) 52.0 51.3 20.5 16.8 13.2 14.4
4 (134) 53.6 485 20.4 20.0 18.5 9.8

=9 (128) 61.4 44.6 15.5 16.2 17.9 9.5

=] (167) 57.6 46.9 20.9 19.3 17.1 8.1

M= (130) 57.7 45.0 20.2 16.6 22.3 10.3

g (146) 59.8 43.4 19.1 19.2 21.3 5.2

1= (208) 49.9 452 24.5 18.9 19.5 7.3

A (297) 54.7 485 18.3 17.9 19.2 10.0

Az (54) 56.9 44.8 20.8 17.2 18.5 4.5

ooy | B3 Of3 (127) 55.3 36.9 18.6 27.8 25.2 6.7
3| 1= sz (1,100) 58.1 47.1 15.2 17.1 20.7 12.0
T | tatm oAb (2,970) 52.9 50.3 22.0 18.8 12.7 11.9
3002+ O]t (1,502) 56.0 44.4 20.2 18.5 16.8 1.3

= 300~5002tgd 08t (1,280) 54.6 50.1 19.7 19.0 13.9 11.8
& | 500~7002r¢ Djgt (718) 52.8 52.0 19.9 18.3 15.2 12.2
= | 700~1,0002t% O3t (469) 51.0 53.9 20.8 19.5 14.6 12.4
1,0002H OfAk (229) h3.2 54.2 20.8 171 12.6 11.7
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H3E ZAHEAL 24

01& Hx|

1B 3-1-26] &P} QU o Ao A2 T2 14229 @
(Base=E23P} U= o OEOCIKE, =2l : %)

SABOA
TRt 2Htl=| 2 TIE=
MEges & =A

A (4,197) 9.1 7.7 71 5.0 0.4

g | B8 (2,303) 9.8 7.3 6.3 5.2 0.5
°= oy (1,895) 8.1 8.2 8.1 4.6 0.2
15~19A (280) 7.1 5.7 4.7 5.7 0.5

20CH (470) 11.6 5.9 6.6 6.5 0.0

oy 30CH (638) 10.5 7.3 8.5 45 0.3
40CH (951) 8.9 7.2 7.5 5.3 0.1

50CH (1,012) 8.2 7.1 6.8 49 0.6

60CH OfAH (845) 8.5 10.9 7.2 3.9 0.8
310|EZtE} (1,743) 8.8 7.6 7.2 48 0.1
szt (444) 10.9 7.5 6.0 4.6 0.6
P|uES (662) 8.5 9.6 7.5 5.3 0.2

Y| XY (369) 8.4 8.6 8.8 5.5 1.1
S (417) 8.6 49 5.3 5.9 0.3

2| (342) 9.5 7.3 5.9 5.8 0.7

7|E} (221) 10.1 7.8 10.0 1.9 0.7
- E9 /oI A| (1,742) 9.1 7.0 7.3 4.2 0.4
T | HIZYIA (2,455) 9.0 8.2 7.0 5.5 0.4
A (2,126) 8.4 75 6.5 5.2 0.5
=Y (455) 8.6 9.7 6.7 5.3 0.3

Y | AAE (1,031) 10.0 8.0 8.0 4.7 0.1
g (398) 10.6 6.4 8.4 3.9 0.3
Je/HEH (188) 9.3 6.1 7.7 5.4 0.8

e (717) 7.9 5.2 7.4 3.8 0.6

A (257) 10.9 7.9 7.7 3.7 0.0

CH (186) 8.7 6.7 8.0 5.2 0.5

QI (248) 9.5 9.7 5.5 3.6 0.4

Zzx (122) 12.9 7.2 8.2 3.5 0.5

Lo (128) 8.4 8.8 6.4 5.9 0.5

At (83) 9.0 8.7 9.1 7.8 0.0

NES (32) 13.8 5.2 9.9 7.1 2.0

INE: IV (1,160) 8.4 8.5 6.2 6.4 0.5
PALC (134) 8.0 5.0 8.9 4.4 1.1

=2 (128) 10.0 12.4 4.1 6.9 0.0

= (167) 6.7 9.2 8.2 3.3 0.0

N2 (130) 10.3 4.4 5.4 4.7 0.5

e (146) 9.0 7.5 11.2 3.6 0.0

as (208) 9.5 9.8 9.6 49 0.0

A (297) 10.6 7.5 6.8 4.2 0.2

SES (54) 12.4 8.9 4.6 8.1 0.0

e | BE OB (127) 7.1 5.8 9.0 35 0.5
~ | 1SS Msl/EY (1,100) 9.9 6.8 6.2 45 0.4
TE | et oAb (2,970) 8.8 8.1 7.4 5.2 0.4
3009 Ojgt (1,502) 10.6 7.8 6.2 5.2 0.5

e 300~5002+4 02t (1,280) 8.8 8.2 7.2 5.2 0.3
(L | 500~7002r¢d 0|t (718) 8.1 8.0 7.8 43 0.2
7 | 700~1,0009+ D2t (469) 6.9 5.8 7.4 6.2 0.4
1,0002H 0JAf (229) 8.0 7.2 10.0 1.7 0.8
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20224 22pt U= 2 AKX ZAL

Ir

g

ll. 2=Pt U= 2 0 A Sk

i

1. 22Pt A= 2 712N EOlE

® 2517t Q= 2 V7|EMY HUERE BT 23Ut U 0] 32.1%2 71 =1, 8o 2 HEH
237t U= H(31.1%), ‘KGESt T2 T(26.2%) 2 =22 LEH.
- M 014(4.1%), Y 40TH(3B4.8%), HYE XIHA(35.5%), B2 +FE Sl 014(34.1%), 7HPASE
500~7002HY O|2K34.8%)0A ‘ZETAE 23t Q= 0| &7 LIER.
- HEpY SH/EAN(33.6%), HAYE Z/MFHEGE7.7%), XNAE HMZF(B1.1%)0A SSEAE 237t U= 20|
=7 LIEr.
|72 3-1-11] 2Pt U= 2 7MY &g
STEfR) A2 (Base=23Pt Q= 2 7|2 &IOIRL n=2,762, ©9| © %)
SSEAE EsPt Q= H 32.1
=2 257 Qe 311

Rjejss) ma

AeRs} Zhix EX
£ 55

R
oLl
=219 M Zapt U= =
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H3E ZAHEAL 24

01& Hx|

e

| (2,762) 32.1 31.1 26.2 25.6 256 24.9 22.7
Ny | 59 (1,384) 30.1 32.0 28.2 24.3 27.4 24.3 22.3
T oy (1,378) 34.1 30.3 24.2 27.0 238 255 23.0
15~194 (146) 252 218 26.1 18.8 12.8 13.0 20.9
20tH (464) 31.9 31.2 229 29.0 20.0 19.7 21.1
oy | 30M (445) 31.7 32.8 22.9 28.6 21.6 214 22.7
=<7 | 400 (520) 34.8 30.0 26.4 265 2238 225 25.2
50tH (618) 34.2 32.1 27.9 237 293 275 22.4
60CH Ol (569) 295 322 295 237 34.9 34.4 22.3
Sl0lEZEE | (1,320) 325 31.6 24.1 27.9 25.7 25.8 22.9
s=uet (252) 32.1 24.5 31.5 24.6 28.9 21.2 22.9
YRR (426) 31.3 30.0 273 24.1 24.5 258 25.5
zot | R (206) 35.5 37.4 29.4 18.6 32.5 285 23.4
Sl (260) 29.2 29.1 23.0 26.3 17.2 16.4 21.7
25| (160) 30.1 27.0 30,5 19.4 20.6 23.4 16.6
7|Et (139) 333 41.9 295 27.0 328 326 18.5
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20224 22pt U= 2 AKX ZAL

68

N
(&)

SN
# 23t

O| L}t
M= 2

HH| (2,762) 32.1 31.1 26.2 25.6 25.6 24.9 22.7

Nz Ed/ZAN| (1,208) 33.6 34.9 24.9 28.7 25.1 25.9 24.1
7T HEGA (1,554) 30.9 28.2 27.2 23.3 25.9 24.1 21.5
>3 (1,333) 31.4 34.0 235 27.7 22.7 24.3 224

By (302) 325 28.8 30.3 24.7 26.6 24.7 19.0

gk add (716) 33.7 29.4 25.6 25.0 28.7 26.1 25.4
et (285) 28.6 26.5 34.1 22.8 28.2 26.0 22.2
/M (124) 37.7 26.1 31.0 16.6 29.7 22.9 19.3

NS (483) 31.8 38.3 20.2 32.9 21.1 25.0 224

St (180) 38.4 33.3 26.1 27.7 29.3 29.7 29.8

Ch=t (129) 35.2 33.5 24.3 30.9 29.4 26.9 28.6

ks (171) 35.3 39.3 26.4 21.3 26.3 22.2 26.6

3= (85) 27.0 25.4 34.2 28.3 26.1 27.8 22.8

CHH (85) 34.4 28.2 35.9 27.7 26.6 27.0 125

=t (77) 34.3 26.8 27.4 18.9 27.9 26.3 23.0

MS 21 36.7 37.3 28.6 29.2 19.9 16.8 21.0

R 47| (680) 30.0 29.7 25.1 25.6 22.9 24.3 21.4
Py 91 32.7 24.6 31.5 12.9 31.56 23.9 21.4

Bl (89) 25.9 31.0 28.4 28.1 253 23.9 18.6

=4 (107) 35.7 25.6 27.8 18.7 29.1 25.1 24.2

= (100) 28.5 31.4 35.7 17.9 29.7 26.7 24.3

e (101) 29.9 22.7 325 22.9 28.6 23.7 19.7

45 (145) 32.1 28.4 23.3 22.9 27.0 25.6 21.8

a4 (187) 29.3 24.8 27.0 22.3 29.3 225 22.6

Xz (34) 51.1 30.3 29.5 26.6 25.0 20.4 13.5

st =& 0ot 61) 16.7 14.6 32.4 17.1 23.9 16.4 17.8
A ISSHY Ts/EY (589) 26.4 26.1 32.9 19.5 31.4 31.7 23.4
= oietw Oy (2,112) 34.1 33.0 24.2 27.6 24.0 23.3 22.6
3002t OJ2t (862) 31.56 29.9 29.4 23.6 24.2 25.7 21.9
300~5002H4 O]t (885) 32.1 30.2 25.7 26.1 27.7 24.7 23.6

7745 | 500~7002H 02t (503) 34.8 31.2 23.6 22.6 25.6 253 23.1
700~1,0002t3 0|2t (356) 34.3 34.9 21.7 27.7 23.9 24.9 23.9
71,0002t 04 (156) 22.0 34.3 30.2 39.6 24.4 20.1 17.3

2ails | el =3 (2,528) 32.5 31.3 26.5 26.6 26.1 253 22.9
arE | 3 28 (233) 27.4 28.9 23.5 14.8 19.3 20.9 20.3
24 | QX (2,267) 32.3 32.2 24.9 26.6 24.0 24.3 22.7
QIX|AL | OJQIX| (495) 31.0 26.1 32.1 21.4 32.8 27.5 22.2




H3E ZAHEAL 24

01& Hx|

(=T
o | SN

(@) i

=
HA (2,762) 22.0 14.4 12.7 10.6 10.4 1.6
Ny | 59 (1,384) 24.0 15.7 12.8 11.6 11.0 1.1
°= oy (1,378) 20.0 13.1 12.7 9.6 9.9 2.2
15~19A (146) 11.9 15.1 16.4 6.4 55 0.2
20CH (464) 13.5 16.0 15.9 4.6 5.0 0.4
orzgry | 30U (445) 20.6 16.9 14.2 10.2 9.8 1.5
=<7 | 4o (520) 19.2 13.0 12.7 7.0 8.6 3.2
50CH (618) 25.3 14.3 9.7 12.7 12.3 1.6
60CH 014 (569) 31.7 12.4 11.4 17.7 16.3 1.6
S0[EZR | (1,320) 22.9 15.0 12.4 10.2 11.0 1.4
R (252) 26.0 17.8 14.6 14.4 8.8 0.9
FalaE (426) 22.4 12.3 12.5 11.4 11.4 35
Y| K (206) 28.4 13.2 11.8 13.7 10.5 1.9
Sl (260) 12.4 13.2 16.2 4.7 4.4 0.4
25| (160) 17.0 17.5 10.7 7.3 16.1 0.0
7|Et (139) 19.8 10.0 11.0 15.2 10.5 3.4
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20224 22pt U= 2 AKX ZAL

H 3-1-30] 22t U= 2 712 FHolg @

AR

TR (2,762) 22.0 14.4 12.7 10.6 10.4 1.6
- S /TolA| (1,208) 21.2 14.8 12.3 10.2 1.5 1.9
T HEYA (1,554) 22.7 14.1 13.1 10.8 9.7 14
PN=F (1,333) 21.6 14.4 12.5 9.0 10.3 2.4
=3 (302) 20.9 13.1 11.8 11.3 10.4 1.3
e ANE (716) 22.1 15.9 13.2 12.5 11.0 0.7
et (285) 23.3 11.8 12.3 12.1 9.4 0.9
Le/HEH (124) 25.6 14.7 16.6 10.9 11.0 1.0
e (483) 20.5 14.1 11.0 8.2 10.3 3.6
SA (180) 21.3 16.1 10.2 12.3 14.4 1.0
k] (129) 22.3 17.2 16.8 12.2 9.2 0.0
oI (171) 23.7 16.5 13.2 9.3 15.2 0.5
=S (85) 22.6 7.7 9.8 13.8 9.7 0.7
sl (85) 20.2 15.9 16.6 10.9 12.5 1.6
St (77) 17.2 14.6 13.7 12.1 8.4 1.2
ITES (1) 18.9 13.6 12.3 11.1 12.4 25
x| A (680) 21.9 14.1 13.3 9.5 9.2 2.1
2z @1 25.1 14.0 16.8 12.1 12.3 0.9
=9 (89) 20.2 13.6 10.1 12.0 9.5 0.7
=4 (107) 22.6 10.5 9.3 11.0 9.0 1.3
e (100) 24.2 15.2 15.0 9.4 10.9 0.0
e (101) 23.0 11.9 11.7 13.4 7.7 2.1
PeC] (145) 24.6 19.1 11.1 12.3 13.0 0.9
A (187) 22.9 13.0 14.8 13.2 8.4 0.4
HE (34) 27.1 16.6 15.9 7.8 7.7 1.3
sy | BE Ol 61) 17.9 21.6 17.3 9.5 15.1 1.3
T | DssM xsl/EY (589) 26.1 15.7 14.0 14.4 10.7 1.7
TE st oAt (2,112) 21.0 13.8 12.2 9.5 10.2 1.6
3002H O]t (862) 19.0 15.8 15.3 11.3 10.0 16
300~500%tg D8t (885) 24.4 15.7 11.2 11.8 11.6 1.9
JlFAS | 500~7009F O]t (503) 24.3 9.8 9.3 9.3 9.3 1.2
700~1,0002t D2t (356) 21.0 15.0 13.8 8.4 10.4 1.9
1.0008t% OJAf (156) 20.1 12.3 16.0 8.8 9.8 1.1
250 | B =2 (2,528) 22.1 14.0 12.7 10.8 10.1 1.7
R VN (233) 215 18.5 12.7 7.6 14.6 1.2
2u | oIx| (2,267) 20.7 13.1 12.3 9.5 8.7 1.8
QIXIXL | DJQIX| (495) 28.2 20.3 14.8 15.3 18.6 0.8

70



(o]

7t Lt J|EIAY ks

HI3Z ZAREn 2M
013 M|

=
= M-
o 25}l 2 7IENQ DRI QS OETRE USE 25U} s 20 74.2%2 T £1, TSH
2517k U H(73.0%), ‘BB 2317t U H(72.1%) S 202 LIEtH
8 OLS6.9%), HEE 600 ORI, TRIE NROTT), SIE AEE 8 016887, TS
& 700~1,0008+ |:||Df(8‘] 8%)()1|A ‘BI23 25} Qle 0| A LIER,
- MY EY/BYN(78.1%), HUE +EZH(76.7%), XGE HH(83.5%)00A E2@ 2aPt U= 20| 7
LtEH.
|72 3-1-12] 2Pt Q= D 7|21 OtEE
XTIEfR! M2t (Base=7|8MQ] ZIOIR, n=2.762, T2l : &)
USE 2ap} ol o 4
TZAE 2apt e o 71
4 & 2ol A 11
oTkE 2apt ol 685
Ao=st 2= E4at 641
Ssjo| 7 2apt U o 632
Rli20fsi2t 25pt 9k o

RSsi Sap ol o
B0
A 02
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2022'4 E=Pt U= 2 2K AL

pNI=)
=

=A | Kiei2at
EIES
S 43t

= =

TR (2,762) 74.2 73.0 721 71.1 68.5 64.1 63.2

g | B8 (1,384) 71.7 70.0 71.0 70.8 64.2 64.8 62.8
°= oM (1,378) 76.9 75.6 73.1 71.3 72.7 63.3 63.6
15~194 (146) 72.0 74.7 58.2 64.2 55.4 70.4 69.5

20CH (464) 74.5 73.6 72.8 79.4 61.6 74.3 73.5

oraary 30cH (445) 70.9 75.9 69.3 64.9 66.6 60.0 72.4
-° 40rH (520) 68.8 68.8 75.6 66.0 79.7 65.1 54.7
50CH (618) 77.4 70.2 71.6 73.6 71.5 61.9 58.9

600 04 (569) 78.3 76.4 74.0 71.7 63.9 62.2 52.7
Sl0|EZ2} (1,320) 73.9 75.3 72.6 72.0 70.1 66.8 62.8
=5zt (252) 66.8 64.7 72.4 67.9 67.4 57.0 75.7
== (426) 69.3 63.2 68.6 71.2 71.7 58.1 53.6

Y| A (206) 91.7 78.2 70.9 67.1 73.1 62.2 63.4
Sk (260) 78.6 78.9 78.8 76.0 60.3 79.3 75.6

23 (160) 67.5 72.6 62.3 74.6 62.3 58.2 37.6

7|Et (139) 72.0 74.1 78.5 65.5 55.0 61.3 64.6

P SE8/49A| (1,208) 78.1 73.0 70.8 72.8 70.6 62.4 67.3
T | HIZOA (1,554) 70.6 73.0 73.3 69.7 66.7 65.4 60.2
L (1,333) 76.7 74.0 72.4 71.9 72.6 64.0 65.6

SHH (302) 66.2 72.5 69.6 76.7 70.0 72.5 72.2

o | AMH (716) 73.4 69.8 71.9 67.9 64.8 61.3 56.2
et (285) 73.0 75.4 73.0 69.9 64.6 66.5 65.0
JHE/HEH (124) 69.5 75.8 74.8 70.9 53.0 57.1 56.9

N (483) 80.7 73.4 69.0 77.6 72.0 60.4 78.4

st (180) 80.9 74.4 67.7 70.2 71.4 54.0 51.7

CH (129) 77.7 67.4 65.8 61.8 60.8 57.8 56.9

i (171) 79.1 73.8 79.0 70.6 70.9 63.8 55.8

gF (85) 64.0 73.6 72.4 72.6 71.0 66.3 67.4

CHH (85) 68.4 77.7 69.2 74.9 76.1 78.7 78.7

=t (77) 69.3 67.8 79.5 71.1 75.3 76.2 69.2

e (21) 57.1 77.7 67.9 63.7 61.5 69.2 52.2

X | F7) (680) 72.3 74.6 73.0 68.1 73.6 66.4 60.5
By 91) 68.1 70.3 76.7 69.1 48.4 57.5 57.1

= (89) 71.9 72.1 73.4 78.9 77.9 61.8 69.9

Ex= (107) 61.2 65.3 68.1 78.2 63.9 76.4 70.4

= (100) 71.4 73.2 62.0 65.4 66.2 69.1 64.3

e (101) 83.5 78.9 83.8 72.2 56.4 64.1 64.4

4= (145) 69.3 74.9 77.0 84.3 58.3 62.9 65.7

a4 (187) 65.3 63.2 74.2 54.0 60.3 63.7 48.2

e (34) 72.7 83.0 71.3 76.6 72.9 55.5 56.2

sy | o= Olot 61) 88.7 51.5 73.2 62.0 57.2 71.2 65.3
e | OSSR/ EY (589) 66.6 68.3 61.2 64.5 70.0 60.1 60.8
T | e oy (2,112) 75.7 74.3 74.5 73.8 68.3 65.4 63.8
3002+ 0|2t (862) 67.4 67.5 66.8 65.1 62.6 55.9 62.9

! 300~5002+ 0|2t (885) 78.0 72.8 73.5 69.4 66.8 64.6 61.1
= | 500~7002t 0|2t (503) 71.8 73.4 72.9 76.3 73.0 66.2 70.3
~ | 700~1,0009t¥ Djot (356) 81.8 84.2 78.5 79.0 76.8 73.6 61.3
1,0002H Of4f (156) 78.0 72.8 76.3 81.4 77.7 77.6 63.5
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HI3E ZAIE 24

01& Hx|

(Base=7 [2IME HOIKE, HH2 1 %)

Hx| (2,762) 63.1 61.1 58.5 56.0 52.9 74.5

g | B8 (1,384) 61.8 61.0 57.5 57.3 53.7 57.6
°= oy (1,378) 64.7 61.2 59.6 54.5 51.9 82.7
15~194 (146) 62.4 58.1 60.4 64.3 87.0 100.0

204 (464) 68.8 66.1 49.0 59.9 27.2 100.0

oraary 30cH (445) 56.6 52.7 61.6 64.5 54.7 75.0
-° 40CH (520) 65.3 58.5 52.6 45.6 443 86.8
50CH (618) 62.2 61.2 56.6 53.9 50.8 78.6

600 04 (569) 64.2 65.6 62.5 53.2 61.4 42.3
S10|EZ<e} (1,320) 63.5 63.4 52.2 56.3 49.3 68.7
=5zt (252) 59.5 55.1 70.0 56.7 72.0 100.0
== (426) 61.0 58.4 67.6 54.2 60.2 87.2

Y AEY (206) 66.6 64.4 68.7 63.9 51.2 44.0
Sk (260) 73.4 67.5 58.2 66.4 63.8 100.0

= (160) 59.8 44.8 36.0 40.3 36.6 0.0

7|Ef (139) 59.2 67.4 56.5 47.8 57.1 64.8
P SE8/49A| (1,208) 62.5 63.4 53.5 56.4 54.0 85.2
T | HIZOA (1,554) 63.6 59.4 62.1 55.7 51.8 63.5
L (1,333) 64.2 61.8 62.3 57.5 49.6 64.7
=8¢ (302) 56.3 58.1 69.6 57.3 55.3 100.0

oY | EdH (716) 61.3 62.9 50.2 58.0 54.1 100.0
et (285) 66.8 60.6 58.3 43.6 63.0 100.0
JHE/HEH (124) 68.3 54.9 51.1 48.3 53.3 100.0

M= (483) 62.3 59.8 58.1 56.6 52.9 80.4

st (180) 58.2 65.7 55.0 57.7 62.2 100.0

Ch7 (129) 75.9 62.3 61.7 66.2 51.1 0.0

i (177) 63.7 69.7 40.8 53.2 47.1 100.0

gF (85) 65.9 63.7 47.9 49.0 67.2 100.0

CHH (85) 40.4 57.7 64.6 46.8 47.2 100.0

=t (77) 67.2 71.4 345 57.0 58.0 100.0

e 1) 55.2 51.9 68.1 57.2 59.3 100.0
R (680) 65.7 60.9 70.3 59.5 47.9 43.3
By 91) 66.8 51.1 42.8 46.9 53.3 100.0

= (89) 55.2 70.4 61.3 54.1 60.8 100.0

Ex= (107) 68.6 49.4 81.3 73.2 58.2 100.0

™= (100) 62.9 61.2 49.2 435 72.0 0.0

e (101) 715 57.4 73.6 40.9 46.2 100.0

4= (145) 60.7 77.9 441 64.8 55.9 100.0

a4 (187) 53.0 471 49.1 435 39.5 100.0

e (34) 72.1 65.6 85.8 51.4 53.5 100.0

sy | o= Olot 61) 53.8 52.8 75.2 55.7 65.6 100.0
e | OSSR/ EY (589) 54.9 55.5 52.2 46.5 50.6 81.3
T | ofst o (2,112) 66.2 63.5 60.7 59.1 53.0 71.9
3002+ 0|2t (862) 57.0 56.1 51.9 49.4 42.7 74.2

! 300~5002+ 0|2t (885) 64.2 60.8 63.6 53.6 52.8 73.6
= | 500~7002t 0|2t (503) 61.1 60.6 69.7 62.5 57.9 100.0
~ | 700~1,0009t¥ Djot (356) 76.1 73.2 63.2 67.0 70.9 72.2
1,0002H Of4f (156) 64.9 71.0 17.5 73.5 52.3 0.0
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20224 23
3. 2Pt U= 712N ETE Ol
o 257t Qe I 7|20 TSt 20 0|R0 B 1&=fl= ‘UE0| CUSHK| 20kA (871) SEO| 7+ 20|
LIEfGOH, ‘T2 08 & JFO0IA'(27), ‘F0 7ts 7|2 BOtA'(271) =22 LIEHH.
- B8 229 WE/YR 2 (47), EO Jts J1ZF WO (4Z), ‘MM HE &7 HHYUM (3H), U HF
ES/M2(1) == LiEd.
|73 3-1-13| 2abt = 2 712N 2= 0l @
X AR| 370 M (Base=7HE 7|2MY =2IE SHAL n=(), ©?l : %)
=002 AH00|3
(13) 20
®
50.2
428 409
EE MM EE ] A ks 7R A0 ks 7R WS/PRI 2H LS CIUSH
70| ROpA G O O Q20tA
|72 3-1-14] B3P} UE 2 7IENY 2US 0% @
(Base=7Hd 7|2M] 20HE SEAL n=(), U2l : %)
AAZs2EH= ASE &
S48 25Es XY
@7 (19
®
50.0
404 404 379
Lig CI¥okK| &0 7Is 71t WE/IX] LiE CIoIR] AN F& 7| WS/
201 0 W = 2201A G =1
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HiB% ZAHZu 24
01% |

|Z18 3-1-15] 2Pt QU= 2 712 2R 0IR ®
(Base=7Hg 7|2MQ] 2= SEAL n=(), H?I 1 %)

INE: Sl
o= KH=slof 2
() (17)
®
50.0
I I I 1
Lig CRGIR| &0 7ts 71zE WE/R| g CIRIGIK] MM FE &7 &0 715 712t
240N au'o N =d C40PA] (G ZOPA
|Z13 3-1-16] 23t e & 712N 20 0lf @
(Base=7H 7|2MY 205 SEAL n=( ), T2 : %)
Bi=at o
9 32
[ }
5.4
404
327 31.8
LiE CIfoFK| WE/?X| AN FE QU] UE OUSKK| &¢ Jis 7Rt WE/?X|

PHOpA =4 Ofe 20N eu'O tA =4
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20224 22pt U= 2 AKX ZAL

|Z1E 3-1-17] 2Pt QU= E 7IEMY 22E 0If ®

(Base=7HE 7|2M) STF SEAL n=(), Tl : %)

SSTAE S N s
37 (24)
®
51.0 e
409 402 380 . 6.1
0 7ts 7Rt WE/?X| L= CIRIGIK| D2 &= WE/IX] LiE CIRIGHK|
THO A =1 240N HOEA = RN

|72 3-1-18] B3Pt U= o 71EMY EUE

0
(Base=7if2 7|ENR] SR SEX, n=(), B9 : %)

N =22 7)
? 580

390 400 %2

447 298

LE Tfotk| Ml 82 &V 0 7is 7R UE CiRMoRl 23 UF oM Z= V)
BOpA OfeN B0 20 HE/HE OfeN
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H3E ZAHEAL 24

01 T

V. 32 H A =it

1. 2Pt U= & 32
® 237} Qe 20f T3t BAUEE E2 AS0IX/2E Cha O & US'0] 48.3%2 7MY &1, ‘2 H=0|
0 SE5| e H AUs5G4.4%)", ‘M=ol FHXILE FF Y0 2H7t US(4.5%) 52 =22 LIEH.
- g GH48.6%), A1 30H(56.3%), MY SI0|ELRKE3.6%), B2 A+FE CfSH OW(E1.7%), 717ASH
700~1,0002K DI2H51.1%)01A “S2 FIZOIXIZH Cha ORI & US'0l | LIEH,
- P SEH/ZUNGB.8%), HHY STH49.2%), X SAHE5.5%)00H FS MZOXSt T o2

UZ0] FH LE

ol

b

|78 3-1-19] 2Pt e & 3d=

(Base=%ixl, n=7,000, ©2| : %)

483
344
12.9
45
—
E2 H=o|o} £ HIZOIXR RI=2| FRILE FEEE
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20224 22pt U= 2 AKX ZAL

78

H 3-1-34| 8Pt U=

AR

(&)

Z2 M=0|H
E&o| 7t
He
(2/\=]

HI=o] FX|Lt
FT ol

ZAPH U

(Base=ZIH|, T2 : %)

TR (7,000) 34.4 48.3 45 12.9
P42 Eg/2A| (3,054) 34.9 48.8 4.5 11.8
T HEYA (3,946) 34.1 47.8 4.4 13.7
PN=F (3,613) 34.1 49.2 4.6 12.1
=XH (741) 33.9 48.5 4.1 13.5
e ANE (1,699) 34.0 48.0 4.7 13.3
et (652) 38.1 43.6 4.1 14.2
Le/HEH (295) 32.9 47.8 3.8 15.5
e (1,323) 32.9 51.7 4.7 10.7
SA (447) 33.5 49.7 5.3 1.5
7 (322) 39.6 43.6 4.1 12.7
oI @11) 37.9 44.5 45 13.1
=S (196) 38.7 42.2 4.1 14.9
sl (200) 37.1 46.1 3.1 13.6
St (155) 30.2 55.5 3.7 10.6
ITES (51) 325 50.9 5.5 11.0
XY A (1,879) 34.2 48.5 4.5 12.8
28 (204) 32.9 49.0 3.6 14.5
=9 (214) 35.8 46.5 4.2 13.6
= (276) 30.5 51.3 4.5 13.7
e (227) 36.7 45.4 4.0 13.9
e (229) 39.1 43.0 4.1 13.8
z= (338) 34.2 46.4 3.6 15.9
A (437) 31.8 48.2 5.6 14.5
HE 1) 33.0 45.3 4.2 17.6
sy | BE Ol (172) 39.7 34.0 4.6 21.6
T | DssM xsl/EY (1,582) 37.2 38.3 35 21.0
TE st oAt (5,246) 33.4 51.7 4.8 10.1
3002t Ojgt (2,433) 35.1 44.4 45 16.0
300~5002H 0|2t 2,117) 32.7 50.4 4.7 12.2
JIFAS | 500~7002H OJgt (1,196) 35.1 495 4.5 10.8
700~1,0002t D2t (833) 34.6 51.1 4.4 10.0
1.0008t% OJAf (420) 36.4 50.6 3.2 9.7
250 | B =2 (5,763) 36.9 50.3 4.3 8.5
TASE | B U2 (1,237) 22.8 39.0 5.1 33.2
2.4 | Ix| (4,634) 37.2 51.0 4.1 7.6
QIXIXL | DJQIX| (2,366) 28.9 42.9 5.2 23.0




Sap7} U=

® (1=9) 2=/t A
UEo=E ATAl & KUK of& &§(22.9%), ‘23t U= 2 G2

H3% AL 24
018 HH|

-

M= 7HdoHoF & H

| =
[

S =0= LEtd.

o —

- N8 04(26.7%), AZH 60CH 01&4(31.8%), XY TUFE(34.4%), NBYUB4.4%), &8 &8 IS

et/ ER(26.4%),

=1 UEE.

7MASE 700~1,0000HH O[2H26.2%)0A ‘202 QHIE figt & =7t =2 LIEHE.
- JFpd SE/E9M(26.1%),

S X JHAIBHOE & Mo 2= ‘ma2 )2 ot

—

i
40
rol
O

2SI 7L 24.0%2 JHE =1,
JAI/R7| B2 & 0rE(19.1%)’

ox

ol

=T

D.E el

AL +=7(28.5%), XGE B71(28.9%)0H ‘T2 QIS 9ot 82 7t

® (1+2z9) B3Pt U= & = JHdsHor & Ho2= ‘T2 07 oIS I3t 8 ST 7 46.5%2 7HY &1
SlE 2ITH(38.0%)", ‘2al7t U= 2 FY A/ZE7| El2 M= 0HA(34.1%) S

o | —_—
f CREHEUES

oz |__|.E|.L_r

1%‘ 019(48.4%),

S

o=

6OCH O[AHE7.0%), Xl HMRUIFH(585%), aiz +3¢ ISsh Xsl/EY
(48 4%), 7+ASE 1,0002F 0[AK(50.8%)01 "Z202 QIS
ol SER(50.0%), X2 MSB(52.1%)01M ‘T2IY OHIS I3t B BiLf 7}

fAet B =AU 7L A LEHE.

- T SH/ZN(48.0%), h
%HI LIEFE.
|72 3-1-20] B8Pt U I M= HdsHor &t
(Base=E2517} QU= 2 M0 CHEt HHHNZO| Sl TR, n=4.591, B : %)
B 12 14222
m2R OKE SRt Bt Sl 0 455
AA| QU X[EIEK| SEH Sh = R4
2P} Qls J HY BA/ZY| Ei2 HiE 0R e 34.1
gol 2 S 5l 2 380
) Fo| m2 T S
S0 B =it
Rjejo] S92 SISt 718l 2R i
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2022'4 E=Pt U= 2 2K AL

H 3-1-35| 2apPt U= & M= 7hMaHor 2 H 129 @

(Base=25Pt QU= & M0l CHRH ZHIARION QU= SEA, ©91 %)

=2 Us 2

g2e ZA/Z7|

D273 OHKE |ATA| 2 XETK|

Bt B STy | Sl Y | 25 S0
| (4,591) 24.0 22.9 19.1 16.9
o | 2 (2,407) 21.6 23.0 20.7 16.7
°= oM (2,184) 26.7 22.7 17.4 17.0
15~19A (226) 21.4 24.3 13.7 23.1
20CH (702) 16.6 21.2 24.9 22.6
ot21ry 30H (831) 16.0 26.0 28.3 15.8
=< 004 (996) 24.5 24.4 20.5 15.7
50CH (1,023) 29.5 21.7 13.8 16.3
60CH OfAH (814) 31.8 20.4 11.4 13.3
slo|EZ2} (2,131) 20.6 21.5 26.0 16.2
st (432) 17.1 27.2 21.7 14.0
HMgzH (665) 34.4 24.0 8.8 14.8
x| RN (359) 34.4 23.0 6.5 16.5
SHA (414) 19.9 24.4 14.7 24.1
23| (358) 27.4 22.2 13.2 20.8
7|E} (231) 23.8 22.2 17.2 15.3
42 VRSN (1,989) 26.1 16.4 20.3 19.6
TS| HOIA (2,602) 22.4 27.8 18.2 14.8
Ao H (2,380) 28.5 13.6 23.4 18.3
! (489) 18.0 36.2 15.9 14.1
pii: P (1,120) 20.4 30.2 14.6 15.7
Hatd (403) 16.8 34.7 14.3 16.3
J/HEH (199) 19.6 36.1 11.2 14.8
N (889) 28.4 11.7 23.6 21.1
HA (297) 22.2 20.8 15.2 20.1
i1 (194) 28.8 21.3 15.7 17.9
OIN (255) 27.0 15.2 21.7 16.9
= (120) 20.4 22.7 18.0 21.6
CH& (126) 26.0 19.7 17.5 19.4
A (108) 17.3 27.0 17.8 13.8
N[ES (34) 20.4 31.4 19.9 11.8
x| A7) (1,237) 28.9 14.7 23.6 16.5
e (137) 18.1 38.5 10.8 145
=2 (137) 16.6 418 14.8 14.8
=4 (192) 13.3 44.0 15.0 10.6
N2 (144) 14.6 36.5 13.3 13.3
M (139) 16.1 430 12.2 14.7
A= (223) 17.8 454 11.0 10.9
ad (299) 16.3 35.1 15.0 14.0
NES 61) 23.0 30.7 12.0 15.4
imy | B3 Ol (104) 18.5 29.8 12.5 17.6
O DssM xiEl/EY (993) 26.4 25.3 14.3 15.8
TE st oAt (3,494) 23.5 22.0 20.7 17.1
3002k 0|2t (1,579) 23.3 22.9 17.5 17.9
e 300~5002+ O]t (1,424) 24.5 25.3 19.9 14.3
= | b00~7002r D2t (776) 235 226 18.0 17.7
| 700~1,0002t% 0|2t (545) 26.2 20.1 19.9 16.7
1.0002r OJA} (267) 22.7 16.5 26.3 21.9
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H3E ZAHEAL 24

01 T

I 3-1-36| 2aPt U= 2 M= 7hMaior 2 H 129 @
(Base=23P} QU= 'E MI=0Hl LSt JHUARIOl U= SEAL T - %)

EEEE

X7 o e
EE = 7|8 D2y sk
7 13
X (4,591) 7.2 49 :;, ’ 13
L (2,407) 7.3 5.3 . 5
CERES 7.1 45 3.8 .
e & ' 4.2 3.2 0.9
15~19A| (226) 9.1 12 = 09
o e o 3.7 2.9 1.0
30CH (831) 6.3 . 2 19
a3 (996) 6.5 5.1 .

o 5.8 3.8 1.3
50CH (1,023) 7.8 o8 38 18

60CH OfAf (814) 8.2 o8 = 1<
310|EZ2} (2,131) 6.9 4 1 5
CEEED (432) 6.7 5. . 26

rloix 7.2 5.2 4.7 .
HUFE (665) . % 47 o7
Y| XEY (359) 8.9 5.1 39 0.8
= e 5o 9 3.7 2.0
DX (358) 6.8 g.o 37 29
7|Et (231) 7.8 50 o4 1.2
Eb /3o A| (1,989) 7.5 .1 3.3 2
Ay e (2.602) 7.0 2.7 3 14
BN=E (2,380) 6.9 47 31 I
=53 (489) 6.0 47 12 08
HA | AAMH (1,120) 7.7 4-6 3.8 12
) o 05 5.6 42 0.2
U/ Mz (198) 8.3 . .7 0.2

5 7.2 3.1 3. .
NS (888) . ! 37 12
At (297) 7.8 2.4 4.7 13
Ch (194) 6.5 . 4 D7

Q1A (255) 6.1 '6 4.9 14
= (120) 7.6 2.8 49 "
Wb (126) 8.4 38 12 I
SAt (108) 12.3 62 10 09
ME (34) 5.5 = 4 X
X | A7) (1,237) 6.8 } 4 18

B 9.2 5.4 3. .
712 (1 37) a2

o 3.5 45 3.2 .
o o ' 5.3 4.8 0.8
Zt (192) 6.3 . 08

o 8 6.8 3.8 .
Fe (144) 9. 8 3 20
At (139) 7.5 g.o 28 08
ze (223) 6.4 . i 09
A (298) 7.8 28 6_2 i
Hiz= (61) 6.2 5.8 2:0 08

== 0[5} (104) 13.9 . o¢

32 S e 77 6.0 34 .
~ | IS IHsl/EY (993) . o

TE St ¢ 6.8 4.6 3.9 .
T | st oAt (3,494) . 16 3 1.4
3002t Ojgt (1,579) 8.0 o0 i 12
300~5000t% Dot (1,424) 5.8 o 34 1
7H 1 500~7000t% jgt (776) 9.1 o1 2 01
A5 700~1,0002+%4 Dot (545) 6.0 : .2 =
71,0002k OfAf (267) 6.5 3. .
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2022'4 E=Pt U= 2 2K AL

1% 3-1-87] 28P} U= & A= H6H0F & H 14249 ©
(Base==2lt QU= & MI=0i| CHE 7iIARIO] U= SEA, T %)
23} i o

S el FAI/|

o5t St i

ElZ M= O

TR (4,591) 455 38.0 34.1 32.4

e | EY (2,407) 42.9 38.2 36.7 32.2
°= | oy (2,184) 48.4 37.8 31.2 32.6
15~194] (226) 42.4 45.6 27.4 35.3

20CH (702) 35.4 45.9 46.8 32.0
- 30CH (831) 35.5 42.3 48.4 35.5
=S a0ry (996) 44.7 37.3 35.6 33.1
50CH (1,023) 52.9 34.8 25.6 31.8

60CH OfAf (814) 57.0 29.4 19.3 28.6
310|EZ2} (2,131) 40.8 38.9 44.1 31.0
=223t (432) 39.8 34.0 34.5 36.3
HMAF= (665) 58.5 34.1 18.0 32.0

Y| XY (359) 55.3 33.3 16.7 33.4
= (414) 40.6 46.3 32.4 34.7

2% (358) 52.0 40.3 27.6 33.4

7|Et (231) 45.4 36.9 27.4 31.7

Sy St /IOl (1,989) 48.0 41.8 35.9 24.4
TE | Himo (2,602) 43.6 35.0 32.7 38.5
PN (2,380) 50.0 415 38.8 21.3

=33 (489) 40.0 34.9 31.7 475

Y | AMNH (1,120) 40.9 33.8 28.5 41.4
FetH (403) 41.0 34.6 29.9 47.2
Ue/HFH (198) 40.0 33.7 23.7 47.3

e (888) 52.1 46.0 39.7 17.0

A (297) 41.9 40.2 29.8 29.1

Tl (194) 47.4 39.5 32.4 32.3

OIX (255) 47.8 34.6 36.7 24.7

oz (120) 45.8 40.4 32.4 35.6

bS] (126) 44.2 431 36.7 30.2

St (108) 39.1 33.7 28.9 38.1

MIE (34) 42.2 30.0 36.4 40.2

X | 2 (1,237) 49.0 39.7 38.6 23.8
ze (137) 38.9 33.6 23.6 49.8

1] (137) 33.0 36.1 30.6 55.8

=it (192) 42.0 29.6 28.4 54.1

M= (144) 40.1 32.7 30.4 49 .4

M (139) 37.9 31.6 27.2 54.9

ze (223) 38.8 28.7 23.2 58.8

a4 (298) 38.0 27.6 28.4 47.7

HZE 61) 42.6 33.9 23.8 415

s | BZ OB (104) 38.1 30.5 22.3 44.6
T DssM ael/EY (993) 48.4 34.8 26.0 35.0
TE st oAt (3,494) 44.9 39.1 36.7 31.3
300094 Oj3t (1,579) 42.6 39.9 33.2 34.5

= 300~5002+gd D2t (1,424) 46.1 35.7 34.4 33.7
"L | 500~7002¢ D|2t (776) 46.3 37.1 32.8 31.8
| 700~1,0002t% 0|2t (545) 48.6 35.7 35.6 27.9
1,000 OfAt (267) 50.8 46.1 38.2 23.4
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H3E ZAHEAL 24

01& Hx|

|5 3-1-38| 2aPt U= € M= JHAH0F & F 14229 @
(Base=25Pt QU= & M0l CHEH ZHIARION QL= SEA, ©91 %)

| (4,591) 16.4 15.8 15.7 2.2
e | HE (2,407) 15.9 15.4 16.5 2.3
°= oM (2,184) 16.9 16.2 14.7 2.2
15~19M| (226) 18.2 10.9 18.9 1.3
20CH (702) 15.2 10.5 12.1 2.0
i1ty 30H (831) 13.1 12.0 11.3 2.0
40CH (996) 16.3 15.2 15.6 2.2
50CH (1,023) 16.8 16.4 19.2 2.5
60CH OfAH (814) 19.5 25.5 17.9 2.7
slo|EZ2} (2,131) 15.5 13.2 14.3 2.2
st (432) 15.4 17.9 18.6 35
HMgzH (665) 17.6 21.4 16.4 2.1
x| RN (359) 18.1 22.5 19.1 1.7
SHA (414) 17.9 10.3 15.7 2.0
23| (359) 16.7 13.3 14.0 2.8
7|E} (231) 16.6 22.6 17.9 1.5
42 VRSN (1,989) 17.6 16.0 14.0 2.3
H|ZOIA| (2,602) 15.4 15.6 16.9 2.2
Ao H (2,380) 15.9 14.8 15.1 2.6
! (489) 14.3 15.4 14.5 1.6
Y | A (1,120) 17.8 17.7 17.8 2.1
Hatd (403) 16.5 16.2 13.2 15
J/HEH (199) 18.8 16.9 18.9 0.8
N (889) 16.4 14.7 11.6 2.6
HA (297) 19.3 18.0 18.5 3.3
i1 (194) 17.2 14.1 15.2 1.9
OIN (255) 19.7 17.6 17.2 1.8
= (120) 14.3 16.7 13.2 1.6
CH& (126) 17.0 15.9 11.5 1.6
A (108) 23.7 19.8 15.2 1.4
N[ES (34) 17.2 19.7 11.9 2.4
x| A7) (1,237) 14.8 14.2 17.1 2.9
e (137) 18.7 14.8 20.2 0.4
=2 (137) 11.5 17.2 15.0 0.8
=4 (192) 14.2 13.1 16.6 2.0
N2 (144) 17.9 15.0 12.5 2.0
M (139) 16.8 16.9 13.8 1.0
A= (223) 13.0 20.6 15.9 0.9
ad (299) 17.9 16.9 21.0 2.4
hS[ES 61) 19.1 21.5 16.0 1.6
2oy | B2 Ol (104) 23.0 13.5 28.0 0.0
O DssM xiEl/EY (993) 17.6 18.2 18.1 2.0
TE st oAt (3,494) 15.8 15.2 14.6 2.4
3002k 0|2t (1,579) 16.3 15.9 16.0 1.6
e 300~5002+ O]t (1,424) 15.3 15.4 15.9 35
= | b00~7002r D2t (776) 19.3 15.1 16.4 1.2
~ | 700~1,0009+ D8t (545) 14.9 18.2 16.7 2.4
1,000+ OfA (267) 16.8 14.3 8.3 2.1
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20224 25} QL= Lt OIX|T XA}

(1&%) =} YA = TG oES St 22t 25701 61.6%2 71 11, U5l=2= “Mad 549
=2t 85(23.1%), ‘22els S8t 25 #5(6.4%) 52 =2=F HEHH.

4o oln

- A O1(66.7%), 1 60TH OJAHE5.0%), X X(65.5%), B2 4£EE IS 01A(62.5%), 7
21,0000 OF&(64.4%)0IM ‘THUSt SlElS St 23 &80l =7 LEE

- PR S/ON(6A5%), B SEHEIE%), A MBE8 100N TYY HeE B8 23 S0
S Liepe,

o (1+229) 2aI8Q YAORE TIYF SIS S5t 23t 50| 81.5%2 /1 &1, [ISORE W
S0l 23t #5(61.2%), 224018 53 25 &S (23 2%) 59| £02 LiEky
- M OlN(85.4%), PZH A0CHE3.6%), HRH JIEHSA.1%), BT £FH CfEI 01AB23%), THASH

700~1,0002H24(83.2%), 1,0002+24 O|§(83.2%)01|*1 T See 53 238 E'0| & LEK.

[«=)

Ja!
ik

—

7l

- JEHY SY/BON(E3.1%), B STH(B2.9%), XN AS(85.4%)0IN TIUE GHES S5t 28t BE0|
=7 e
|72 3-1-21] 23[R WA
(Base=Z44|, n=7,000, &2 : %)
= 14229
e ———
Clefst siEtS S5t 25t 85 T
MeH Fhjo| 2ot gz M. 23] 510
s =5t o3 = M 64
eaole S5t 25t S -
TN NS ot 2ot mg TR ot 03 o,
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H3E ZAHEAL 24

01& Hx|

(

Base=1IA, =%l : %)

HH| (7,000) 61.6 23.1 6.4 5.3 33 0.3

e | B (3,564) 56.7 25.9 7.4 5.9 3.8 0.3
°= oy (3,436) 66.7 20.3 5.3 4.7 2.7 0.3
15~19A] (414) 61.0 241 7.3 3.6 3.9 0.2

20rH (1,148) 61.9 217 7.1 6.5 27 0.1
oreyry | 300 (1,172) 58.8 27.4 6.7 5.2 1.7 0.1
=<1 40ch (1,438) 61.8 25.1 6.0 4.2 2.5 0.5
50CH (1,526) 60.7 223 5.5 6.7 4.3 0.4

60CH OfAr (1,302) 65.0 18.9 6.6 4.4 4.7 0.3
310|EZt2t (3,150) 62.6 23.4 5.2 5.4 3.1 0.3
S22 (641) 53.8 27.9 7.2 6.9 4.0 0.3

b ES] (1,044) 64.2 20.9 5.9 5.0 3.6 0.4

= | XY (527) 58.8 22.6 8.5 6.3 3.6 0.2
ShAl (737) 59.5 243 7.8 5.4 27 0.3

21| (549) 65.5 19.3 8.7 3.1 3.4 0.1

7|t (352) 62.2 22.6 7.0 4.3 3.5 0.4
Mz SE8/49)| (3,054) 64.5 21.3 5.9 5.4 2.7 0.3
T HEYA (3,946) 59.4 24.5 6.8 5.3 3.7 0.3
PN (3,613) 63.5 23.3 5.3 5.0 2.7 0.2
XA (741) 58.9 23.3 8.6 4.4 4.4 0.5

Y | AMH (1,699) 60.0 233 6.8 5.9 3.6 0.3
et (652) 59.6 22.4 7.7 6.1 3.7 0.4
Z/HEH (295) 58.4 21.3 8.8 6.8 46 0.1

RS (1,323) 68.1 20.1 5.0 4.6 2.0 0.2

HAL (447) 64.0 215 4.9 6.8 26 0.2

=} (322) 61.9 19.1 8.0 6.0 45 0.5

QI @11) 615 24.3 5.3 5.8 2.6 0.5

e (196) 60.6 23.1 7.8 6.3 2.1 0.0

CH & (200) 59.1 23.2 7.6 4.1 5.3 0.6

24 (155) 59.5 23.0 8.4 6.3 2.8 0.0

e (51) 55.5 25.1 8.1 7.3 3.4 0.6

X | | (1,879) 60.8 25.3 5.5 5.1 3.2 0.2
28 (204) 60.1 18.8 9.1 7.3 4.7 0.0

== (214) 59.5 226 7.9 5.3 4.2 0.6

=4 (276) 58.9 23.6 9.9 3.4 3.9 0.3

= (227) 63.3 18.2 7.3 5.9 4.7 0.5

e (229) 55.0 26.1 8.1 6.1 4.1 0.6

Ll (338) 59.7 24.8 7.1 4.8 3.5 0.0

A (437) 54.9 27.2 7.1 5.6 4.5 0.7

Hiz 91) 54.7 26.8 8.2 5.7 4.1 0.4

sy | B3 0031 (172) 55.4 26.5 6.4 5.8 5.8 0.0
3| n=s xslEe (1,582) 59.3 235 7.4 5.1 4.4 0.4
T ohatm o (5,246) 62.5 22.9 6.1 5.4 2.9 0.3
3009 Ojgt (2,433) 59.4 24.7 6.4 5.7 3.5 0.3

1= 300~5009+ D2t (2,117) 62.7 223 6.4 5.3 3.1 0.3
'L | 500~7008¢¢ Ojgt (1,196) 61.9 22.9 6.2 5.3 3.2 0.4
= | 700~1,0009H D[gF | (833) 63.3 22.9 5.4 4.8 3.3 0.3
1,0002+2 04t (420) 64.4 18.9 8.7 4.4 3.4 0.2
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2022'4 E=Pt U= 2 2K AL

(

Base=1IA, =%l : %)

| (7,000) 81.5 61.2 23.2 18.5 15.1 0.6

| B8 (3,564) 77.8 63.0 25.0 18.1 15.6 0.6
°= oy (3,436) 85.4 59.3 21.4 18.9 14.5 0.5
15~19A| (414 78.8 58.9 27.3 18.9 15.7 0.5

20y (1,148) 79.3 62.3 24.9 18.7 14.4 0.4
oty 30CH (1,172) 80.5 68.2 22.0 17.8 11.0 0.4
== 4004 (1,438) 83.6 65.5 21.1 16.4 12.3 1.0
50CH (1,526) 81.8 56.4 24.3 20.1 16.9 0.6

60CH 04t (1,302) 82.6 55.4 22.5 19.2 19.9 0.5
S10|EZt (3,150) 82.7 63.3 21.0 18.8 13.6 0.5
S228t (641) 76.1 61.1 28.6 19.2 14.8 0.3
Miz=e (1,044) 83.7 55.4 22.9 20.9 16.2 0.9

x| XY (527) 78.3 57.3 25.1 21.1 17.3 0.9
= (737) 77.7 60.2 27.8 18.4 15.4 0.4

2| (549) 83.5 63.0 24.9 12.0 16.2 0.4

7|Et (352) 84.1 63.8 18.6 13.6 19.2 0.8
e Ed/ZoA| (3,054) 83.1 59.2 23.2 18.8 15.0 0.7
T HEYA (3,946) 80.3 62.7 23.2 18.3 15.1 0.5
A (3,613) 82.9 63.1 21.4 18.0 14.0 0.5
EX3 (741) 80.2 58.8 26.5 18.5 15.1 0.8

Y | ANA (1,699) 80.9 59.7 24.0 18.6 16.2 0.6
FetH (652) 78.1 58.5 26.4 19.4 17.0 0.7
L/HFH (295) 78.1 57.7 25.5 21.6 16.8 0.3

RE (1,323) 85.4 61.1 21.3 18.4 13.0 0.7

A (447) 83.2 62.9 19.0 19.1 15.3 0.6

k=] (322) 80.0 52.7 30.7 18.4 17.5 0.8

OIF 411) 79.8 57.4 26.9 18.6 16.7 0.7

ZF (196) 80.8 60.2 23.9 19.1 15.0 1.0

CH (200) 83.2 55.2 24.6 19.4 16.3 1.3

St (155) 80.3 55.2 22.4 21.2 20.6 0.4

NES (51) 83.8 64.8 25.0 18.6 7.2 0.6

X | A (1,879) 81.9 65.7 20.2 17.6 14.2 0.4
PALC (204) 80.7 54.7 26.0 20.1 18.2 0.3

1] (214) 77.9 56.2 29.3 20.2 15.8 0.6

= (276) 79.3 62.4 26.0 16.5 15.2 0.6

M= (227) 79.9 55.9 25.8 19.1 18.7 0.5

e (229) 73.9 59.5 29.0 19.9 17.0 0.6

z= (338) 81.2 60.6 24.6 16.6 16.7 0.3

Aad (437) 79.1 62.6 24.4 19.1 14.1 0.7

Hiz Q1) 72.4 64.6 24.3 24.7 13.5 0.4

s | B3 Ol (172) 72.8 58.9 29.9 20.4 18.0 0.0
o | 1= xelEY (1,582) 79.9 58.0 25.2 17.7 18.4 0.7
TE st oA (5,246) 82.3 62.2 22.4 18.6 14.0 0.6
3000t OJgt (2,433) 79.7 61.3 25.2 18.9 14.3 0.5

= 300~5002+4 02t (2,117) 82.9 60.1 23.1 18.5 14.9 0.5
(L | 500~7002¢s OJ2t (1,196) 81.0 62.3 22.3 17.4 16.1 0.9
| 700~1,0002tg OJgt (833) 83.2 64.5 20.7 16.0 15.1 0.7
71,0008k OJA} (420) 83.2 56.0 19.2 24.2 17.1 0.4
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7t
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* [

8 Mo
|'E| Lol

>

Pt U= E HIE Xg +ZEL=2=
((26.5%)", 2~32+2 0|2H(17.4%)" 52

gg 018(34.1%), AZE

AFE 50CH(34.9%),
700~1,00022 DJ2H34.9%)01A 1~22t2d DI2FO] = LIEHE.

- JZHEY H|ZA(33.1%),

2oy

[ =

= 2 HIE X2 &

o
2
=
A
.

£E3(33.2%), X

|72 3-1-22| 2abt U=

174

o =

S HIg X2 43

St

i |

“1~20t 0|2 0] 32.6%2 7t =
O LIEHS,
e J|EH37.9%),
a

AXHEH
TEZ C

-

H3E ZAHEAL 24

01 T

(37.0%)01M “12F&~223d DJ2FO] =2 LEH.

(Base=%IR, n=7,000, &% : %)

4.6
I

30
—

NEI

&)

22330
ojzk

|2 3-1-41] 2Pt U= < HIE X

3otR-40ted
ojgt

= AR
= T

43194 Ofy

AEolt 8

(Base=Tixl|, ™2 : %)

KIZ2IAt

He
=7 =]

| (7,000) 7.0 26.5 32.6 17.4 8.9 46 3.0
Ny | B9 (3,564) 75 24.0 31.1 18.1 10.0 5.7 36
= oy (3,436) 6.5 29.1 34.1 16.7 7.9 3.4 2.3

15~194] 414) 11.7 30.4 30.2 13.7 6.7 2.3 5.0

20CH (1,148) 5.7 29.6 30.5 18.1 95 4.3 25
orayry | 300 (1.172) 6.8 25.8 34.0 16.5 9.2 5.6 2.1
== a0y (1,438) 6.1 24.5 30.3 18.9 11.7 5.4 3.1

50CH (1,626) 5.9 25.2 34.9 18.9 7.7 4.8 2.6

60CH Ol | (1,302) 9.0 27.1 33.6 16.6 7.3 3.5 3.8

sl0|EZ2t | (3,150) 5.5 25.0 32.4 195 10.2 5.8 1.6

s2zat (641) 7.6 24.2 30.1 17.1 113 5.2 46

S[ESC] (1,044) 7.8 28.4 36.0 15.9 7.2 22 2.6
oy | X (527) 7.3 22.9 34.3 148 9.0 6.6 5.1

ShAY (737) 7.7 33.3 28.8 14.9 8.4 3.0 3.9

=P (549) 1.5 32.0 30.2 13.1 4.1 3.0 6.2

7|Et (352) 7.8 21.4 37.9 20.4 7.1 2.2 3.2
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20224 22pt U= 2 AKX ZAL

H 3-1-42| 28Pt U= E HIB Rz &

(Base=TA, HI © %)

AR

(&)

A (70000 7.0 265 326 174 89 46 30
sma | 2/ (3054) 67| 272 319 172| 92 48| 28
7| AN (3946) 72| 260| 331| 176 87 44 3.1
S 3613 62| 257| 32| 176 97| 51| 26
37 (741) 75, 275, 318 178 81 39 34
Y| ZuA (1699 73| 283| 323| 168 79| 41| 34
Hat 652) 94 254 317 187 75 43| 29
22/ HE (95 78| 272 311 156 116 30| 37
Mg (1323) 7.0 266 313 164| 108 57| 23
S (447) 65, 333 306, 155 78 33| 30
Ch (3220 57 289 348 157 62 49| 38
oIF @11) 56 229 338 211 92 47| 27
yx (19) 72 267 307, 198 69 39| 49
Ch 000 71| 276 324 172 91| 31| 34
S (155 84 237 319 183 96 59 21
Mz 61) | 57 355 276 127 106| 59| 20
x| | (1879 59| 256 344 176 90 48| 28
28 (204)| 69 257 | 326 168 115 26| 39
= (14) 72 266 343 155 87 35 41
a4 (276) 83| 266 302 208 63| 44| 33
T (227) 94 248 370 166 72| 37| 13
Het (229) 114 249 275 200 82 52| 28
= (33)| 82| 249| 347 171, 81| 38| 32
A 437) 81, 270 304 181, 83 41| 40
Az ©) | 100 303 278 129 119 39 3.1
o | B Ol (172)| 182 257 | 237 118, 82 29| 95
N | DS ASYEY | (1,582 | 80 299 313 152 76 34 45
T | ofsta o (5.246) 63| 255 332 183 94 50 23
3008r®! Ojer (2433 108 312 310 135| 56 29| 49
300~5002K% OBt | (2,117) 56 262 339 194 101 40| 18
JIBAS | B00~7008t% OjBt | (1,196) | 44 264 333 199 110 36| 14
700~1,0009+2 D2t | (833) 38| 194 349 205 113 83| 18
1,0008t8! 0J4} (4200 56 207 284 174 117 122 43
230z | BH &8 (6763 61| 268 332 179 95| 49| 16
HUSE | Y WS (1237) 1.2 251| 295| 154 65| 29| 94
24 | olx| 4634) 60| 273 340 179| 88 45| 15
QIXIR | DjoIx] (2366) 9.0 251 297 165| 92| 48| 57
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HRE =AY 24

01 T

V. =P}

M

1. 2=F8RE Hol= x|

o (159) 25i0] U3t YRS 32 Yot WHZE TV@ETIPTV) 7} 47.0%2 718 51, O
‘LEALO|E(17.7%), “HIAIE SNS(H|0]
-4 N@T5%), R 60Th ORY(E9.2%) .
(65.5%), 7}ASE 500~7002H2 O2H50.2%)0MA TV(SSTH/IPTV) 7t & LIRS,
- 7Y H|ZHA|(48.3%),
® (1+2a:9)) 25i0] et S F2 H3}
‘LEIAO|E(39.6%), SHA

SEL

o=

- 82 E8(59.0%),
(65.5%), 7t7ASH

rir

= 32 A

—

o
0
Hu
E

AL OIAEIE)(10.3%) SO 202 LiEf.
Xl Xoi=H

Kl

St He/EY

A HRLA(51.4%), XS HH(E6.0%)0M TVEST/IPTV) 7 &4 LEF.
HMZ2E TV(ESI/IPTV) 71 58.3% 2 71& =11, [1202=

SHE(REE, HOIHTV)(25.2%) S =22 LIEtE.

60CH 0|AK(77.6%),

=
[

xop

AFL(69.0%), 812 4+z¥ nSstw X/EY
AEH 500~7002H O|2HB2.1%)HA TV(SSL/IPTV) 7t =2 LEL.
- FHE HZIA(59.8%), HIE H

21EH(62.0%), X998 ME(64.8%)01M TV(RELL/IPTV) 7t =7 LIEfS.

|77 3-1-23| EHEE Fot=

= HOoIC DHi'H
e (Base=7IAl, n=7,000, T2 : %)
RS 1+2&9]
583
47.0
396
i 03 95 - 130
| | 41 24 73 2168
g = = O .
v ZIAOIE  ZNH SNS SSHEME  ORIK SNS  ZHRMIE  ME/AEX &
SSI/IPTV) MolAS,  ®FEUOIH  CPIRS, =220 E
QIAE}TZH) ™) 2iel)
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2022'4 E=Pt U= 2 2K AL

N HI-ALK

TR (7,000) 47.0 17.7 10.3 9.5 4.1

JN =i (3,564) 47.5 185 8.3 10.6 4.1

°= oy (3,436) 46.5 17.0 12.3 8.2 4.2

15~19A| (414) 30.9 7.1 27.4 13.8 7.1

20y (1,148) 25.0 18.4 21.7 14.1 7.4

- 30CH (1,172) 33.2 21.4 15.8 12.5 5.4

== 4004 (1,438) 48.3 22.3 5.9 7.9 35

50CH (1,526) 58.4 18.8 3.1 7.9 2.1

60CH 04t (1,302) 69.2 11.0 3.1 4.9 2.3

S10|EZ2t (3,150) 44.9 21.7 9.6 8.0 4.3

=223t (641) 55.4 13.6 5.0 8.0 5.7

Miz=e (1,044) 57.8 14.4 6.2 7.2 2.4

Y | A (527) 53.5 14.2 7.3 12.1 3.3

= (737) 27.3 12.5 25.3 16.1 6.8

2% (549) 47.8 15.9 11.1 13.5 2.7

7|Et (352) 48.7 19.4 9.1 7.8 2.8

Sz | SE/EOA (3,054) 45.3 18.3 11.0 9.4 4.4
=3

HIZSA| (3,946) 48.3 17.3 9.7 9.5 3.9

PN (3,613) 44.9 19.9 10.4 10.1 4.3

=33 (741) 49.4 18.0 7.7 9.9 3.8

Y | BNA (1,699) 48.2 14.6 11.1 9.1 3.7

et (652) 51.4 14.8 10.4 6.7 4.8

Ue/HFH (295) 50.4 15.0 9.6 8.9 3.8

e (1,323) 43.0 20.2 12.0 10.2 4.6

A (447) 45.7 16.5 10.8 8.2 4.6

k=] (322) 46.5 14.0 11.6 8.8 3.6

OIX 411) 48.8 17.7 8.4 8.7 4.5

oz (196) 455 17.7 12.4 6.8 5.1

CH (200) 48.1 19.9 8.6 11.0 3.7

St (155) 46.9 16.8 10.6 11.1 3.7

NES (51) 46.5 16.7 8.1 11.5 35

X | 2 (1,879) 45.3 20.2 9.8 10.3 4.0

U (204) 52.2 15.4 8.4 7.7 3.8

1] (214) 49.6 18.3 8.3 9.7 4.1

orl (276) 50.8 16.6 6.5 9.0 3.8

M (227) 52.0 14.9 9.3 7.0 4.1

M (229) 56.0 12.3 9.9 6.4 5.1

ze (338) 54.4 13.4 9.9 8.3 2.7

A (437) 47.6 13.4 12.2 10.1 3.8

Hiz 91) 46.2 14.0 12.4 11.4 3.8

s | B3 O3 (172) 45.2 5.9 17.3 10.8 7.3

T DssM ael/EY (1,582) 55.5 1.1 8.4 9.3 4.2

TE st oAt (5,246) 44.5 20.2 10.6 9.4 4.0

300%r Ojgt (2,433) 44.3 15.4 12.6 10.7 5.1

= 300~5002t94 02t (2,117) 48.1 18.1 9.8 9.5 3.6

= | b00~7002r D2t (1,19) 50.2 19.8 7.9 7.9 35

| 700~1,0002t% 0|2t (833) 48.1 20.8 8.1 8.5 3.1

1,0002t 0fAH (420) 45.5 17.6 10.3 8.3 5.1
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H3E ZAHEAL 24

01& Hx|

H 3-1-44| ZFELE Hols M 129 @

(Base=ZIH|, T2 : %)

| (7,000) 24 2.1 15 1.3 1.2 1.2
JN =i (3,564) 2.3 2.2 1.7 1.2 1.3 0.9
°= oM (3,436) 2.5 2.1 14 13 1.1 15
15~19A| (414) 4.0 2.1 1.2 1.2 2.1 0.9
20y (1,148) 3.0 3.4 1.7 1.8 1.3 0.7
- 304 (1,172) 2.4 2.2 15 2.1 1.0 1.3
=< 004 (1,438) 2.5 2.4 0.9 15 1.7 14
50CH (1,526) 2.5 15 1.4 0.8 0.8 1.3
60CH 04t (1,302) 1.1 1.4 2.1 0.3 0.8 1.1
310|EZtEt (3,150) 2.2 2.4 15 1.7 1.3 1.0
s271gt (641) 3.2 2.5 1.4 15 1.3 0.6
iz (1,044) 2.2 14 1.7 0.8 1.1 15
x| XY (527) 2.2 2.4 0.8 0.8 0.8 1.6
SHAY (737) 3.1 2.3 1.9 0.8 1.3 0.5
2| (549) 2.5 1.2 1.0 0.6 0.3 2.3
7|Et (352) 2.0 2.5 2.0 0.4 1.9 1.7
74 Ed /2ol )| (3,054) 2.8 2.2 1.6 1.0 1.1 1.0
HIZHSIA| (3,946) 2.1 2.1 15 15 1.2 1.3
A (3,613) 2.5 2.0 1.2 1.1 1.0 1.0
EX3H (741) 2.0 2.2 1.3 1.7 14 1.0
HY | AMNH (1,699) 2.6 2.5 2.3 1.3 1.7 1.3
et (652) 25 2.2 1.8 1.2 1.1 15
U /HEH (295) 1.3 1.4 1.2 2.0 0.8 2.6
RE (1,323) 3.0 1.9 1.0 0.8 0.8 0.6
A (447) 3.2 2.8 2.4 0.5 14 1.6
k=] (322) 2.6 2.7 2.6 1.9 1.9 1.8
oIM 411) 2.6 1.9 1.8 1.3 15 0.6
Zzx (196) 2.1 2.2 1.9 1.0 15 1.6
CH (200) 1.9 2.6 0.3 0.7 1.2 0.3
SA (155) 2.2 2.2 1.9 1.4 0.0 1.0
NES (51) 1.6 2.7 2.9 2.0 0.8 1.8
X | A (1,879) 2.1 2.2 1.1 1.3 1.0 1.3
PALC (204) 1.3 0.9 1.2 1.9 0.6 3.7
=2 (214) 1.6 15 1.7 15 1.1 0.6
=4 (276) 2.6 2.4 15 2.6 1.8 1.7
M2 (227) 3.8 1.8 2.0 1.8 1.2 15
e (229) 15 2.6 15 0.8 0.6 14
ze (338) 2.5 2.4 2.7 0.9 1.3 0.9
A (437) 2.1 2.1 1.6 1.8 2.6 1.2
S[ES (91) 1.2 2.5 1.4 2.1 1.3 0.0
im | BE O (172) 2.9 3.3 0.6 0.3 15 1.0
O ISsM xfel/EY (1,582) 2.7 1.7 1.2 1.3 1.2 1.2
TE st oAt (5,246) 2.3 2.2 1.6 1.3 1.2 1.2
300%r Ojgt (2,433) 2.6 2.2 1.2 1.4 15 1.3
e 300~5002+4 02t (2,117) 2.2 1.9 1.7 0.8 1.3 1.1
(L | 500~7002¢s 0|2t (1,196) 2.7 2.0 1.2 1.6 0.7 0.9
| 700~1,0002t% 0|2t (833) 1.7 1.9 2.4 1.3 0.8 1.2
71,0008 OfAt (420) 2.6 3.7 1.7 1.6 1.4 1.2
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20224 F=pt

92

U= E K| AL

H 3-1-45| ZFELE Hols M 129 ®

(Base=ZIH|, T2 : %)

25|/
E23|

T (7,000) 0.5 0.5 0.2 0.2 0.1 0.2

ey |2 (3,564) 0.3 0.3 0.2 0.2 0.1 0.2
°= oM (3,436) 0.7 0.6 0.2 0.1 0.1 0.2
15~19A| (414) 0.2 0.5 0.3 0.6 0.0 0.6

20rH (1,148) 0.2 0.5 0.3 0.1 0.2 0.1
orzyry | 30H (1,172) 0.3 0.2 0.5 0.1 0.0 0.0
=<7 a0ty (1,438) 0.3 0.7 0.3 0.1 0.1 0.3
50CH (1,526) 0.3 0.5 0.0 0.2 0.1 0.3

60CH OfAH (1,302) 16 0.5 0.0 0.3 0.1 0.1
310|EZt2t (3,150) 0.4 0.5 0.2 0.1 0.1 0.1
s27t3; (641) 0.6 0.1 0.5 0.4 0.2 0.3

b ES] (1,044) 1.3 0.8 0.2 0.4 0.2 0.4

= | XY (527) 0.5 0.2 0.0 0.0 0.2 0.3
ShAl (737) 0.2 0.5 0.3 0.6 0.0 0.3

DX (549) 0.3 0.6 0.0 0.1 0.0 0.1

7|Et (352) 0.7 0.0 0.2 0.0 0.0 0.8
S SEVEEN (3,054) 0.7 0.5 0.2 0.2 0.1 0.2
T HEYA (3,946) 0.4 0.4 0.2 0.2 0.1 0.2
N (3,613) 0.4 0.5 0.2 0.2 0.2 0.4
5 (741) 0.5 0.3 0.2 0.3 0.0 0.1

Y | AN (1,699) 0.6 0.6 0.3 0.2 0.0 0.0
Ll (652) 0.8 0.2 0.1 0.2 0.3 0.1
Le/HE (295) 1.8 0.9 0.1 0.2 0.2 0.0

M2 (1,323) 0.6 0.3 0.3 0.2 0.1 0.3

HAL (447) 1.0 1.1 0.0 0.2 0.0 0.0

Ch (322) 0.8 0.8 0.0 0.1 0.0 0.3

QI @11) 0.5 0.7 0.0 0.2 0.5 0.4

oz (196) 1.7 0.3 0.0 0.3 0.0 0.0

CH& (200) 0.6 0.0 0.2 0.3 0.0 0.5

24 (155) 0.4 0.6 0.9 0.3 0.0 0.0

ME (51) 0.6 0.6 0.0 0.7 0.0 0.0

x| A (1,879) 0.2 0.5 0.1 0.1 0.1 0.4
4 (204) 16 0.7 0.0 0.3 0.3 0.0

== (214) 0.9 0.3 0.3 0.6 0.0 0.0

=4 (276) 0.0 0.5 0.3 0.0 0.0 0.0

e (227) 0.3 0.0 0.0 0.0 0.4 0.0

e (229) 0.4 0.4 0.3 0.3 0.4 0.2

A= (338) 0.2 0.0 0.4 0.0 0.0 0.0

A (437) 0.4 0.4 0.6 0.2 0.0 0.0

Xz 91) 2.2 1.3 0.4 0.0 0.0 0.0

sy | B3 0031 (172) 2.4 0.5 0.0 0.7 0.0 0.2
ST Dse xsl/EY (1,582) 0.4 0.6 0.1 0.3 0.4 0.3
T | et oAb (5,246) 0.5 0.5 0.2 0.1 0.0 0.2
3009t O|gt (2,433) 0.4 0.6 0.2 0.3 0.1 0.2

- 300~5002Fgd 0ot (2,117) 0.5 0.3 0.4 0.2 0.2 0.1
L | 500~7008y 0|3t (1,196) 0.5 0.4 0.1 0.0 0.1 0.3
| 700~1,0002t% 0|2t (833) 1.1 0.5 0.1 0.0 0.0 0.4
1.0008F OJAt (420) 0.0 0.6 0.0 0.5 0.0 0.0




B 3-1-46| Z3EHE

Hok= Ol 1+229 @

H3E ZAHEAL 24

01& Hx|

(Base=ZIH|, T2 : %)

HAIH L[PS|

SNS

| (7,000) 58.3 39.6 25.2 21.1 13.0

JN =i (3,564) 59.0 425 26.7 17.7 12.9
°= oy (3,436) 57.6 36.6 23.8 24.5 13.2
15~19A| (414) 41.6 15.4 36.2 47 .4 19.8

20y (1,148) 35.9 35.4 30.7 39.6 17.8
- 304 (1,172) 44.8 39.7 30.1 32.1 15.1
== 4004 (1,438) 60.7 47.4 22.6 15.4 10.3
50CH (1,526) 71.3 451 21.7 9.6 9.5

60CH 04t (1,302) 77.6 35.8 19.7 6.1 11.9
S10|EXt (3,150) 56.5 45.7 23.3 20.0 13.2
s271gt (641) 65.1 35.0 24.7 12.4 14.7
Miz=e (1,044) 69.0 35.8 20.8 14.8 10.1

x| XY (527) 65.3 37.8 26.7 14.9 13.3
SHAY (737) 38.1 26.8 36.0 44.9 17.2

2| (549) 60.1 38.6 29.9 22.5 1.4

7|Et (352) 59.8 36.4 25.0 22.6 10.7
74 E9 /oA (3,054) 56.3 40.2 25.1 21.7 13.8
T HEYA (3,946) 59.8 39.1 25.4 20.6 12.4
A (3,613) 56.1 42.2 25.0 21.9 13.1
EX3H (741) 60.7 40.9 26.0 19.0 12.5

Y | BNA (1,699) 60.1 35.2 26.4 21.0 12.9
et (652) 62.0 36.4 22.3 20.0 13.9

U /HEH (295) 60.6 37.2 25.7 19.4 12.3

RE (1,323) 52.9 43.7 24.8 24.0 14.0

A (447) 59.0 34.5 26.5 19.2 16.0

k=] (322) 59.7 385 23.8 21.0 11.6

oIM 411) 58.3 39.2 23.4 18.5 13.5

zx (196) 58.0 36.3 24.4 23.4 13.9

CH (200) 59.2 40.0 27.5 19.5 12.8

4 (155) 59.3 39.2 28.0 20.7 11.4

NES (51) 60.5 39.6 27.1 26.3 7.9

X | A (1,879) 57.8 418 25.5 21.1 12.3
PALC (204) 61.9 39.4 24.0 17.2 11.8

=2 (214) 61.8 42.6 24.6 19.4 13.0

=4 (276) 61.0 40.4 25.6 17.0 12.8

M2 (227) 62.8 39.5 18.0 18.4 14.0

e (229) 64.8 33.4 24.7 18.8 13.8

ze (338) 64.6 35.4 27.3 18.9 11.3

A (437) 58.4 32.0 27.2 24.6 12.3

S[ES (91) 57.7 32.3 29.7 24.3 13.5

s | B3 O3 (172) 54.6 14.3 30.2 35.4 21.7
O ISsM xfel/EY (1,582) 65.5 28.1 26.8 18.4 14.2
TE st oAt (5,246) 56.2 43.9 24.6 21.4 12.4
300%r Ojgt (2,433) 54.8 34.7 28.1 24.7 14.5

= 300~5002+4 02t (2,117) 59.2 40.5 24.9 21.0 12.2
(L | 500~7002¢s 0|2t (1,196) 62.1 44.0 24.1 16.4 10.4
| 700~1,0002t% 0|2t (833) 61.5 45.2 20.7 17.2 12.7
71,0008k OJA} (420) 57.2 40.1 23.2 21.2 16.5
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2022'4 E=Pt U= 2 2K AL

g 3-1-47| S3HE.

Hok= Ol 1+229 @

(Base=ZIH|, T2 : %)

A fo) sSHE

= Ny | e | SOE | ame VASSS) mea | o

HA (7,000) 7.3 6.8 5.2 4.9 4.8 4.5

e | HE (3,564) 6.8 7.1 5.5 3.7 38 5.6
T oy (3,436) 7.9 6.4 4.9 6.2 6.0 3.4
15~19A (414) 85 5.4 3.0 3.7 2.3 3.1

20tH (1,148) 6.6 7.3 2.9 2.4 7.1 4.3
orzyry | 30H (1,172) 5.9 6.4 3.7 3.5 7.6 4.6
== g0 (1,438) 8.5 6.6 5.9 5.0 5.4 3.3
50ch (1,526) 8.1 5.7 6.6 4.7 38 4.9

60CH OfAf (1,302) 6.6 8.6 6.8 8.9 1.8 6.0
Sl0|EZ} (3,150) 6.4 7.3 5.2 3.4 6.1 4.8
s=uqt (641) 9.7 6.6 9.1 4.1 38 5.0
lEst (1,044) 9.4 5.8 6.0 8.8 4.8 3.9

Y| XEY (527) 7.4 7.9 5.8 4.9 3.9 4.1
Sl (737) 7.3 5.4 26 3.2 2.9 4.0

2x (549) 5.8 6.3 25 7.2 2.7 4.1

7|E} (352) 7.6 7.2 4.8 7.9 4.5 5.1
smay | SE/EON (3,054) 7.7 6.9 45 4.7 4.5 5.1
T | HIZGA (3,946) 7.0 6.7 5.7 5.1 5.1 4.1
= (3,613) 7.8 6.5 5.0 4.3 5.3 4.0
SHd (741) 6.5 7.6 5.3 4.7 4.2 4.4

Y | M (1,699) 6.8 7.1 55 5.8 4.4 5.7
Haty (652) 75 7.2 5.8 5.2 4.1 4.6
Ze/HEE (295) 6.6 53 4.9 6.7 4.7 4.6

N2 (1,323) 7.4 6.8 4.4 4.2 4.9 4.1

St (447) 8.8 8.7 35 4.7 2.9 7.5

e (322) 6.5 75 4.9 7.0 4.8 5.6

oI @11) 10.1 55 4.1 5.8 4.2 6.2

o5 (196) 8.9 5.8 5.2 4.2 4.5 4.3

CH (200) 5.2 7.1 55 3.0 4.8 4.8

St (155) 5.7 6.8 6.4 4.5 4.8 35

e (51) 4.4 8.5 5.9 23 4.8 4.9

xie | A (1,879) 75 6.6 55 4.1 5.9 3.4
24 (204) 5.2 5.0 5.1 8.2 4.2 5.1

2 (214) 6.0 6.1 5.4 4.8 3.7 35

=4 (276) 8.0 8.9 4.9 6.4 4.0 4.7

H= (227) 7.9 8.8 6.0 5.6 38 5.2

e (229) 5.8 7.0 6.2 5.6 4.2 4.3

as (338) 55 6.9 7.3 4.1 5.0 5.6

ad (437) 6.5 55 6.4 8.0 5.0 4.8

M= 91) 95 5.8 4.6 33 5.8 36

s | BZ OB (172) 9.2 5.4 4.3 5.6 0.9 5.5
o DSst elEY | (1,582) 8.9 5.8 6.5 5.9 4.2 4.0
T | st oy (5,246) 6.8 7.1 4.8 4.6 5.2 4.6
3002t Ojet (2,433) 7.6 7.0 4.7 5.3 4.4 4.1

sim | 300-5000K BEt | (2.117) 7.0 6.3 5.2 5.3 4.9 4.6
= | b00~7002r D2t (1,19) 8.1 6.5 5.5 4.3 5.7 4.4
~ | 700~1,0002te4 D2t | (833) 6.6 7.9 5.6 4.0 5.1 5.4
1,0008K%4 OJ4f (420) 6.6 6.5 6.5 4.1 4.1 5.2
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H3E ZAHEAL 24

01& Hx|

(Base=ZIH|, T2 : %)

=l

E23|
TR (7,000) 2.3 2.0 0.7 0.6 0.3 0.4
e | HE (3,564) 1.7 1.7 0.9 0.7 0.4 0.4
°= oM (3,436) 2.9 2.4 0.5 0.6 0.2 0.4
15~194] (414) 2.4 1.4 0.5 0.9 0.4 0.9
20CH (1,148) 2.5 15 1.2 0.4 1.2 0.1
- 30CH (1,172) 0.9 1.4 1.0 0.3 0.1 0.1
=S a0ry (1,438) 2.1 2.1 0.8 0.5 0.2 0.7
50CH (1,526) 2.4 1.8 0.4 0.8 0.2 0.6
60CH OfAf (1,302) 35 3.5 0.3 1.1 0.1 0.3
S10|EZ2t (3,150) 2.5 1.6 0.7 0.5 0.3 0.3
=223t (641) 2.5 2.3 0.5 1.1 0.2 0.3
Mi=e (1,044) 2.8 3.1 0.5 0.7 0.2 0.7
Y| R (527) 0.9 2.1 1.0 0.7 0.2 0.5
= (737) 2.5 1.0 0.8 0.8 1.2 0.6
2% (549) 1.6 2.5 1.1 0.4 0.0 0.1
7|Et (352) 2.2 2.9 0.2 0.6 0.0 1.0
Sy St /IOl (3,054) 2.4 2.3 0.8 0.7 0.4 0.4
= | HIZYA| (3,946) 2.3 1.8 0.7 0.6 0.3 0.4
A (3,613) 2.4 1.7 0.8 0.4 0.4 0.5
=33 (741) 16 2.1 0.7 1.0 0.2 0.2
Y | AMH (1,699) 2.3 2.2 0.8 0.8 0.1 0.1
FetH (652) 2.4 2.5 0.5 0.8 0.8 0.6
Ue/HFH (295) 2.7 43 0.4 0.8 0.2 0.5
e (1,323) 1.9 2.4 0.8 0.5 0.6 0.5
A (447) 2.2 2.4 0.2 1.1 0.0 0.0
Tl (322) 3.2 1.9 0.2 0.4 0.0 0.3
OIX 411) 3.4 16 14 0.6 0.5 0.5
o= (196) 3.6 3.4 0.3 0.3 1.3 0.0
bS] (200) 1.4 3.1 14 2.0 0.0 0.5
St (155) 2.7 1.7 1.7 0.7 0.0 0.7
MIE (51) 2.9 1.7 0.0 0.7 0.8 0.0
X | 2 (1,879) 2.6 1.2 0.6 0.3 0.2 0.5
U (204) 3.0 46 0.0 0.7 0.3 0.7
1] (214) 14 2.3 0.6 0.9 0.5 0.3
=it (276) 1.6 1.3 0.5 0.3 0.0 0.0
Fe (227) 1.6 2.4 0.3 0.3 0.8 1.2
M (229) 2.1 2.0 0.9 1.7 0.4 0.6
ze (338) 15 1.3 1.0 0.8 0.4 0.0
A (437) 2.1 2.9 1.2 1.0 0.0 0.0
Hiz 1) 2.1 3.5 1.2 1.3 0.0 0.0
s | BZ OB (172) 1.7 3.7 0.0 0.7 0.0 0.7
T DssM ael/EY (1,582) 3.1 2.0 0.5 0.8 0.7 0.6
TE st oAt (5,246) 2.1 2.0 0.8 0.6 0.3 0.3
300094 Oj3t (2,433) 2.6 1.9 0.7 0.6 0.3 0.3
= 300~5002t94 02t (2,117 2.2 2.0 0.8 0.8 0.3 0.4
"L | 500~7002¢ D|2t (1,196) 2.2 2.4 0.6 0.5 0.4 0.4
| 700~1,0002t% 0|2t (833) 2.2 2.2 0.4 0.5 0.5 0.6
1,0002t 0fAH (420) 1.9 1.1 1.2 0.6 0.0 0.7
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20224 22pt U= 2 AKX ZAL

2. OHx| OFZ 3= ARZICH

St UE Y B IHHIE 0|5I= FH A2 E ‘2S5 6A~KY 8A'71 31.8%2 7t 11, (1202

‘K|S OAI~KE 11A1(28.2%)", ‘@K 9A|~ @F 11A|(12.8%) S9| 202 LIEIL

- ¥ J4(34.9%), HEE 15~19M(37.6%), ZYE S222K37.3%), & +ZH St 01A(32.2%), 7IHA5H
700~1,0002H4 O|K33.2%)0IA ‘RF BAI~KE A7} =7 LIER.

- JFTE HI-AI32.7%), BAY H2AT(35.1%), XoH FEH(38.1%)01M ‘2% 6ANKY 8AI7h E2 LIEH.

HO

|7721 3-1-24] O§F| 0|2 = AJZHH
(Base=%iH|, n=7,000, T2l : %)

31.8 282

79 128 85 86
0.6 1.6
. | . -

OFEl BAl  OFEBA| - QoA - Q@F 12A] - @& 3\ - 2F6A - IH W - 2F 124
opd QF 8A|  F 1A 25 24| 2F bBA| pSIERINIYCEREIN o=

|E 3-1-49| OjA| 012 = AlZtCH

(Base=TA, ©| = %)

NEI

&)

HH| (7,000) 0.6 79 128 8.5 86 31.8 282 16
R (3,564) 0.9 81| 106 8.7 75| 349 278 14
°= oy (3,436) 0.4 7.7 151 8.3 96 287 | 286 1.7

15~19A| (414) 1.0 1.7 5.3 86| 104 376 307 4.7

20rH (1,148) 0.4 5.0 96| 118 107 328| 267 2.9
oreyry | 300 (1,172) 0.5 78| 115| 102 63| 322 299 1.7
=T 40k (1,438) 0.5 91| 133 7.9 60| 302 322 0.7

50CH (1,526) 0.8 88 154 6.6 89| 310 275 0.9

60CH O[AF | (1,302) 08 101 155 71 105| 315 236 1.0

Sl0|EZRt | (3,150) 05 100 11.2 73 6.9 335 296 1.1

S2z13; (641) 1.7 7.2 8.4 9.3 97| 373 257 0.8

bofuEST] (1,044) 0.3 66 228 113 113 225 238 14
| XYY (527) 0.9 6.8  14.2 7.1 78| 283 | 342 0.8

SpAl (737) 0.3 2.1 7.6 97| 107| 363 296 3.6

21| (549) 0.8 7.4 134 9.2 93| 329 237 3.2

7|Et (352) 1.3 82| 13.1 9.1 87| 286| 287 2.4
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H 3-1-50| O 08 3= ARIH

AR

(&)

H3E ZAHEAL 24

01& Hx|

(Base=ZIH|, T2 : %)

H (7000 06 79 128 85 86 318 282 16
s | S/ (3054)| 05| 82| 125 87 94 307| 282| 17
5| e (3946) | 07 77| 130 84 79 327 282| 15
N (3613)| 06 82| 123 90 87 303 294| 16
=33 (741) | 08| 72| 129 85| 99 327 264 17
Ho | A (1699) | 05 78| 132 85 78 337 271| 15
2t 652 11 68 135 64 91| 351 262 18
L/ HE (295)| 09 89 141 84 71| 309 288 09
Mg (1323)| 04 93| 125 75, 96 281 307| 19
St 447)| 09| 76 135 78| 82 318 280 22
Ch (32| 02| 74 133 115 87 296 282 10
ol @D 07 73 12| 111 89| 389 258| 11
% (196) | 10 47| 131 77 108 346 260 2.1
e (000 03| 74 104 105 126 334 242 12
s (155) | 03 96| 132 95 77| 361 224| 13
e 61)| 00 99| 128 101 59 275 316 22
x| 2] (18799 07 76 124 96 79 310 293| 15
72l (204) | 07 92| 145 85 47 326 285| 13
z= 14| 09 63 133 68 99| 301 298| 29
2o (76) | 11 71| 144 81 86 352 244 11
M= (227)| 06 94 147 59 60 364 252 19
et (229 17| 61 126 59 109 342 273 14
4= (339 | 03| 83 126 77 78 382 288 14
A 437)| 04 73| 135 71 66 381 257| 13
A ©O)| 12 82| 133| 84 124| 271 294| 00
s | B3 Ol (172 | 25 46 61 68 173 305 269 54
N DSsH sEY | (1582 | 12 7.6 128 104 111 307 246 19
T | oyt ot (5246) 04 81 130 81 75 322| 293| 13
300224 Ojer (2433) | 08 61 120 98 103 323 267| 20
300-5009K% OIgt | (2117)| 05| 90 132 94 82 309 276 12
J}PAS | 500~7003 OBF | (1,196) | 04 82 148 59 65 321 309 12
700~1,0002/%4 08t | (833) | 04 97| 107 68 84 332 292 17
1,0002K2 Op 4200 12 84 134 78 67| 302 303 20
2s0js | BY =2 (5763)| 06 80| 133 85 87 317 280| 13
BUSE | By W3 (1,237 08 76 104 87 80 325 291| 28
2o | QI 4634 05| 81| 131 86 87 324| 272| 13
QIXX} | mIQIX] (2366) | 10 74| 122 83| 82 307 301 21
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2022'4 E=P} U= E 2AX= EAL

3. 0|8 Y7t =2 THIY AMH|A

® (12:9)) 25171 Y & 2121 018 BIEJ} U2 BHIY MHIAZE ‘REE'7}51.6%2 71 &1, Hgo=E
QIAEITE(16.8%)', LI0|H 227(9.6%) SO #O2 LiEHd.
- g GH(67.8%), Y B0C(57.6%), YW SRURUGI.1%), B2 AEY USHD OWHE2.7%), THTAS
' 300~50021%4 O[2HE3.4%)0 “SEL7H 7] LiEr,
- JEEE SE/BON(62.0%), HOPE UU/MEAG2T%), N UEAA%)0N "REE I = LiEt,
® (1+22:9)) 237} U= & B2 0] RIS U2 RHIY MHIAZE 'REE7}73.6%2 71 &1, LI3o=E
QIAEITIH(36.2%)’, ‘UI0|H E21(33.0%) S9| =22 L{Etd.
- g GH77.4%), A B0H(77.7%), ARH SRURK7B.1%), B2 AFY S OW(74.9%), TiTAS
i 500~700214 DIBK75.19%)0 “SEL 7k 7] LiEr,
- JESEE SE/EON(745%), HAE SEH(74.8%), Kol HR(76.29%)0M “RRE7} A Lt

|72 3-1-25] 0|2 BIEJI =2 SHI AMH|A

X Qe TJagm AkRESE (Base=ZA4|, n=7,000, T2 : %)
B 129 14229
736
516
%62 %0

168 150 105
96 70 32 3131 2859 2384

. || [ — — s N

QES  OKETE WO @ HORE IPIRAER| ORMHKA  E9H HH=

=27 g
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H3E ZAHEAL 24

01& Hx|

|2 3-1-51] 018 B/t =2 2HIY MHIA 129 @

(Base=ZIH|, T2 : %)

Li|O|H

g2
| (7,0000 516 16.8 9.6 7.0 3.2 2.8 23
JN =i (3564) 578 12.6 6.9 9.0 3.0 15 2.9
°= oy (3,436) 452 | 211 12.4 5.0 3.3 4.2 1.6
15~19A| (414) 401 34.7 2.1 6.4 0.7 8.9 0.1
20y (1,148) 476 | 294 4.4 7.6 0.5 6.6 0.7
- 304 (1172) | 474 | 297 9.2 5.1 0.2 2.3 1.0
== 4004 (1,438) 53.9 13.4 13.5 5.9 2.1 1.2 1.6
50CH (1,626) 57.6 6.8 11.6 7.3 3.2 1.7 3.6
60CH 04t (1,302)  53.0 3.7 10.2 94 | 101 1.2 4.7
S10|EXt (3,150) 50.5 18.3 10.1 7.1 2.7 2.2 2.6
s271gt 641) 61.1 9.2 8.4 7.4 4.1 0.7 2.7
iz (1,044) = 4838 12.5 17.0 5.0 5.4 0.8 2.1
x| XY (527) | 54.0 12.3 8.7 11.0 3.1 1.7 3.3
SHAY (737) | 470 324 1.6 5.1 0.6 8.6 0.0
2| (549) = 55.3 10.5 6.9 8.3 4.0 6.0 2.4
7|E} (352) | 52.3 12.9 7.7 7.7 3.8 3.2 2.2
74 E9 /oA (3,054) | 52.0 17.7 8.8 6.4 3.1 2.9 2.4
T | HIZGA| (3,946) 51.3 16.0 10.2 7.5 3.3 2.8 2.2
A (3,613) | 517 17.7 10.1 6.5 2.5 3.1 1.8
EX3H (741) = 525 15.4 9.4 6.8 4.6 2.6 1.6
HY | AMNH (1,699) 51.8 16.1 9.6 7.0 3.3 2.2 3.1
et (652) | 49.1 16.1 7.0 9.5 5.1 3.2 2.8
U /HEH (295) | 52.7 13.5 9.3 8.6 3.4 3.1 3.2
RE (1,323) | 515 19.2 8.8 6.0 2.4 35 1.8
A (447) | 535 16.9 8.5 6.6 3.3 2.0 3.0
k=] (322) 544 185 7.6 3.8 2.7 1.8 35
oIM (411) | 509 14.5 11.9 8.6 3.3 2.6 2.0
Zzx (196) | 485 19.3 4.1 8.9 47 4.2 3.7
CH (200) | 53.0 14.9 10.2 5.2 49 2.7 1.0
SA (155) = 52.7 16.6 7.7 7.1 36 2.0 5.2
NES (51) | 52.2 18.5 10.7 3.7 0.6 4.0 2.1
X | A (1,879) 51.9 17.4 10.7 6.4 2.3 2.9 1.8
PALC (204) 535 13.1 9.3 8.7 3.7 3.2 3.5
=2 (214) | 508 15.6 8.2 8.3 45 2.6 1.6
=4 (276) = 535 15.0 9.5 7.3 5.1 2.3 1.9
M2 (227) | 489 13.8 10.0 11.0 3.8 3.1 2.6
e (229) | 49.7 15.5 6.5 8.6 6.8 2.4 2.3
ze (338) | 51.0 13.1 10.7 7.8 4.0 2.6 4.4
A (437) 486 15.8 12.0 9.3 3.0 2.4 14
S[ES @1 | 51.0 14.4 9.2 8.4 2.8 2.8 2.5
s | B3 O3 a72) | 47 217 5.4 9.0 2.1 4.4 0.6
O ISsM xfel/EY (1,682) 49.0 15.1 9.6 8.2 5.2 3.1 2.6
TE st oAt (5,246) 52.7 17.1 9.7 6.6 2.6 2.7 2.2
300%r Ojgt (2,433) | 49.9 19.4 7.6 8.0 2.8 3.3 1.6
= 300~5002+4 02t (2,117) 534 154 9.4 6.7 3.4 2.4 2.3
(L | 500~7002¢s 0|2t (1,196) 528 14.2 12.0 7.1 3.4 1.9 2.5
| 700~1,0002t% 0|2t (833) | 52.1 14.3 11.4 45 3.9 3.9 3.1
71,0008 OfAt (420) 47.4 20.8 11.2 8.1 2.3 2.9 3.5
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2022'4 E=Pt U= 2 2K AL

|2 3-1-52| 018 Bl =2 2HIY MHIA 129 @

(Base=ZIH|, T2 : %)

=

I Mele | MHE | e |EIAER] | g, | EH T A

= ® |@oy | FF | @z | BFH | gue | 7| CEE

T (7,000) 1.3 1.2 0.5 0.1 0.1 0.5 3.1

ey |2 (3,564) 0.7 14 0.4 0.1 0.1 0.3 3.2
°= oy (3,436) 1.9 1.0 0.6 0.2 0.1 0.6 3.0
15~19A| (414) 0.4 5.3 0.3 0.2 0.3 0.1 0.6

20rH (1,148) 0.7 0.9 0.6 0.1 0.2 0.2 0.6
orzyry | 30H (1,172) 0.8 1.0 0.4 0.1 0.1 0.8 1.9
=<7 a0ty (1,438) 1.8 1.7 0.4 0.3 0.0 0.5 3.8
50CH (1,526) 2.1 0.6 0.5 0.2 0.1 0.4 4.5

60CH OfAH (1,302) 1.0 0.8 0.5 0.0 0.0 0.6 4.8
510|EZ12} (3,150) 1.4 1.2 0.5 0.1 0.1 0.5 2.6
s27t3; (641) 0.6 1.1 0.3 0.0 0.0 0.0 4.4

b ES] (1,044) 1.6 0.6 0.7 0.4 0.1 0.4 4.5

Q| X (527) 1.6 0.9 0.2 0.3 0.0 0.6 2.1
Shal (737) 0.6 3.1 0.4 0.0 0.1 0.0 0.6

DX (549) 0.4 0.9 0.2 0.0 0.1 0.5 4.6

7|Et (352) 2.6 0.8 0.2 0.0 0.0 1.4 5.1
o SEVEEN (3,054) 15 1.0 0.5 0.1 0.1 0.3 3.1
5 men (3,946) 1.1 1.4 0.4 0.1 0.1 0.6 3.1
A (3,613) 15 1.3 0.3 0.1 0.0 0.5 2.9
5 (741) 1.8 1.1 0.6 0.1 0.0 0.3 3.3

Y | AN (1,699) 0.9 1.1 0.7 0.2 0.3 0.4 3.3
Ll (652) 0.8 18 0.4 0.2 0.0 0.4 3.6
/A (295) 0.9 1.3 0.1 0.0 0.0 0.6 3.2

e (1,323) 2.0 1.1 0.5 0.1 0.0 0.4 2.7

S (447) 0.5 14 0.8 0.0 0.4 0.2 3.0

Ch (322) 1.1 0.4 0.1 0.5 0.2 0.7 4.7

OIF 411) 1.2 1.0 0.0 0.2 0.0 0.2 3.6

oz (196) 16 0.7 0.7 0.0 0.0 0.0 35

CHA (200) 2.7 0.7 1.0 0.0 0.0 0.3 3.4

SAt (155) 0.6 0.8 1.0 0.0 0.3 0.4 2.0

ME (51) 2.7 14 0.0 0.0 0.0 0.5 3.8

x| A (1,879) 1.2 1.4 0.3 0.1 0.0 0.7 2.8
4 (204) 1.4 1.0 0.0 0.0 0.0 0.0 2.6

== (214) 15 15 0.8 0.0 0.0 0.3 4.2

=t (276) 1.1 1.0 0.3 0.3 0.0 0.2 2.4

e (227) 0.0 1.8 0.0 0.2 0.0 0.8 3.9

e (229) 0.9 2.8 0.5 0.3 0.0 0.4 3.4

A= (338) 0.4 0.6 0.9 0.2 0.4 0.8 3.2

A (437) 1.6 1.7 0.7 0.2 0.2 0.2 2.9

Hz Q1) 0.0 2.0 0.4 0.0 0.0 1.9 4.6

sy | B3 0031 (172) 0.0 8.3 0.3 0.0 0.0 0.4 6.1
ST Dse xsl/EY (1,582) 0.9 14 0.3 0.1 0.0 0.3 4.2
T | et oAb (5,246) 15 1.0 0.5 0.2 0.1 0.5 2.7
3009l Ojgt (2,433) 1.1 15 0.5 0.0 0.0 0.3 4.0

- 300~5002Fgd 0ot (2,117) 1.2 1.1 0.4 0.2 0.0 0.8 3.2
L | 500~7008y 0|3t (1,196) 1.7 1.2 0.4 0.3 0.3 0.3 1.9
| 700~1,0002t% 0|2t (833) 1.8 1.2 0.4 0.2 0.0 0.3 2.9
71,0008 OfAt (420) 0.7 0.4 0.4 0.1 0.1 0.5 1.5
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H3E ZAHEAL 24

01& Hx|

|2 3-1-53] 018 B/t &2 2HIY MBIA 14259 ©

(Base=ZIH|, T2 : %)

EIE
=27

TH| (7,000) 73.6 36.2 33.0 15.0 10.5 8.4 5.9

A = (3,564) 77.4 31.7 29.1 19.8 11.2 9.3 4.6

°= oy (3,436) 69.7 40.8 37.1 10.1 9.7 7.6 7.2

15~19A| (414) 69.9 65.9 6.5 11.8 1.9 0.3 16.8

20cH (1,148) 73.8 59.8 22.6 16.7 1.9 1.9 11.6

oraary 30CH (1,172) 70.7 56.4 34.6 14.4 2.6 2.1 6.0

=< 40LH (1,438) 74.4 33.1 42.9 11.8 8.4 7.7 2.3

50CH (1,526) 77.7 18.4 37.0 15.3 14.6 13.7 3.5

o60CH OfAf (1,302) 71.6 11.8 33.8 18.4 25.4 17.1 3.8

Sl0|EZ2} (3,150) 73.4 37.6 34.8 15.2 9.7 8.3 4.9

==t 641) 78.1 22.6 35.9 18.5 134 9.2 3.4

PaluES= (1,044) 71.4 28.2 44.0 9.5 15.4 11.0 1.9

A | AEY (527) 73.4 29.3 34.3 20.7 15.2 10.8 4.7

Sk (737) 74.6 65.6 11.56 12.6 1.7 0.9 14.1

2 (549) 74.6 31.9 29.4 15.1 9.8 7.7 11.6

7|E}t (352) 70.8 27.6 27.8 19.7 9.7 13.7 6.2

P Ed /o) (3,054) 74.5 38.0 31.9 14.3 10.6 8.1 5.6

| HIZYA (3,9406) 73.0 34.7 33.9 15.6 10.4 8.7 6.1

A (3,613) 74.8 38.0 34.4 14.4 9.3 6.4 6.0

=™ (741) 73.4 31.9 33.5 14.9 12.1 9.9 6.2

=S ANH (1,699) 72.6 34.9 32.8 15.3 11.6 10.1 4.7

et (652) 70.6 35.4 27.8 17.2 12.2 11.8 7.2

U/ Mz (295) 72.7 34.2 28.7 16.2 10.6 13.0 6.5

Me (1,323) 75.1 40.3 32.6 15.1 9.1 5.7 6.1

At (447) 74.5 36.3 34.7 14.2 11.1 8.0 3.8

L+ (322) 76.2 35.1 30.7 10.5 114 13.2 3.7

Q1A (411) 74.0 36.5 31.9 14.9 12.1 8.5 5.7

a4z (196) 73.2 427 221 13.4 125 9.3 8.0

CH™ (200) 73.9 31.5 31.9 15.2 12.7 10.3 6.1

2 (155) 69.6 36.4 32.2 14.3 11.3 13.4 5.6

WES (51) 69.2 38.8 41.8 10.8 9.4 6.5 5.6

X4 47| (1,879) 74.7 36.7 36.2 13.9 8.9 6.5 6.0

PR (204) 73.1 32.3 28.9 16.6 10.2 145 6.3

== (214) 74.6 32.3 31.2 13.8 12.3 9.5 6.5

= (276) 72.8 30.7 35.0 16.5 11.9 10.6 6.1

= (227) 68.3 31.1 33.5 20.7 8.6 13.1 7.6

M (229) 70.6 33.5 27.2 17.0 15.6 12.5 6.0

a5 (338) 71.3 32.5 32.1 19.4 1.2 12.1 5.4

a4 (437) 70.1 34.4 33.0 17.1 12.6 7.1 5.6

HIZ= 91) 71.7 38.5 28.2 15.3 1.4 9.6 7.1

- == 0|} (172) 63.9 414 12.7 15.1 115 2.8 10.8

L 0SS s/ EY (1,582) 70.3 32.6 30.3 15.9 15.3 8.9 6.1

e CHetw OfAf (5,246) 74.9 37.1 345 14.8 9.0 8.5 5.6

3002HH 0|2t (2,433) 72.9 39.9 30.3 15.5 9.0 55 7.2

! 300~5008+ OJ2k 2,117) 73.4 33.9 34.7 14.8 1.2 9.6 5.2

A= 500~7002H OJ2F (1,196) 75.1 32.5 36.9 15.5 11.0 10.1 4.5

- 700~1,0002H 0|2t (833) 74.5 34.0 33.0 12.4 12.3 11.0 5.8

1,0002H O] At (420) 73.2 41.2 29.6 16.8 10.2 10.2 5.6
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2022'4 E=Pt U= 2 2K AL

|2 3-1-54] 018 B/t &2 ZHIY MBIA 14259 @

(Base=ZIH|, T2 : %)

o

o MEle | g | AEE [BAE2 | BH | oo |5 i

= ® | ¥F | ol | @z | dae | 55| IS SEES

TR (7,000) 3.9 33 1.6 0.5 0.4 15 3.1

e | HE (3,564) 4.5 2.1 1.7 0.3 0.4 14 3.2
°= oy (3,436) 33 45 1.4 0.6 0.3 1.7 3.0
15~194| @14 | 187 2.1 1.3 1.9 0.5 1.2 0.6

20CH (1,148) 2.7 2.7 1.9 0.6 0.8 1.8 0.6
orry 30CH (1,172) 2.4 2.1 1.7 0.5 0.1 2.4 1.9
=40ty (1,438) 4.1 3.3 1.9 0.2 0.5 1.7 3.8
50CH (1,526) 2.8 5.1 1.3 0.4 0.3 1.0 45

60CH OfAt (1,302) 2.8 3.1 1.2 0.2 0.1 1.1 4.8
310|EZ2} (3,150) 33 3.4 1.6 0.3 0.3 1.8 2.6
=223t (641) 5.2 2.4 1.1 0.1 0.6 0.7 4.4
Hjzme (1,044) 1.9 4.4 1.3 0.8 0.4 0.8 4.5

Y| XY (527) 2.0 3.0 15 0.0 0.3 0.6 2.1
Shal (737) 106 2.3 1.8 1.2 0.4 14 0.6

2% (549) 3.0 3.0 1.8 0.8 0.3 1.9 4.6

7|Et (352) 3.4 3.9 2.0 0.5 0.3 4.2 5.1
4z SEYETEN (3,054) 3.4 3.7 1.7 0.3 0.3 1.3 3.1
T HEA (3,946) 4.4 3.0 1.4 0.6 0.4 1.7 3.1
PN (3,613) 3.4 35 15 0.4 0.3 1.9 2.9
=™ (741) 4.4 3.7 1.6 0.4 0.5 1.0 3.3

Aol | AAA (1,699) 4.5 3.0 1.8 0.6 0.5 1.2 3.3
2t (652) 4.6 2.6 1.2 0.4 05 1.2 3.6
Le/HE (295) 4.8 3.2 1.4 0.5 0.3 14 3.2

e (1,323) 3.1 4.2 1.7 0.0 0.1 1.6 2.7

A (447) 4.8 3.0 1.2 0.8 0.0 15 3.0

Tl (322) 2.9 3.1 1.4 0.2 0.8 1.2 4.7

OIX 411) 2.7 3.1 1.4 0.2 0.4 1.3 3.6

o= (196) 3.6 4.8 1.9 0.6 0.0 0.9 3.5

bS] (200) 3.6 3.9 3.0 0.9 0.0 0.3 3.4

St (155) 4.1 2.6 3.0 1.0 1.5 0.9 2.0

ME (51) 2.2 48 0.5 0.0 0.0 2.9 3.8

X | 2 (1,879) 3.8 3.0 1.4 0.8 0.3 2.2 2.8
U (204) 5.5 45 1.2 0.3 0.5 1.1 2.6

== (214) 5.3 2.3 2.0 0.0 0.6 1.3 4.2

=t (276) 4.6 43 0.5 0.4 0.9 0.9 2.4

= (227) 4.4 1.3 0.2 0.3 1.0 2.1 3.9

M (229) 5.7 2.0 1.6 0.3 0.5 0.6 3.4

ze (338) 3.9 15 1.9 0.6 0.4 14 3.2

A (437) 5.9 43 2.0 0.7 0.4 0.9 2.9

Hzx 1) 3.4 0.4 2.0 0.7 0.0 2.3 4.6

s | BZ OB (172) = 236 14 2.1 0.5 0.4 1.6 6.1
T DssM ael/EY (1,582) 5.5 3.9 0.8 0.5 0.4 1.2 4.2
TE st oAt (5,246) 2.8 3.2 1.8 0.5 0.4 1.6 2.7
3002k O]t (2,433) 5.0 3.2 1.4 0.4 0.2 1.6 4.0

= 300~5002t94 02t (2,117) 35 3.0 1.7 0.6 0.5 1.7 3.2
= | b00~7002r D2t (1,19) 33 4.1 1.1 0.4 0.4 1.1 1.9
| 700~1,0002t% 0|2t (833) 3.3 3.7 2.1 0.4 0.4 1.2 2.9
71,0002k OJAf (420) 2.7 2.1 2.4 0.4 0.2 2.3 1.5
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HiB% ZAHZu 24
01% |

4. B3P Q= o EBE A QK| U TS I
[ ]

=Pt s 2 22 AE UK I B J0M TS AT 7H10.3%=2 L AR HE F Gl

(34.0%)2CH S71 LERS, (‘5012 X QICY : 55.7%)

- g 9N10.3%), A 200H(11.7%), X SI0|ELRK(11.8%), 312 458 55 0[oK12.8%), 717AS
1000018 O340 " 38 207t 0 Uik

- IR SH/TOA11.6%), HEE LRU/MEH(11.5%), Kt HE1279%)0M T4 Z8 ATH 7 82 Let,

T o2 Ta

|72 3-1-26] 28V} = Y B R0 B Q1K) Y T 2

H= oo

(Base=ZA|, n=7,000, =2 : %)

55.7
34.0
10.3
B4 28 o TRt T ZH ULt Soiz = gic

|5 3-1-55] Zapt Qle E 82 M0 gt QIR & B 3

NEI

&)

(Base=TA, ©| = %)

| (7,000) 10.3 34.0 55.7
R (3,564) 10.3 31.9 57.8
°= oy (3,436) 10.2 36.2 53.6

15~19A| (414) 8.9 25.4 65.7

20rH (1,148) 1.7 33.2 55.1
orzry | 30 (1,172) 10.8 31.2 58.0

40tH (1,438) 9.8 31.4 58.8

50CH (1,526) 8.8 37.1 54.1

60CH O[AF | (1,302) 1.1 39.2 49.6

Sl0|EZRt | (3,150) 11.8 35.4 52.8

s2213; (641) 8.2 35.9 55.9

@%; (1,044) 9.5 36.7 53.8
x| R (527) 1.7 34.2 54.1

5.“};“ (737) 8.4 26.9 64.7

21| (549) 6.7 26.2 67.1

7|Et (352) 9.4 36.9 53.7
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20224 22pt U= 2 AKX ZAL

|2 3-1-56] =8Pt U=

AR

(&)

(Base=ZIH|, T2 : %)

HF| (7,000) 10.3 34.0 55.7

- Eg/2A| (3,054) 11.5 33.0 55.5
(BN

HIZYA| (3,946) 9.3 34.8 56.0

PN (3,613) 10.1 32.1 57.8

=XH (741) 10.3 33.1 56.6

Y| AME (1,699) 10.0 37.9 52.1

et (652) 11.2 36.0 52.7

Le/HEH (295) 11.5 32.3 56.2

e (1,323) 11.9 30.3 57.8

SA (447) 11.2 34.4 54.4

7 (322) 11.0 36.3 52.7

oI 411) 10.3 34.1 55.6

=S (196) 11.0 37.7 51.3

CH (200) 12.7 26.9 60.4

St (155) 11.9 45.3 42.8

MNIE (51) 4.2 38.8 57.0

XY A (1,879) 8.7 33.0 58.2

R (204) 11.6 33.0 55.4

== (214) 10.6 33.5 55.9

a4 (276) 9.3 36.3 54.3

Fe (227) 12.5 34.0 53.5

e (229) 10.2 36.7 53.1

as (338) 8.5 43.2 48.3

A (437) 8.5 35.8 55.6

bS[ES (91) 11.3 30.7 58.1

sy | BE Ol (172) 12.8 28.9 58.3

T | DssM xsl/EY (1,582) 8.1 34.3 57.5

TE st oAt (5,246) 10.8 34.1 55.1

3002 Ojgt (2,433) 9.0 30.4 60.6

300~5002H 0|2t 2,117) 10.0 36.3 53.7

JIFAS | 500~7002H OJgt (1,196) 10.6 36.8 52.6

700~1,0002k%4 O[ot (833) 12.2 37.4 50.4

1,0002H OJAf (420) 13.4 29.1 57.5

250 | A =2 (5,763) 12.0 37.0 51.0

S e I PNt (1,237) 1.9 20.1 78.0

2.4 | Ix| (4,634) 14.4 44.2 415

QIXIXt | DJoIX| (2,366) 2.2 14.1 83.7
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HRY AL 24

01& Hx|

HET 2aPt Us 2 8 MEEE 'REEVHE7.9%2 7HY =1, O8C2= Y04 £271(41.8%),

il

I.

ol

Ik

o gH(62.8%), SIE 600 OIM(67.8%) XUY KRU(66.4%), A7 1SS Afel/EY
1.5%), 71ASE 500~7008H DISKE7.79%)00M "REE 7t =) LEr,

- 74 HIZOIN(59.8%), B FHB62.7%), NHY FR(3.3%)IN ‘RES It B2 LiE,

|72 3-1-27] BAUH B2 M2 B

(Base=2Pt QU= ' B8 R TAKY, n=718, 2/ : %)

57.9
418
275 253
l B B = =
FEL Lo =23 QIAEITH  =2RE(SH|0|X|) 71712 HOAS

| 3-1-57| TAHH E8 M2 &2

(Base=23Pt QU= 2 &2 A2 TEAL Hel 1 %)

At Lf|o|e
(B R =227 = (ZT0|X])
| (718) 57.9 418 27.5 25.3 15.5 14.4
J = (366) 62.8 40.1 28.1 24.6 15.9 18.4
°= oy (352) 52.7 43.7 26.8 26.1 15.0 10.3
15~19A| (37) 48.4 23.9 55.4 24.5 15.4 19.0
20CH (135) 58.0 42.2 40.3 25.4 10.2 15.7
orayry | 300 (127) 51.4 47.8 38.0 23.1 14.2 9.2
=T 40t (140) 54.7 45.7 18.0 24.8 10.6 9.2
50CH (134) 58.9 411 17.6 27.3 19.1 18.8
60CH OfAt (145) 67.8 37.8 17.8 26.2 23.0 17.7
510[E 212} (372) 55.8 47.5 28.3 23.9 15.9 12.6
s2213; (53) 62.5 42.3 29.8 25.5 16.8 23.2
HeFE (99) 60.3 40.4 18.9 25.4 14.8 13.8
XY | XY (62) 66.4 32.1 23.8 28.2 18.9 23.6
StAl (62) 55.0 32.2 50.7 25.1 14.5 15.3
SPN (37) 56.1 33.7 20.6 18.5 14.2 13.6
7|Et (33) 58.3 26.9 11.5 44.0 7.4 5.4
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20224 22pt U= 2 AKX ZAL

H 3-1-58 Ay £8 Mg B3

(Base=28P} Q= & B A TEK}, T2l %)

NG B H|O|H -
() =227 |9SHEE) =hop)
HF| (718) 57.9 M8 27.5 25.3 15.5 14.4
sma | 2/ (351) 55.8 44.2 29.5 24.3 125 12.6
T HEeA| (367) 59.8 39.6 25.6 26.3 18.4 16.2
PN (364) 57.9 425 275 26.2 16.3 96
e hl (76) 62.7 31.6 27.5 26.6 9.4 21.9
Ao | AN (170) 56.7 436 22.7 23.4 14.9 18.1
SR (73) 56.0 476 38.9 27.2 18.6 22.2
/R (34) 56.5 36.2 26.8 19.2 17.0 14.3
NS (157) 52.6 432 29.6 25.0 12.9 75
Bt (50) 59.4 455 22.1 23.1 1122 18.4
Ch7 (35) 49.8 476 22.2 25.9 7.3 6.3
OIF 42) 68.6 513 27.0 223 18.0 24.1
= 22) 44.7 44.0 428 37.7 15.0 14.6
Ch (25) 64.4 33.3 37.2 171 7.7 18.4
St (19) 56.3 420 426 17.6 12.8 15.5
e ) 54.6 27.2 18.0 13.9 0.0 0.0
x| F (164) 60.2 39.7 25.7 28.2 19.0 7.9
2 (24) 59.7 32.5 30.1 175 21.8 16.9
29 (23) 73.3 38.8 18.3 26.2 13.0 33.3
e (26) 52.3 24.1 26.8 37.5 8.6 17.1
FE] (28) 66.3 49.0 418 213 22.9 33.3
Fof (23) 54.0 49.1 31.8 245 16.9 15.8
#= (29) 64.5 39.0 17.3 24.8 24.0 31.4
A (37) 53.6 418 18.1 23.3 20.9 19.7
Az (10) 49.0 44.6 19.2 23.3 6.0 8.4
o | B Ol 22) 437 37.9 204 24.9 28.4 21.6
S5 Dssp xjsl/EY (129) 61.5 411 30.5 14.0 11.1 22.3
T Oistm oAt (567) 57.6 422 26.7 27.9 16.0 12.4
30028 ojgt (220) 52.8 414 27.4 20.9 12.9 19.1
300~5008+¢l Ot 212) 58.6 433 235 293 18.0 12.0
JIAE | 500~7009K Dt (127) 67.7 40.8 26.3 20.8 13.4 13.9
700~1,0009t 0|2t | (102) 53.9 425 32.3 29.8 21.9 127
1.0009H 04t (57) 59.8 39.4 36.8 30.0 9.3 9.9
2ojols | B =2 (694) 58.2 42.0 27.7 26.1 15.4 14.7
DASE | B W (4) 48.9 36.5 22.0 4.3 17.4 5.4
S| Qx| (667) 57.6 426 27.4 25.9 15.7 14.6
QIX[X} | OJQIX| (51) 61.6 31.8 28.7 18.4 12.9 118
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HiB% ZAHZu 24
01% |

St AL ZOAY HEZE UMY = 64.9%2 ‘UL (35.1%) 20 = LIEH.
|EZf AE

- My 4M(68.4%), ZE 15~19M(70.3%), ZliH FH0|EZZHE8.3%), 512 +FH == 0[6K69.7%), 7IT1ASH
1,0002H OAK(80.1%)MIN ‘A UCH 7t = LEHE
- 7{ZHYE HIZHA(65.3%), HIH =HH(T1.3%), X‘E'. 24H82.2%)0IN ‘F™ AUCH It = LEHH.

@
Q
)
it
¢
A
$0
rr
uc
Ofon
HL
>l

A TSN, n=718, T %)

® ®
ol U
35.1 649

|2 3-1-59| 2Pt Q= & SH LS S5t WA oA

(Base==2Pt 2U= & 8& M HEAL Bl %)

TR (718) 64.9 35.1
=T (366) 68.4 31.6
°= oy (352) 61.2 38.8

15~194| (37) 70.3 29.7

20rH (135) 66.4 33.6
oreyry | 30 (127) 62.6 37.4

40TH (140) 63.8 36.2

50CH (134) 66.8 33.2

60CH OJAf (145) 63.3 36.7

30[E212} (372) 68.3 31.7

==zt (53) 64.1 35.9

a%$$ (99) 63.1 36.9
x| X (62) 56.4 436

3—.“c'i (62) 67.6 32.4

2X| (37) 46.3 53.7

J|Et (33) 64.9 35.1
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20224 22pt U= 2 AKX ZAL

| 3-1-60] 23PI U= € 82 MM S WM HHEH

(Base=28P} Q= & B A TEK}, HQ| %)

AR

(&)

TR (718) 64.9 2:;
4.4 .
S /2N (351) 64.
T e (367) 65.3 2471;
N (364) 62.8 28.7
Z=XH (76) 71.3 281
e (170) 67.0 o
M2t (73) 66.3 % .6
2/ HFH (34) 58.4 39.6
MNE (157) 60.4 298
A (50) 76.6 30.4
CH= (35) 69.6 30
oI (42) 52.9 41
= (22) 63.8 35.0
CHA (25) 65.0 5.0
St (19) 82.2 18
M= 2) 44.4 .
IES o
Xlor | Ay (164) 67.7 .
= 54.4 456
o o 78.4 21.6
== (23) . )
o (26) 735 26.5
b 69.8 30.2
M (28) . 302
M (23) 64.4 .
P (29) 52.8 47.2
o=
2Lt 37) 55.1 44.9
e 32.2
po[ES (10) 67.8 32.2
~ == 0|5} (22) 69.7 203
2| Jeay xsyzol (129) 61.1 .
T Oistm oAt (567) 65.5 5
3002r O|gt (220) 60.4 208
300~5002H O|gt (212) 65.6 344
JIAE | 500~7008H O]9t (127) 67.8 32.2
700~1,0002r O|gt (102) 60.8 39.2
71,0000 OJAH (57) 80.1 33.9
250 | B =S (694) 66.1 71.7
el | By "2 (24) 28.3 31.7
=R oIx| (667) 68.3 .
SIXJx 20.2 79.8
CIXIRt | OJQIX| (B1) .
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Lt
=

317} QU=
==l f
(3.4%

o=
l l—
|_

® U=

0.

H_I— %I__l

1% +

I HY(72.1%), SFE 15

HiB% ZAHZu 24
01% |

S5 20| et A=

< 2 A0l et ¢

PH

o ot=

L UE19.1% + 2HF 1 52.6%)= ‘B
Bie. (BE&'2 24.9%)
oSt O[AK(71.9%),

0hE = ol of

% 1 3.3%
1|(77 27, My

01 71.7%(H
Ch 2| Lt
SH(75.7%), 32

=0
—| [
0L

AR
TIZ=2

ITAS

=:]
=

1,0002+2d 0124(76.17)0llA “f+E7f =4 HEE.

- Jrae

|ZOIA|(72.2K).

HHE Sp(72.47), HEfA(72.48), X9E TH(76.58)0M TSIt 54 UEH.

|73 3-1-29] EapPt U= & S A0l oigt BE
(Base=22P't Q4= & B M2 TEKL, n=718, T2l : %)
g0 34 ‘
19.1
01 33 . .
e ST =15 S 0 2E5

| 3-1-61| 3Pt

(o]
M

rr

Lt

=4 A0 het OIEL

SPFUE 2 82 M2 A, H % D)

(Base==

| (718) 0.1 33 249 526 191 34 249 717 718
| HE (366) 03| 41 244 494 218 44 244 71.2| 721
°= oy (352) | 00| 24 255 560| 162 24| 255 722 715

15~194 @7 00| 41| 220 348 391 41| 220 739 772

20rH (135) | 00| 15 227 560| 198 15| 227 758 735
oty | 300 (127 . 00| 76 232 475| 217 76| 232 692 708
=S 40rH (1400 00| 36 285 476| 203 36| 285 679 71.1

50CH (134) 08| 19 215 571 | 187 27| 215 757 72.7

60CH OfAF (145 00| 1.8 288 | 59.2| 102 1.8 288 69.4 695

310|EZ2} (372) | 03| 41 238 536 | 183 43 238 719| 714

=522t (53) 0.0 37| 286 | 456 | 22.1 37| 286 | 67.7 715

E%*$$ (99) | 00| 18| 304 501 176| 18| 304 678 | 7009
XY | XY 62) 00| 12| 213 5.9 206| 12 213 775 | 742

iﬂg 62)| 00| 20| 238 436 307| 20| 238 743 | 757

SPN @7 00| 71| 168 630 132| 71| 168 762 | 706

7|Et 33)| 00 00| 330 579 92| 00| 330 670 69.1
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20224 22pt U= 2 AKX ZAL

H 3-1-62| 28Dt QU= o B2 A0 Ut S

(Base=2aPt QU= & 82 M TEAL H 1 %, B)

AR

HH| (718) 0.1 33| 249|526 19.1| 34 249 717|718

e SE/ZHA (351)| 03| 38 /250|519 191 4171|250 71.0| 71.4
R N (367) | 00| 28 248 533 191 | 28 248|724 722
! (364) | 00| 42 223|534 201 42|223 735|724

ey (76) . 00 27332 469 172 | 27 332 641697

gk add (170) | 06| 2.0 249|5.0 165 26249 725|715
et (73 00 39 251 485|226 39|251 710|724
/M 34 00 00336 494 171 0.0 336 664 709

M2 (157) | 00| 6.0 237|474 228 6.0 237 703 71.8

Bt B0y 21 121223 613132 33 223 744 706

CH @5 00 00280 573 147 00 280 720/ 71.7

ks (42) 00 44247 443 266 44 247 709 733

3= (22 00 6.1 285 440 214 6.1 285 654 702

CHH (25 00 00|296 704 00, 00 296 704 676

=t (199 00 00272 553 175 00 272 728 726

ME () 00| 00 469|531 00 00]46.9 531 633

R 47| (164) | 00| 23 /204|614 159 | 23|204 773|727
g (24 00 0.0 387 468|145 00] 387 61.3]| 69.0

Bl (23) 00 9.0/203388|320 90]|203) 708 73.4

4 (26) 00 00470 305 226 00 47.0 53.0] 689

= (28) 0.0 53|215|544|188| 53 215| 732|717

e (23) 00 00263 455 283 | 0.0 263 737|755

a5 (299 00 57252 436 255 | 57 252 69.1 722

a4 @7 00 29241 577 153 | 29 241 730|713

Xz (100, 00 00218 553229 00 218 782 753

st =& 0ot (22 00 00464 260 276 | 0.0 464 536 703
A ISSHY Ts/EY (129)| 00| 28 266|51.7 189 | 28| 266 706 71.7
= CHefw Ol (567) | 02| 35 |237|539 188 | 3.7|237 726|719
3002 Ojgt (2200 | 00| 31 298 486 186 3.1 298| 67.1]| 70.7
300~5002H4 O]t (212) | 05| 40 279 518 159 | 44 279 67.7| 69.7

7t7AS | 500~7008HH O]9k (127)| 00| 28 /194|610 168 | 28194 778 729
700~1,0002t3 0|2t (102) | 00| 1.4 1221|518 246 14221 764 74.9
71,0002t 04 (57) 00 56122 543|279 56122 82| 76.1

2ails | el =3 ©94)| 00| 3.0 235|541 194 3.0|235 735|725
teaE | 2 13 (24) 44 104 657 94 100 148 657 194 | 525
29 | X (667) | 00| 28 1222|551 199 28222 750 73.0
QIX|AL | OJQIX| (1) 2.0 91]606]19.9| 84| 11.2 60.6| 283|559
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HiB% ZAHZu 24
01% |

E2pt U= 2 SE 20| ol STUSet OlF
® 2O}l o 9 AL Y SRS 0IR2E U} BSE Bt Q0171 423%2 718 0,
CISO2E "S0|/0IU= UEO0| £EaA(26.7%), B2 XAISHK| 240tAI(15.3%) 52| 02 LIEH
A =

- M QN43.1%), HFY 300H(74.2%), XY XIHLI(100.0%), S12 +FH st 0jAK44. 8%) PR
700~1,0002t8! DI2K100.0%)01A] ‘L7t BIots ot QoW 7k &2 LIEH.
- Y SH/BONGE7.7%), Y 2THE(63.4%), XIHE MS(54.1%)01M 7 Hots FEot SoAT 7}

=/ LEf.
|73 3-1-30| 2sPt = 2 =& M0 Chsh SC°HEs o|-|-r
(Base=28P| Q= & B2 0| CHal 265 KL, n=24, TP %)
423
26.7
163 114
43
L L -
L7t Sok= M=Vt S0)/A0RQ= e FHEJF KMGHR|  FE H0IE F7 7t 7|et
2l01M 0] £53hM Q40 A] =O{A

|2 3-1-63| =aPt U= & 82 20 ol S0ES! 0If
(Base=23Pt Ql= & SEAHZ0N Lol ST= SERL 9 - %)

A oz | SOI/OIJA= HH7 psil
R AR ol e o
S S CEL QHOLM Z7|7} SO0IM
TR (24) 423 26.7 15.3 11.4 43
| EY (16) 431 29.7 13.9 6.7 6.5
°= oy ®) 40.9 20.8 17.8 20.5 0.0
15~194] (1) 0.0 59.9 40.1 0.0 0.0
20ty ) 0.0 27.8 72.2 0.0 0.0
oreyry | 30K (10) 74.2 0.0 8.0 17.9 0.0
=<7 40k (5) 33.8 48.9 17.3 0.0 0.0
50CH @) 41.8 0.0 0.0 29.6 28.6
60LCH OJ4f ®) 0.0 100.0 0.0 0.0 0.0
3j0|EZt2t (16) 59.4 24.0 10.1 0.0 6.5
S=223; ) 0.0 0.0 44.6 55.4 0.0
o1 H%¥$ ) 0.0 100.0 0.0 0.0 0.0
IERIPN | (1) 100.0 0.0 0.0 0.0 0.0
%H (1) 0.0 0.0 100.0 0.0 0.0
21| ©) 0.0 34.3 0.0 65.7 0.0
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20224 22pt U= 2 AKX ZAL

| 3-1-64] 2BV} U= o B A0 Ol 2055 019

(Base=22p7} Qi o EHALON ChoH 2255 ST, B9l : %)

A o= [2OI/MORA=|  HEIt A
My Lo o g0l | xiMax | eidole
= = = EZolM A0t [F717F =0

| (24) 423 26.7 15.3 1.4 43
x| SE/EHN (14) 47.7 18.4 14.6 12.0 7.3
T HEYA (10) 34.8 38.3 16.2 10.7 0.0
PN (15) 53.4 29.6 5.7 11.3 0.0
we | BT ) 37.1 62.9 0.0 0.0 0.0
R S 4) 0.0 0.0 51.2 24.8 23.9
N 3) 52.0 25.7 223 0.0 0.0
A 9) 54.1 27.8 0.0 18.1 0.0
A ) 0.0 0.0 36.5 0.0 63.5
QI ) 53.6 0.0 46.4 0.0 0.0
= (1) 52.6 0.0 47.4 0.0 0.0
x| A 4) 51.6 48.4 0.0 0.0 0.0
== ) 37.1 62.9 0.0 0.0 0.0
e (1) 51.5 485 0.0 0.0 0.0
ze ) 0.0 0.0 100.0 0.0 0.0
z 1) 0.0 0.0 0.0 100.0 0.0
e DS Xist/E¢Y (4) 27.9 25.1 16.8 30.3 0.0
£z | ofatd oA 21) 44.8 27.0 15.0 8.2 5.0
3009+ Ojgt 7) 36.4 13.2 9.3 412 0.0
300~5002t% 0|2t (9) 39.2 324 17.4 0.0 11.1
JI7AS | 500~7009H O|gt @) 28.0 72.0 0.0 0.0 0.0
700~1,0002H84 O]t (1) 100.0 0.0 0.0 0.0 0.0
1,0002H O 3) 54.0 0.0 46.0 0.0 0.0
Dalos | oA =S 1) 458 31.2 17.8 5.2 0.0
TASZE | B uS 4) 215 0.0 0.0 48.8 29.7
29 | Qx| (19) 47.4 34.8 12.0 5.8 0.0
QIXIXt | O|oIX| ©6) 25.6 0.0 25.9 30.2 18.4

112



©

H3E ZAHEAL 24

01& Hx|

==t U= g s IS Solf 2 A2 e
® 23 QUE D EH XLES Sofl YU 42 HEZE ‘23t Us &0l U SjjEd M TH40.5%2 7HE &1,
Ct2oZ = ‘MEH(E-RIXE X SN Ristot= 25 (34.1%), ‘23171 Y= 2 A EH(15.2%) S9
O LIEtH.
- MY 0A(42.4%), A 2000(52.8%), XNUH BHH(50.2%), & £FE &t 0[AH(42.3%), JIASH
1,0002H4 O[AH(46.7%)01M ‘2317t Ql= & 8101 2 GljEf M7 &= LIEH.
- R SY/EOA(42.3%), HEE $TH(43.4%), XE MS(44.9%)01A ‘27t Q= o S0l o GE
HE'7h =2 LIEr.
|2 3-1-31] 23PI e 2 BB IS Soff 91 42 HE
(Base=XiA|, n=7,000, T2 : %)
405
341
15.2
83
l 1.6 0.2
|| —
BEpL Q= A P Q=Y AEROR T Rapt ey 7[E}
ol Al FEl HE (®ERZAN 5 0 A EE 0| E2 MO0y @A FY|

O Ziztot=
Sapgs

S ZoM A4

JES[er=]

A0 =2

HE/0l+ S

257 AA
| (7,000) 40.5 34.1 15.2 8.3 1.6 0.2
JU ! (3,564) 38.6 34.3 14.9 9.5 2.3 0.3
P (3,436) 42.4 33.9 15.6 7.1 0.8 0.1
15~19A (414) 46.7 22.9 17.7 7.5 5.1 0.0
20CH (1,148) 52.8 23.4 13.0 6.8 3.7 0.2
orairy 30CH (1,172) 45.4 31.8 14.7 6.9 1.1 0.1
=< A0LH (1,438) 38.5 38.9 13.8 7.5 1.1 0.1
50CH (1,526) 37.0 374 15.5 8.8 1.0 0.3
60CH OJAF | (1,302) 29.5 40.1 18.1 11.5 0.3 0.3
SIO[EZE | (3,150) 433 33.9 13.8 7.9 0.9 0.2
st (641) 32.9 39.0 14.9 10.1 2.6 0.5
iz (1,044) 33.8 38.0 19.8 8.0 0.4 0.1
xlot | Xpge (527) 32.2 37.7 15.5 13.0 1.5 0.2
ShAY (737) 50.2 22.1 15.4 7.0 5.3 0.0
2x| (549) 427 34.5 13.5 6.7 2.5 0.2
7|E} (352) 37.6 35.4 17.7 8.0 0.6 0.7
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20224 22pt U= 2 AKX ZAL

AR

(&)

%22 Ho
I'Q rll— -||'0||

iy

(Base=ZIH|, T2 : %)

| (7,000) 405 34.1 15.2 8.3 1.6 0.2
Sy | SHEW (3,054) 423 32.1 15.5 8.2 15 0.4
T HEYA (3,946) 39.1 35.7 15.0 8.5 1.6 0.0
A (3,613) 43.4 325 15.3 7.1 15 0.2
ZXH (741) 38.5 36.0 14.0 9.6 1.6 0.3
Mo A (1,699) 37.8 36.1 15.1 9.0 1.8 0.3
T2t (652) 35.6 35.4 15.4 11.9 1.7 0.1
Z/HIEH (295) 35.7 35.9 18.3 8.8 1.3 0.1
Mg (1,323) 44.9 30.3 16.3 6.7 1.2 0.5
AL (447) 39.4 335 16.0 9.4 1.7 0.0
o= (322) 42.8 29.6 15.8 9.4 1.3 1.1
QI @11) 41.0 335 14.1 9.2 23 0.0
o= (196) 37.7 36.6 11.9 11.6 1.9 0.4
bS] (200) 40.0 34.1 15.7 8.0 15 0.7
St (155) 39.6 36.0 14.8 7.7 1.9 0.0
ITES (51) 39.8 32.9 16.4 9.5 1.4 0.0
X @ (1,879) 42.9 33.8 14.9 6.9 1.6 0.0
28 (204) 37.1 34.7 18.9 8.0 1.3 0.0
== (214) 38.3 375 1.4 10.8 1.7 0.4
= (276) 37.4 36.9 14.2 9.9 1.6 0.0
xe (227) 36.9 35.8 17.1 7.9 2.4 0.0
e (229) 32.7 33.9 16.6 16.1 0.7 0.0
3= (338) 34.4 419 13.6 8.6 1.3 0.2
a4 (437) 34.5 39.1 14.9 8.9 25 0.0
Az 91) 32.6 38.5 16.7 10.5 1.3 0.4
ooy | BE Ol (172) 35.1 30.8 17.6 9.9 6.5 0.0
T | oss xielEe (1,582) 35.1 35.8 15.5 1.5 1.9 0.0
T yetd oA (5,246) 423 33.7 15.1 7.3 1.3 0.3
3009r Djgt (2,433) 42.0 323 14.9 8.2 2.3 0.3
300~5002+ O|gt (2,117) 37.1 37.3 15.2 9.2 1.1 0.1
J}RAE | 500~7002H Dot (1,196) 416 34.3 14.6 7.6 1.8 0.0
700~1,0002t%4 O]t (833) 40.1 34.1 16.6 8.1 0.8 0.4
1,000 OJAF (420) 46.7 28.2 16.3 75 1.1 0.2
Da0s | T =2 (5,763) 41.4 34.0 15.5 8.0 1.0 0.1
o e PN =Y (1,237) 36.2 345 14.2 10.0 4.2 0.8
2y | QIX| (4,634) 454 32.7 12.9 7.8 1.1 0.1
QIXIXt | O|oIX| (2,366) 30.9 37.0 19.8 9.4 26 0.4
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HRE =ML 24
02% X928 =4

| SEH RiE 24

1. M2 X9 F2X|E

rok
Olok

1) M2 & i

® QIX|S2 70.3%2 HA| 66.2%HCt 4.1% =H| LIEN.
® 2517} Q= o HOISS 65.1%2 KA 60.5% 2Lt 4.6% S| LIEKS.
® 2opt Qe J D203 MEEE 80.0%2 TR 81.8%2CH 1.8% WH| LIEH.
® X SUTE 84.6%=2 T 82.7%ECH1.9% =7 LIEH.
|72 3-2-1] M8 X2 FoX|H 5t
(Base=8lg XIo SLXL, 2 : %)
<= M2 %) =<0 TH%)
81.8 846
I%
87
s otz DIEE e

E 3-2-1| NS X% ZQXH 55

(Base=dlfg X[& SEAY, 9l %)

o2 raL

HHI(A) 66.2 60.5 81.8 82.7

ME2(B) 70.3 65.1 80.0 84.6

GAP(B-A) A 41% A 46% Vv 1.8% A 1.9%
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20224 22pt U= 2 AKX ZAL

2) M2 XY 2IX|=
® ME XY QX|ZO| AR M 044(78.7%), HHHE 20CH(84.5%), 7IEASHE 1,0002H 0[AH(75.3%)0H|A
QIX|=7} =H| LIEHL.
- 50~B0CH2| ZL, HF| CIX|I2(66.2%)2Ct W LIEF (2t 57.9%, 60.0%)
|72 3-2-2| M8 B3Pt s QIR

(Base=dlig X[ SEAY, 9l %)

787
70.3
615 68 I 68 57.9 60.0
LA =4 ot 10CH 20cH 30cH A0CH 50cH 60CH
)
=2l0llE 2 2E XH"" QUXIXL

N
(0%}

753
71.1 730 60 o5
I I I I I |

MM 3002t @ 3600 5700 7~1,000 1,000 e 2 2K BRI
M2 o SrEORE A0 A0 HHOY =S EN=

[E2Pt U= 2 MR X =&

® M2 QIX| +F0| R WETK| Y1 U= UX[At= 28.5%=2 HHM(23.5%) =20 = LEH.

® QIX| A0 HR, FTH AIHS Sol 7t 32.7%= HH|(30.6%) =L =7 LER.

[EeP} A= & AA(0[ofx))]

® QIAI(0]0|X|)Q| AR ‘23IOl AMH|IA 7} 62.7%E KF|(59.6%) 2Lt = LIER
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3 M2 XY FoiE

HI3E ZAIE 24
02F X|HE 24

® M2 X|F HOE2 42 4 014(65.5%), AHE 2001(77.4%), 7t7ASE 1,0002H 0144(70.0%)0H|A]
HOE0| = LEHd.
- 40~50tHel H2, HA FH0O2(60.5%)=0F SAH LErd.
|73 3-2-3| ME& =aPt U= & Hois
(Base=dlig XI& SEAL, Tl %)
714
65.1 64.7 655 535 59,1 695
| = o 10CH 20rH B0CH 60CH
=)
==lole 2 24 & QXKL
63.0 716
o 57.6
I I I I I 1 I l
TR 3002 A 3600 5700 7~1,000 1,000 el el 2IX| HIQIX|
=) ofgr 2FR 02F 2FR 020 2R gt ':.'_fﬂ°.: ke =3 <=
Fo5IX| =&t 0IF]
® X|%lZ3t &0 HOSHK| ZH 0|RZ “AlZt0] YU (33.4%), “HAM FEE &7

012 AT (31.1%) 7t = LHEH.

[zofstn 42 2]
® X|223t S0 HOIOHL 42 TRIUS ‘Yot By
SRIZ, 913, 8% S BEF(27.0%)0] £ LK.

F(33.2%)2 H|2|oH

1

—

ST
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2022'4 E=Pt U= 2 2K AL

4) M2 X9 U=

® M= XY UFEO AR HE 0H(82.7%),

AZYE 40CH(83.6%), 7 tASE 500~7002H O]2H82.7%)01|A]
UEZIH = LHEE.

- 10~30012] HR, T UEE(81.8%)20 A LIEHE.

T

|72 3-2-4] MS 237} Ql= o OiE

(Base=3HZ Xi2 SR, Ti9l : DIZBIR(%)

00 5 87 807 W4 86 08 849
0 = ot o4 200f 300k 4oof Booh 6o
M2
=Z2fE 2 s 2 AKX}
819

o3 756

T 300“* ¥ 3H00 5700 7~1,000 1,000 = 2 2IX| HIIX|
(48) OBt SrYOprorYUORrOIAORESIEON &S XB
[32E]
o 2P} U U TYUE U WIS B2 H0I0 SE6| AT T 9401 32.9%, ‘E
RIZOIX|3t Ch 0412 Ho| US'0] 51.7%2 2H BIPH & Lerd,
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HI3E ZAHEL 2M

02 X928 =4

r
£l
>
R
1
¢
&
rar

5

= D273 MR 79.2%2 ™A 81.8%ECF 2.6% KA LIEF.
He SAE= 82.3%2 Tl 82.7%2 0t 0.4% R LIEtE.

|72 3-2-5| QM X|o FoXE 3
(Base=3iigf X% SEXL Tl : %)
= K%)= TH%)
818 87
A
65 605 792 823
662
50.5
N = oz OEEE DI
|Z 3-2-2| Q1M XY FQX|HE &3

(Base=dlgf X SEAL, ©2l : %)

o2 FAL
TxI(A) 66.2 60.5 81.8 82.7
QIH(B) 66.5 59.5 79.2 82.3
GAP(B-A) A 0.3% Vv 1.0% V 2.6% V¥ 0.4%
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20224 22pt U= 2 AKX ZAL

2) 21X XY QX
® K| OIX|Eo| AL MY 0M(71.9%), HEH 200H(80.4%), 7tRAESH 300~5002H O0]2+70.9%)01|A
QIXI=7t =H LIEHH.
- 100, 40CH~50cHe] AL, MA| 2UX|2(66.2%)2CH A LIEMH.
|77 3-2-6] Q™ B3Pt = H QK=
(Base=aliz} X|& SEAL ©H2| @ QIX|T)

804
65 ¢ g3 0 651
‘ 536 55,7
| LEA] O 10CH 20CH 50CH 60CH
QI
=0k 2 =4 X QIX[X}
— 694 720 -
20 51.9
I I I I I 1 l
A Ot 2/ 3500 5700 7~1,000 1,000 2k ZHA QIX| =15N|
@I D|Dr OLIO[p DL DD BHRIOPE BHRIOKY &2 WS

[E2Pt U= 2 MR X =&

® M| QIX| +F0| R WETK| Y1 U= AUX[At= 25.3%=2 HHM(23.5%) =20 = LEH.

-III

® CIX| AZ20| HR, FTH AIHES Sol 7t 27.1%= HH|(30.6%) = S LER.
[EeP} A= & AA(0[ofx))]

® QIAI(0]0|X|)Q| AR ‘23Ol MH|A 7} 62.5%2 F&|(59.6%) =Lt = LIEFS
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HI3E ZAIE 24
02F X|HE 24

3) UM XY EoE
® X|of H0120| AR Y I4(62.0%), AL 2004(70.4%), 7H7ASE 1,0002H 0[44(69.6%)0A]
H0I80| & LIER.
- 30CH OIS FP, FA| AOIB(60.5%)ECt WAl LIEN.
|72 3-2-7] QM 2t Q= 2 Holg
(Base=dlig XI& SEAL, Tl %)
704
62.0 64.1
595 57.2 57.6 57.1 499
RO o®d o 10 20 o 6oc
()
Ss0le 2 B A AKX}
665 69.6 64.7
59.2 61.7 :
52.6
I I e e I 08 I
BH 3008t 3500 5700 7-1000 1000 BN B QK HQI|
Q)  OFf BHYORFGHORFOIYOR RO &S WS
Hof5HK| 25t 01K]
® X|%i2 5t SS0 HO{SK| RHE OIR2 "AIZI0| &01A'(30.0%), Al HEES 27|
Of2{ AT (28.3%)7t = LIEHS.
[Hofsin Ale &S]
® X|oi23t HE0 HOI5tn 42 TR UL ‘Wt 2 (29.6%)S MRS SN
SX|g, 913, 8% S B (25.0%)0] & LIE.
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2022'4 E=Pt U= 2 2K AL

4) OIM X|o} BIEE
@ DIEL-O| A MEH 04(80.7%), A=Y 100, 50TH(85.7%), 7t~ASH 500~7002H O]2H090.7%)0f| A
BELETF = LIEHE.
- 20~30CH, 60CHY] AL, MA| PHEE(81.8%)2CH R LIEFE
|77 3-2-8] Q1M 2Pt Q= H PEE
(Base=alid X[ SEAL, Hel : PIEHIE(%)
3.8 8.7 769
| LA (7S] 10CH 20CH 40cH 50CH 60CH
(s
=20l 2 =4 x4 °|III}
749 80.6 76.9
| 300“* o 360 570 7~1,000 1,000 i i QIX| HIQIX]|
@) oer 2 0RF oF A Oer 2F 0t ”._fﬂ°.: B == ==
[BZE]
o E5Pt Q= d 34E Y W ‘E2 H=0|H Eo| /Me X Q801 37.9%, E2
HI=O|X|2t CiA Of2 0| /US'0] 44 5% 2 SHA TWIHL =H LIEH.
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3T ZAIZn 24

02 X928 =4

. 77| X% ZQXIE 33

OIX|E2 64.5% 2 X 66.2%ECt 1.7% WA LIEF.
2317} U= & MOS8 59.4%2 M| 60.5% =0 1.1% R LIEH.

U= g B2 IR = 83.3%=2 MA| 81.8% =0t 1.5% = LIEH.
HE ZUTE 82.7%2 HA| 82.7%8 SU,

|72 3-2-9| Z7| X|¥ FQX|E et
(Base=dligf XI2f STXY, ©42| : %)
= W) - TH%)
03 82.7
%'2 V 0
7
- 81.8
645 Y
iRz oz == o7
|Z 3-2-3| 7| X% FX|H gt
(Base=afZ X2} SEX}, ©2 : %)
2xig ol BRE zze
TRI(A) 66.2 60.5 81.8 82.7
471(B) 64.5 59.4 83.3 82.7
GAP(B-A) v 1.7% v 1.1% A 15% -
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2) @71 XY eX|=

® X|% QIX|Z O AR A 0A(72.7%), HEH 20IH(87.8%), 7IR—ASH 700~1,0002H O|2H70.5%)011A]
QAXI=7} = LIEH.
- 1004, 40~60049] B2, A QIXIE(66.2%)ECH A LIEHH.

|23 3-2-101 &7| 2=Pt U= & R=

(Base=dlig X[ SEAY, 9l %)
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645 o g1 &34 89 ° 6l
I I I I I | |

It

=] S5 {2 XXt

g

MM 3002t @ 3600 5700 7~1,000 1,000 e 2 2K BRI
@) o SrEORE A0 A0 HHOY =S EN=

[E2Pt U= 2 MR X =&

® M|2 QIX| +F0| R WETK| Y1 U= AUX[At= 23.8%=2 HHMI(23.5%) =20 = LEH.

® OIX| A2 AR ‘T ARRES Sl 7t 31.1%2 TA|(30.6%)=CH = LIEHS.

[EeP} A= & AA(0[ofx))]

[}
ro
1=
S
8
Pl
I
oY
40
MO
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muor

oI MH|A 7} 63.5%2 FH|(59.6%) =Lt = LIEFL.
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3 &7 X Fog

HI3E ZAIE 24
02F X|HE 24

® X|% F0IZ0| A2 HE HH(61.8%), YL 200H(68.9%), 7FASH 1,0008H 014(73.4%)0MIA
HOI20| &£ LIEt,
- 40-60CH9] AP, T HOIB(60.5%)=CH S LIEt.
|72 3-2-11] 27| 230t U= & FHoig
(Base=dlig X[ SEAY, 9l %)
68.9
’ 189 56.2
Y 98 oy o 2004 30 o BOf 60d
@7
SsloiE B BH A XK}
734 641
516 61.9 60.2 62.0 : 531
I I I I I I | I l
FY 3002 3600 5700 741000 1000 B BN QX HRWX
(@) ot TrORroriopr DrRORFRrYol &2 WS
Hoi51K| 23 0|9
® X[ 5 2SO HOIGHK| R OIRR “AIZI0| SOA(35.4%), AN HES 27|

02N (27.1%) 7t = LHEH.

[Eo5t 22 &F]
® XAz 3t 2S0 Hoot ﬂ% D22 "Fat 2'(32.0%)2 Mot ‘S

o

.0%)0] = LHEH.
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2022'4 E=Pt U= 2 2K AL

4) 47| X|Y ot=s

= ="

® x| MIELO| FR HYE 014(84.1%), AZE 10CH(92.6%), 7t+ASEH 500~7002H 0]2H90.9%)01A
UEET=A LIEH.

- 40~50C2] HR, T UEE(81.8%)20 A LIEHE.

|28 3-2-12| &7| 2ebt Qe 2 UEE

(Base=3HZ Xi2 SR, Ti9l : DIZBIR(%)

833 824 84.1 9.6
TR = o 10CH 20CH 30Ck

@)

I
re
0z

-E-saIO’II% S5 22 AUXIXL

TR 300'3._r # 35600 5700 7~1,000 1,000 = £ 2IX| HIIX|

o
N

@) ok 2HEOEE 2 02 2EE 0 2RO =5 ==
B3]
® 2o/t U= E 3L H B/ E2 M=0|0 SE0| He & 301 34.2%, 'E=2
MIEOIX|2F Ci4 OF|2 FO0[ AS'0] 48.5% =2 S8 B/t =4 LEHH.
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H3E ZAHEAL 24

02 X928 =4

1. O XY FLX|E

1) i S& Hlu

QIXIE2 65.1%= TH| 66.2%ELCH1.1% A LIEHS.

e o o o
HO
fon
N

ERSICE
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=

|28 3-2-13| i XY FLX|H

2 55.6%= A 60.5%EC 4.9% A LIEHE.
= 88.5%% HE AY & 7 =4 LEE.
A 82.7%5LCt 0.6% =7 LIEHH.
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oot

(Base=difg) XIof ST, E%! : %)

- OO O TR
&3
66.2 605 N
827
65.1
556
= otz == S

|2 3-2-4] TR X% FQXH

ro

(Base=dlig X& SEXA, TI %)

o2 paL
HH|(A) 66.2 60.5 81.8 82.7
CHE(B) 65.1 55.6 88.5 83.3
GAP(B-A) Vv 1.1% VvV 4.9% A 6.7% A 0.6%
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2022'4 E=Pt U= 2 2K AL

2) O™ X|o QIX|=
® X|F QX0 2 g9 0{4(70.7%), S1FE 20CH(80.1%), 7tASE 500~7002H 0|2H75.0%)0i A
QIX|Z=Jt = LIEH.
- 10CH, 40~60CHo| AR, FA| QIXIB(66.2%)ECt WA LIEH.
|23 3-2-14] ™ 2Pt U= g QX|=

(Base=dlig X[ SEAY, 9l %)

80.1 77.8
70.7 :
65.1 63.3 636
59.7 53
| I I I
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(@S

S 2 QXKL
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651 o g3 664 slg 660
I I I I I I |

~
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S
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MM 3002t @ 3600 5700 7~1,000 1,000 e 2 2K BRI
(G o SrEORE A0 A0 HHOY =S EN=

[E2Pt U= 2 MR X =&

® M2 QIX| +F0| HR WETK| Y1 U= AUX[At= 23.0%=2 HAMI(23.5%) =20 ZAH LEH.

® OIX| AR AR ‘T ARS Sdll 7t 31.4%2 TA|(30.6%)=CH = LIEHS.

[EeP} A= & AA(0[ofx))]
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S
8
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I
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Ol AHIA 71 51.3% 2 FA|(59.6%)ECH SAH| LIER.
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HI3E ZAIE 24
02F X|HE 24

3) X X|H &olg
® X|% H0I182| H2 4 014(61.6%), AYH 20CH(77.6%), 7+7-ASH 500~7002H2 O|2H(61.1%)0lIA]

YHHE0| =A LEE.
- 2002 Mgt 2 AFE2 HA FHES(60.5%) 20 A LIEH.

|73 3-2-15] Ui =Pt U= o EoiE

(Base=dlig X[ SEAY, 9l %)

) 776
%6 I ' 823 469 474 486
iR " o 1004 20CH 30rk 40rH 50CH 60cH
(CHX)

i
=2
13
re
0z

S 22 AUXXL

gy 987 681 gy
I I I I i i

M 3002 @ 3H00 5700 7~1,000 1,000 2k £ 2IX| HIQIK|
(EHD ogk  2rHORE A0 2 E 0 HHO =5 eSS

Fof5tx| =8t 0IR]

® X|%25t B0 HOIGHK R 0192 ‘AIZI0| YOI (30.5%), MM HEE 217)
OfZ4QIAT (26.5%)7} &7 LIEFS.

o X923t S0 F0ojot! M2 I2 T2 ‘Yt 1 (39.3%)S MIQISHH ‘SHEA

FAZE, 25, 3% S B (18.7%)0] = LEH.
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2022'4 E=Pt U= 2 2K AL

4) O™ X oLE

® XY UFE

_|_

0| 4 A 0444(89.6%),
0[4H(100.0%)01IM BHEE=Tt =7 LIEH.
- 30019 ER, MA| PHEE(81.8%)2CH R LiEHE.

I:

_|

HFE 10C4(100.0%), 7+

|33 3-2-16] ChX

& 700~1,0002+ 02, 1,0002H&

=2t e E R
(Base=clg X9 SEAL TP : DIEHIE(%))
835 87.0 0.6 i
| == o 10CH 20CH 30CH
(O
=20l 2 =4 x4 °|III}
915 797 89.2 2.1 91.7
M 3002F & 3H00 5700 7~1,000 1,000 i i QIX| HIQIX]|
(CHED ogr Progr erAoRr erA Oer BFA o =S ==
[BZE]
o FoPt Qe Y 4k L HINE E2 M=0|H EE5| 7iMe M glg'0]1 37.1%, E2
HI=O|X|2t CiA Of2 0| /US'0] 46.1%2 SN TWIL =H LIEH.
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2. ME XY FLX|2 g
1) MiE Sgt Hluw

® QIX|E2 65.0%=2 TA| 66.2%ECH 1.2% IA| LIEHH.
g HHE2 57.3%= MA| 60.5%EC} 3.2% A LIEHH.

=
® M SHE= 83.5%= Al 82.7% L 0.8% = LIEHH.

H3E ZAHEAL 24

02 X928 =4

|3 3-2-17| ME XS FLXH gt
(Base=olld X|o SEXY)
<= ME(%) - TAx(%)
81.8 85
62 605 —
76.7 8.7
65.0 53
N =1 o2 QRS i
|H 3-2-5|] MIB XY FXE g
(Base=olld X2 SEA}, T %)
oIX|E o= T s
HH|(A) 66.2 60.5 81.8 82.7
MIZ(B) 65.0 57.3 76.7 83.5
GAP(B-A) v 1.2% ¥V 3.2% V¥ 5.1% A 0.8%
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20224 22pt U= 2 AKX ZAL

2) MIZ X|Y QIX|=
® X|of QIX|E2| ZP A 014(71.0%), HE 20H(86.9%), 7IASE 1,0008t
OIX|E 7} =A| LIER
- 10Ch, 40~50CHe| B2, TAH| QUX|2(66.2%)ECH S| LIEHE

e

4 0[&4(77.0%) 01| A

|23 3-2-18] MIEZ 2Pt U= & QRI=

(Base=dlig XI& SEAL, Tl %)

65.0 682 629 66.3

I | I
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745 710
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I I I I I | |

g

MM 3002t @ 3600 5700 7~1,000 1,000 e 2 2K BRI
B o SrEORE A0 A0 HHOY =S EN=

[E2Pt U= 2 MR X =&

® M|2 QIX| +F0| R WETK| Y1 U= UX[At= 24.5%=2 HHM(23.5%) =20 = LEH.

® QIX| ZZRO| AL ‘TH AIS E5H 7} 26.6% = FH|(30.6%)ECH S| LIER,

[EeP} A= & AA(0[ofx))]

® QIA(0]0|X|)Q| AR ‘23Ol MH|IA 7} 69.4%2 F&|(59.6%) =Lt = LIEFS
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HI3E ZAIE 24
02F X|HE 24

3) MIZ X|Y ZEolg
® X 080 AL MY 04A(59.1%), HHH 200H(67.1%), 7+7ASE 700~1,0002H O]2H61.5%)0|A]
£04=20| =7l LIEHE.
- 10CH, 30CH, 50CHO| AL, FA| &0IS(60.5%) =0t WH LIEH.
|73 3-2-19] MIZ 2aPt U= 2 Tt

(Base=dlig X[ SEAY, 9l %)

67.1 68.3 66.0
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re
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S 22 AUXXL
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Fof5tx| =8t 0IR]

o X925} =0 A0oHK| 231H 0|RE ‘A|ZH0] SOA(32.3%), ‘MM HEE A7|
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2022'4 E=Pt U= 2 2K AL

2) ME X% BEE
® X|of BIEEO| ZS 42 H4(85.0%), A 200H(87.8%), 7ITASH 3002t 0]2HO4.6%)0HA
BHEEIH A LIEr,
- 200, 60CHE Hlelot! RE HFE2 M| 2EZ(81.8%)=0F WA LIEH.

76.7 8.0

TR =g o 10cH 20CH 30
(MNIB)

|73 3-2-20] MIEZ 2Pt U= & TEE

—/

(Base=3HZ Xi2 SR, Ti9l : DIZBIR(%)

87.8
200 75.0 769

662 l
CH 40cH

o=

R2 89.3 85.0 ]
68.3
| I I 54.1 I l

A 3002t A 3B00 5700 7~1,000 1,000 e £ 2IX| HIIX|

re
0z

S 22 AUXXL
A6

< o

76.7

HB) ok 2HEOEE 2 02 2EE 0 2RO =5 eSS
B3]
® FaPt A= 2 SUE H HUME ‘E2 M=0IH SEo| WY H 915701 32.5%, ‘E2
MIEOIX|2F Ci4 OF|2 FO0[ AS'01 50.9% 2 S8 B/t =4 LEHH.
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B ZARZ} 24

02 X928 =4

w
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S o2 OECE 77 1%2 FX| 81.8%ECt 4.7% R LIEHL.
= FH| 82. 7%= 0.9% SH LIEFH.
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|78 3-2-21] B XY FoXH

o
ot

(Base=3lg XI2f SEAL, Tl %)

- Yo%) < Fr(%)

81.8 8.7
682 605 _ N
M 81.8
66.2 577
2= oz = el

|2 3-2-6] 2 Xlo] ZQXIE 33t

(Base=3lig X1 SEAL T2 : %)

QX s =L 38
HRI(A) 66.2 60.5 81.8 82.7
SH(B) 68.2 57.7 77.1 81.8
GAP(B-A) A 2.0% v 2.8% v 4.7% v 0.9%
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20224 22pt U= 2 AKX ZAL

2) 82 XY X|=
® X|2 QIX|TO| A M 0AI(74.2%), IZIE 20CH(84.1%), 7}TASE 700~1,0002H 0]2HS89.2%)0l|A
QIXI=Zt =2 LYEHS,
- 10CH, 50TH] AL, FMA| QIXIS(66.2%) LTt %A LIEK.

|J8 3-2-22| &Y 23} Y= QIX|=
(Base=ol{d X[ SEA}, Tl %)
84.1
74.2 76.0
68.2 : 634 674
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K| = (0:FS] 10CH 20CH 30CH 40CH 50CH 60CH
&2
=20l 2 =4 X QIX[X}

I I I I I | I |
A 3002F & 3~600 700 7~1,000 1,000 o 2hA! QIX| H|IX]
(&) Ot orOppr oreiOPE oHY oot DFIOp =2 Lo

[E2Pt U= 2 MR X =&

® M2 QIX| +F0| R WETK| Y1 U= UX[AKt= 21.9%=2 HHM(23.5%) =20 ZH LEH.

® CIX| A0 FR, FTH AIHS Soll 7t 34.4%= THH|(30.6%) =L =7 LER.

[EeP} A= & AA(0[ofx))]

® QIA(0]0|X|)Q| AR ‘23Ol MH|A 7} 59.9% 2 F&|(59.6%) =Lt = LIEFS
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2022'4 E=Pt U= 2 2K AL

4) £ X9 o=
® X|9 DIETO| HQ M9 0141(80.2%), 12 20CH(85.2%), 7} RASE 700~1,0002H O|2HS9.0%)0)A]
PEETHEA LEHE.
- 200iE HIQE BE oI AL, HH UBE(81.8%)=CH WAl LI,
[T 3-2-24] S 3Pt U= 2 UE
(Base=3HZ Xi2 SR, Ti9l : DIZBIR(%)
77.1 852
J(|_-|7-<‘|| l-rkl Jg 1 OEH 2 OEH 30
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E3loE 2 B i3 XKt
771 782 87.0

72.2

738 98 79 -
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TR 300Dr H 3800 570 7~1,000 1,000 t
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Eo)  Op SO oriOprotRlOBrorEol B3 WS
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® 25| s Y BYE Y WIOIE E2 H0I0 S5 AT A §1S'01 30.5%, ‘EL
HIZO|XIt Cha ORI 0| US'0l 51.3%2 BHX WIPH &7 LIEH.
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H3E ZAHEAL 24

02 X928 =4

5

>
1
.|

8
=
o

QIXIEL 66.3%=2 MA| 66.2%=CH0.1% =A LIER.
25 Y U282 60.8%2 HA| 60.5%ELCE0.3% A LIEfL.
= HOEC = 82 7%2 KA 81.8%ECH0.9% A LIEFS
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=
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N1 (0 O 22T
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oIX|g EHoig e =L
HRHI(A) 66.2 60.5 81.8 82.7
==2(B) 66.3 60.8 82.7 82.2
GAP(B-A) A 0.1% A 0.3% A 0.9% V¥ 0.5%
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2022'4 E=Pt U= 2 2K AL

2) £5 X9 QIX|=
® X% QIX|o AR A 0A(71.2%), HEH 20I1(78.0%), 7IR—ASH 700~1,0002H O|2H77.3%)011A]
QAXI=7} = LIEH.
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® X|9Z3t 230l Hofoll H2 222 "Fat 2
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20224 22pt U= 2 AKX ZAL

4) 2 X HET
® X UELO| HR JE (9(88.7%), AZE 400H(91.2%), 7t+
1,0002H3 012(100.0%)01M 2HFE=7} = LEH
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